


��������	��
�� ��� �
���������������������


��� ��
�� ��� �����������������

���

������ 	
��
��


��������
�� �� ������

����
�
�� �
�

��������� ���� ����
������ ���������� ��� ���������
�������
�

�
�

 �
������!	
����������
� "
�������
� #��������
 $���
�

�� $����� %&&&

���
�
����� ��

�' ������������
� ��������� (
������� )

����' 
�' *�' )
��
�



��������	
�	�
����

���������� 	

	 
�� 
	����������� ��� 
��� �

��� ��� ����	�
��
�
	
�������������� ���� � � � � � � � � � � � � � � � � � � � � �

��� ��� �����	��	
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

����� ��� ������ ��� �����	��	
�� � � � � � � � � � � � � � � � � � � � � � � �

����� ��� ������  ��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !

����� ��� "��
�� �	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

����# ��� $%&�����	�
 �	�� � � � � � � � � � � � � � � � � � � � � � � � � � �#

����' (������ ��� ��	����� � � � � � � � � � � � � � � � � � � � � � � � � � � ��

� ������� ��� ������������� �������� ��

��� ��)��	�
� ��� ���� �	������ $�������� � � � � � � � � � � � � � � � � � � � � � ��

��� *�������+��������		 ��� �	���	������	�
��� � � � � � � � � � � � � � � � � � �,

��� $��	����� 
�
	
��
�
	
���	������ � � � � � � � � � � � � � � � � � � � � � � � � �-

��# ��� ���.�/ ��� &���	�����
 
�0�� �� � � � � � � � � � � � � � � � � � � � � ��

��' ��� $�����	�� ��� ������� *��	�� 1
� �� � � � � � � � � � � � � � � � � � � � � ��

��� ��� 
�������� ������� ��� $%&�����	�
 �	��� � � � � � � � � � � � � � � � � �,

��2 ���
��	���	�
� ��� ���� �	������ $�������� � � � � � � � � � � � � � � � � � � #-

� ������������������  �

��� ��� ��������������	
� 
�34�( � � � � � � � � � � � � � � � � � � � � � � � � � ##

��� ��� �� ���	�
� ��� $%&�����	�
 �	��� � � � � � � � � � � � � � � � � � � � � � #�

����� ��� "������	�
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #2

 
�� 
���� ��

#�� (������ ��� ��	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � '�

#�� ��� "������	�
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � '�

#�� ��� (�������Æ5���5 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � '!

#�# ��� ����� ��	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

�



�� ��������	
�	������

� !�������� "�� ���������� ��� 
���� #�

'�� 6�7���	��� ��� ��������	�� ���������� � � � � � � � � � � � � � � � � � � � � � �#

'�� �������������	�
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �2

'�� ��� $�������� 1
� �� ���	�
� ��� ��	�� � � � � � � � � � � � � � � � � � � � � 2'

'���� ��� ����	�
���8
/�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2'

'���� ��� ����
������ ���5��	��� � � � � � � � � � � � � � � � � � � � � � � � 22

'�# ��� 9������ ��� �	���	������	�
� �� � � � � � � � � � � � � � � � � � � � � � � ,�

'�#�� ��� 9�	�
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ,�

'�#�� ���	� ���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ,�

$�������%������ &'

(��������"��)������� *�



����	�����

��� ��� ��	��	���������0��� ��	������	 ��� ������ ��� 9�	���� ��� ��� ����� ��	����

"�8��	� ��� :�	�� � ;������ ��� ������	�� %8������������ < ��� �� ��� �	������ 
�����

��� (���������0��� 5���	 ����= ��/ ��� ���� 	� 9�	���� ��� ����� �������� ��5��� ��� ��	��

��� ;���	���� ���	��	� �������� 1
� *������7�������� 	��	�� "�8��	� 57������ ��� (�������

���= ��� 5� ;�������� �8����� �8
����� ����� ������ ���� ���� 1����������� ��	�� ��� *����

���7������ ��	����������> ��� �	���� *������7������= ��� ����	�
���7���� *������7������

��� ��� 6��1�	�	�
��

��� �	������ 
���� ��� (���������0��� ���������	 ��� ������ ��� 9�	���� ��� 57�� "������

1
�= ���� ���	��� �	��� ��� *������= ����	�8
� ���� ?�� �
��� @(�������  �	 ����5�����

�� ����A= ��� %��	
��� ��� &������ �� �B��	����� �
7
�� ����� %��	
��� @����	�
�= 90
�=

(��
� �
7�� C�7���� ��� ��5����8
����� :��	���
A ��� ���� ����� &����� @��= �
7�= ���� =

�	�����= 	
�= �
		
 A= ��� ���� ��� ��	8������� *���� �� C�7���� ���� ?� ����� �������� �������

%��	
��� &�����

� � � � � �

	� 	� 	� 
 � �

���� �
 ��� ���� ������� ��� �������������� �� ���������������

��� *������7������ 1
� %��	
��� ��� &����� 7��� ����� ��� ���	����� 1
� 1��	������

;
�
��� @(�������  �	 ���55������ ����A 1�� �		��	� < �	������ 
���� �����	 ��� ;��

���������� ��� ����	�
���7����� *������7������ ��� ��� ���7����� <�
������0�����������

�0  �	��� @
�@�A � �@�AA� ��� ?���+���	�� ��	�8��	 ��� ���  �����
�� 
�
	
� �
7�� ���

����  ����1�� ;
�
��� �� ��� ��� ��� ;����������� ��� �	����� *������7������= �����

�����
�
��� ��� 6��
��� ����= �����	 ��� ��� 
�@�A�?����0  �	���� < 6������	5 5��

����	�
���7����� *������7������ 	��		 ��� �	���� *������7������ ��� 57������ &����� ���

6��
��� �����	 ���� �� �
�� ����� 5���������	������� &���	��	��
��� ��� 6��1�	�	�
� �B��

�	���	= ��	�8��	 ��� �	������ 
���� ����� ;����������� ��� 6��1�	�	�
��

���
� ���	 �� ������ ������ 4���������	� 7��� ��� �	���	�� ��� 9�	���� ����� �	����B���

�� ��	� ��	������	� 
���	�8
� ��� (������� 7����� ��� �
���� ��� ��� (����	 �����
���� ���

�� ���� ������ "
��	�	���	�� ���	���	� ������� ��� *����� ��� ���	���	�� (������� 7�����

�� ����� ��� ����� ��������/ 8���� ��� �	���	�� ��� (����	�� ��� 3�C��	��8
/� D= ��� ��

�



� 	�������� 

���� �	����B���� ��	 ������8
�	 7����� ����= 7��� ���	�  	 ����� ��� < ����8����	���

�� 57������ ��� (�������= D � -� � � �
�
���6�$�� ���  �B� ��� *��	 ��� < ����8�����

	���� ��� �� �	 ��� ��.8
���� ��� �	����B���� ��	� �	���	  �	 ��� ���7������	�������� ���

�	�������	�
� ���

9�	 ��� ����
������	�
������������� ���� � ���	����� ����	�
�����0����
	�
� ���E

�	��	 ��� *����������	 ���	 �!!� ��� 7��	7��	 ���5����	���� ������������ 5�� $���8������ ���

�B���� ��	� �� ��� F�G� ��	�������� ��� �	�������	�
��� 1
� ����	�
��� ��� 
�
	
���=

��� ��� ����� �
��� ���7������	�������� 1
�
�
� � ��, 6�$ 5�� "
�����
� �������	 7������

��� �� �	 1��������� ��.8
���� 1
� �	7� �-���  = ���� 6�8
/��
������� ������� ��� ���

������ ��� 
�
	
��= �� 8
�����	 ��� �	���� ��� ����������	�� ��� ��� 
�
	
� �����������

"
��	�	���	��= ��� &����� ��� 6��
���= ��� ��� 8G�����8����� ��� 	��
��	������ ;��������

���� ����� *������7������ ����� ��� &���	�����
 
�0�� ���

< 4��� �!!, 7���� ��� �����	��	
� � �8���78��	�������� � ���� ���� "
 �
���	� ��7���

	��	= ��� $%&�����	�
 �	���� ��� $%&�����	�
 �	�� �� 8
�����	 9�������� � �
�������

	�� 8G���������������� 57������ ����	����	����	�1�� ��� ���	����	�1�� &���	�����
 
�0�

�� �� �8�� < ����8����	�8��� 1
� �� � -� -� 6�$� ��� �� � -� # 6�$� ��� ��������/	 �
 �����

����� ���� �	������ ;������ �8�� ��� ����B���� ��	�

F�� 
�8�5���
�� ������ ��� 
�
	
��	���	������	�
� ��@���
�A ��� ������� < ����8����	�8����

�� ��� ������� *��	�� 1
� � 7���� ���� ��� 4����� �!!! � ����B���� ��	 ��� 9��� � 

;��� ��� ��������8���	� ���� 7���	��� "
 �
���	� �	���	� ����� ��� $%&�����	�
 �	�� ����

��� 1
��������� �����	 ����/	 ����  �	 ����� ���	�� ����0�� ���  �	 �� $%&�����	�
 �	��

�����5������	�� ��	���

��� �����	 ��	 �� �8��� "���	�� ���������	>

��� ���	� "���	�� ���	 ����� 8G�������� 8���� ��� ������ ��� �����	��	
��� ����� 7�����

��� 7���	���	�� "
 �
���	�� ��� ��	��	
�� ���8��	��	= 7
��� ������
����� ��� ��� ������

��� ��� ?���	�
��7���� ��� $%&�����	�
 �	��� ����������� 7����

< 57��	�� "���	�� 7����� ��� ��0����������� 
�
5���� ��� ����	�
��
�
	
���	������ ���

���� 1
����	���	� ��� 	��
��	������ 6��������� ��� 	��)�����	������ �	������ �
7�� 1���

��������� 9
����� 5�� ;����������� ��� 8G���������������� 7����� ���8��	��	�

��� ���		� "���	�� ���������	 ��� 	���������� �����	� ��� ���������� ���	�
�� �� 7����� ���

9
�	��H���
�6�����	
� 
�34�( �
7�� ��� �� ���	�
� ��� $%&�����	�
 �	��� 1
����	���	�

:����� � 1���	�� "���	�� ��� ��������	��� ��� � �B���� ��	 �� ������� ��	�� ���

��������� 7����= ����/	 ���� ��� �8���	� "���	��  �	 �� $�������� ��� �� �����	�� ��� �� ���

����� ����������� ��� $��	�������� ��� ����	�
���8
/�� ��� ��� ����
������� ���5��	����

7����� 1
����	���	 ��� �����	���	� F� �������/ ��� �����	 7��� ��� �������� ����� ���	��

9������ ��� �	���	������	�
� ��@���
�A  �	 ��� 78������ ��� 9��� � ;��� ���� �!!!  �	

�� $%&�����	�
 �	�� �����5������	�� ��	�� ��8����	���	�

����! ��" ��



�����	� �

��� ������	
��	�� �	� ����

��� ���	���� ����	�
�����0����
	�
� ���E 7���� � �,� ��5� ��� �!'! �� �� ���� ���

�����	8������ �	��	��� �8����������� ����	�  �	 �� F��� ��� ��	��7����������	������ 6�����

������
������� ����8����	� ��� ���7������	� ��� �����	 ��� ���E ���� ��� G�	���������

��� ����� ��	���� ����������	�� ��� 9�	���� ��� �� 6����	 ��� (���������0��� ��� ���

:�	5��� ��� �0����
	�
��	������� �� ?��	�8
������0���= ;�
�
��� ��� 9���5���

:��� ���	�� �B���� ��	�� � ����	�
�����0����
	�
� ���E= ��� �� ?
��������5��	�� 

������ :� �� ���= 7���� 9�		� ��� ����5���� 4���� ��� ������������ �3�<�� �� ;�	���� ���

�
  ��= �� �� ���� H��� �&����� ��� (���%��	
��� ������7����� 7������ �!2, 7����

��� ?
��������5��	�� � ��� ������������ 
�(��� ��7��	��	� �
�	 ������ � �
�������

4��� ���� ��� �����	����	�� ��	��������� ��� ���E= ��� ���	� :���7��� 1
� 6��
��� ��

��� ;�
����	��� 1
� �����4�	������������� ;���� ������� 7����� ���	� 5�� ?
�������  �	

�0����
	�
��	������� ��	������� :���� ������ ?���	�
� ��� &����� �8�� �0����
	�
��	�������

� ���	�� �8
�	���������� ����	 ��� ������������ 
�(�� ��� $
�������������� �8�� ��� �!!�

���	�����	���	� ������������������ �����= �� ��� ��� ���	� ��� ?
������� ��� �� 6����	

��� (���������0��� ��� ���E ��	������ 7����

<� ����� "���	�� 7����� ��� ����
������	�
������������� ���� ��� ��� 	��������� ����

��� ��� ����B���� ��	� 1
����	���	� < ��� �� ��� ;����������� ��� �����	��	
�� 7���

� ���
������ ��� ��� ������ ��� $%&�����	�
 �	��� �����������= �� ���� ��� 1
���������

�����	  �	 �� ���	�
� ��� ����0�� ��� ��	�� ������ �����	��	
�� ����/	�

��� ��� ����	�
��
�
	
�������������� ����

��� ����
������	�
������������� ���� ��	 7��	7��	 ��� ���5��� ������������= �� �� �����

	�
���� ��� 
�
	
��� 5�� "
�����
� �������	 7������ ��� ����	 ��� ���
������� ��� �������

�	
�������� �
���#$��
���%������������������������� ����� �
�������������������� ����� �
����� ��� �� &�� ����� '�(��#$��� ��� )� ��* +	���������, %�"�$� 	��������� ��% ��#$ -�%��������

�



# .������ /� ��% �/�	0�������� '�� �	
�

Halle Nord
H1

Halle Ost

HERMES

Halle Süd

ZEUS

HERA

HERA-
Halle West

PETRA

KältehalleHalle West

HERA-B

Magnet-
Testhalle

DESY II/III
PIA

e -Linac+

e -linac-
H -Linac

NW
N NO

O

SOSW

W

Proton bypass

p

e

e
p

Volkspark-
Stadion

360m

360m

R
=7

97
m

e

p

Trabrennbahn

���� ���
 ����% ��� 	��������-����������#$����� �	
� ��� %����� 1��� 	0�

����������� 
�#$�% ��� ���'�%#$����� �� ��& ��� 2��3���� ��% �	�4 5	���

���� �� 6�"���% �� .�������7� 	���������
 ����� �� 589: ;��7< �!�#$������

�	�4 �� 5= 2��7< �!�#$������ -	�
� �� 5/> 2��7? -�������
 ����� ��� 59:

;��7< �!�#$������ �	�4 ��� 5@<9 2��7< �!�#$������ -	�
� �� 58: 2��7�

��� 
�
	
�� ��� ��� ����� ��	���� "�8��	� ��� :�	�� I��J� ���� 7���� � �����	 �!!-

���� ������������C8������� ;��5��	 ���	�����	���	� <� ���� �����8
� ���� (�����  �	 ���� 

G ���� 1
� ����  7����� ����	�
���  �	 ����� ������� 1
� �2=' 6�$ ��� 
�
	
���  �	

����� ������� 1
� !�- 6�$ ����������	� �� 1��� �	����� ��� (������ ��)���� ���� �B�����

 ��	���������= �� ����� ��� ��	��	
��� ��� 6�
/�B���� ��	� �� @����� :
��A= F�G� @�����

�8��A= ���9�� @����� 3�	A ��� �����; @����� *��	A ��������	 �����

< 6������	5 5� �
������	�� ?�B���(����	��B���� ��	�� �� 8
�����	 ��� "
�5��	 �����

������������� ���	���� �8
���� ���7������	���������� *
��	�  �� ��� ��� ��� �	���������

���� ��� ���� �����	������� ���7������	��������� 1
� ��, 6�$ �� ���� �B���� ��	  �	

������� 
�
	
�	����	 ���������=  8�/	� ��� ������� ��� ����	�
��	����� ���� '- (�$ ���

	������ ��� ���7������	�������� ��� ���� ����	 �  ��� ��� ����� ?��	
� 5��� �8
��� ���

��� ������ �������	�� �������� �� �	����B���� ��	�� 1
� %��	
��� �� �������� :����
���

��� ������	 �
 ����� ���	���� K	������� ;���� �� ��� 
�
	
�L�

;�1
� ��� ����	�
��� ��� 
�
	
��� �� ���� ����������	 7�����= ����������� ���  ������

$
�������������� ��� �� 6��8���� ��� ���E� ��� ������������������ ���� ��� ��� $
����

����������� ���� �� ���� ��� ������	���	� ��� ��	�������������� 9����� 1
� ����	�
��� ���

���� �#$"�������%���� �� ("���� &������ ��&�������� ���*����� ����#$�� �%� ����� �����#$�3�%%� �� ���

;�%%��  � �'�� ���#$
�
� A

�
8�����



/�/� ��� 	��������-����������#$����� �	
� '


�
	
��� ���
����� ��� ?8������ ��� �	������ �� �����8�������  ����	������ ������= 7��

���� 1
� ����	�
��

��	�
�� ��� 
�
	
����	���
	
���������������� ��	���������	�� ���

����������� ������� ��� ����	�
��� ��	 ����� �	��������1�����	� �� ?
� 1
� �0����
	�
��

�	������� ������8���	� ��� �������1�����	 ����� �0����
	�
��	������� ��	 ��
�
�	�
��� 5��

1���	�� 

	��5 ��� (�������������� ��� ��	���
�
�	�
��� 5�� 1���	�� 

	��5 ��� (������� ���

��� ����� ��	 ���� 7����	����� ���8
���� ��� ����	�
�������� 8���� �- 6�$ ��� ���� ����	

 8
�����= ��� �	��������1�����	� ��� 
�
	
��� �������� ���� 5� 1�������8�������	� ��� �������

��� 
�
	
��� 7��� ����	�8������� ����� ���  �B� �� ����������� ?����	8���� ���  ����	������

?8������������� ������5	� G ��� �
��������	������ 
�
	
��� ��������� 5� �8
����= ��	 ���


�
	
����� 1
� ���� �
 ���		  �	 ��������	����� 9����	�� ������	�		�	� ��� ����	���

�
� ����	� ����	5��  �	 #=2 ( ��� :
 �������� 7��	 
������� ��� �8�		������ ����	��������

1
� ����� @�	7� ��� (A�

�������� ��� ;������������� ��� (������� ����� �
����� ���
��	
��� ���� ��� ����	�
��

��� 
�
	
��	���� ��� ���5����� (�����������	�� @K�������LA ��������	� ��� 	0������ ��5���

1
� 
���	�� � ���� ��	�8��	 �	7� �!-  �	 %8����� 1
� ,   �8�� ����	�
�� ��� ��-   �8��


�
	
�����	�� ��� ����	�
��	�
 �������	 	0�������7���� *��	� 1
� #-  �= ��� �	�
 ���


�
	
��� *��	� 1
� !-  �� ��� "
�����
� ��� (�����������	� ���
��	  �	 ����� ?��+���5 1
�

�-=# 9�5= 7�� ���� F��	��	��1��� 1
� !� �� ��	������	�

��� 1��� �B���� ��	� ��= F�G�= ���9�� ��� �����; 1���
���� ��	������������� ��0�����

������ F�����	5������ �� ��� F�G� ��	�������� ��� �	�������	�
��� 1
� �
��������	������

����	�
��� ��� 
�
	
���� ������ ����	� 1
� ��� ���	�� ��� *������7�������5
��� ������

��� ����	�
�� ��� 
�
	
��	���� �����������= �
 ��/ �� 5�� "
�����
� ��� (������� �
  	�

��� ���
������� �� ��� ��	��	
��� ��� �B���� ��	� ���	��	 �� ���  8
������	 1
���	8�������

9������ ��� ��� ��� �	�������	�
� ��	�	������� (�������� ;���� �B���� ��	� ���� ���	 �!!�

�� ;�	����� <��� F�����	5����� ���� ��� ��	����8�������� ��� ������� �	���	�� ��� 
�
	
��= ���

��7��	����� ��� $���	8��������� ��� ����� ��	���� "�8��	� ��� :�	�� �
7�� ��� ����� ����

����7��	�	�� 
�8��
 ���� �� ��� (���������0����

;�� ��� �B���� ��	�� ���9�� ��� �����; �������� ������	 �� ���� � ?�B���(����	�

�B���� ��	�= ��� ��	7���� ��� ��� ����	�
��	���� 
��� ��� ��� 
�
	
��	���� 1
� ����

�8�� �	�������	�
��� �� �������� (������� ��	5��� ���9�� ��	 ���	 �!!' �� ;�	����= � 

��� ���� ��� :����
��� 5� ��	��������� < �B���� ��	 7����� ��� ��	����� 6��	����	  �	

���������
��������	�� �	
 �� ��� ��� �
��������	����� �
��������	� ����	�
��	���� ����	5	�

�����; ��)���	 ���� ���	 �!!, � ������� ��� 1
�������� F��� ��� �B���� ��	�� ��	 ���

�����8����� ��� H
�$����	5��� ��� ���7����� *������7������ ����� G�	����������� ���

F������� 1
� ;�9��
���� F�� ��5������ ��� ;�9��
��� 7��� ��� 
�
	
��	���� 1
� ����

�� ���� ��	����� ����		����	 ���	���	�

��� ����#$�����������#$�������#$����� �� �3����� '���� ����#$��%����� �� ���%��'�� ;� ������  �%����

#$��� "����� ��� $�'�� %���� ���  ���#$� 	��� ���
�B���B�� � /:���/ '��  ���#$�� ����$����� ���



� .������ /� ��% �/�	0�������� '�� �	
�

��� ��� �����	��	
�

��� ����	�������� ��� ����B���� ��	�� ���	���� ��� (��	� ��� �	������ 
����� ��� (����

������0��� �
7�� ��� ����� ���� ����� 
�0���  �		��� ��� G�	��������� ��� ����	�
��


�
	
���	������� ��� ����	���8�����	� ����	�� ��� ����� �	�		)������� ����	�
��� 1���

����	 ���� ��8�5��� <���	�)��	�
� ��� 9������ 1
� ����	�
��� ��� 90
��� �
7�� ����
���

����� 4�	�� ��� ���7��	��� 1
� �	�����
5�����  �	 ��������� �	�8
 �� @1��� "���	�� ���A=

��� ����� ��� ���5��	��� ��� :��	���
 ��	�8��	= ��� ����	 ��	��	���	 7����� ����= ���
����	

��� ��� �	������ "��
�� �	�� @9������ K��������� �������LA� �������� ��� ��	�����������

���� (��������������� ��� ������	������ ��7��	 ���� ��� 9��������7������	 ��� ����	�
��


�
	
���0�	� � ���� ��� "
�����
� �� ����	��� ��� 
�
	
��	������ ��� ������	 ����� ��0 �

 �	������� ��	��	
�������� <� ���� ��� ��	 ��� ������ ����
���� ������	 ��� �����	��	
��

������	���	� ��� ��0  �	������ ������ �������	 ���� �� ��� 1���	8���	�� ����  ���� 1
�

��	��	
� �	����� �� $
�78��	�����	��� 7�����

< �
������� G�	������	�� 7��� 5��8����	 ��� 8G�������� 8���� ��� ������ ��� �����	��	
��

�������� ��������/��� 7����� ��� ������  ���0�	� ��� ��� "��
�� �	�� �
7�� ��� ������

��� $%&�����	�
 �	��� ������� ������������

����� ��� ��	
�� ��
 �����������


��� �
 ����� *������7�����������	 � F��	�� ��� �����	��	
�� 7��� � ����
���� 1
�

���� �0�	� ��� ������  ��� @���� ���= @�A ��� @�AA� ��� ������  ���0�	� ���	��	

��� ����	��  ��� ��� $�������	��
�
�	�
�����  ��� �
7�� ����5�� ��	��	
��� I��J= ��� ���

���� 1
� ��������� (������� ��	���� ����� ?������� ��������� 1
 *������7�����������	

���
��	��������

��� ������  ��� ���� � ����� 1
 ����	���
�� �	�� ��� �����	��	
��= �� %��
�"��
�

�� �	��� �� ��	 ��	��	���	 �� ��� ����	�
 ����	������ @���� ���= @#AA ��� ��� ����
�������

"��
�� �	�� @���� ���= @'AA ��� ����	 5�� 9������ ��� ������� �����  8
������	 1
���	8������

���
��	�
� ��� (������� � ��	��	
� �	������ F�� 9��� ������ ��� 	
	�� 9�	���� ��)����

���� ����� "
 �
���	�� �� ���� ���5���� "�0
�	�	�� @���� ���= @�'AA� F�� 9������ ��� ���

��
����	������ ��	�� ������� *������ ��)���	 ���� � 1
������ ;������ ��� �����	��	
��

��� 
����"��
�� �	�� @���� ���= @��AA= 7������ � $
�78��	�������� ��� ����
������� (���

��� "��
�� �	��� 5� �	�����
�� ��������/	� G�	�� ������� *������ ���	���	� ����	�
���

��� ����
������ ��	�1�	8�	 � �8���78��	���� ;������ 7����� �� ���� ;�����5��	����	�
��������

"��
�� �	�� @���� ���= @��AA= �� ��������= �� ������ 8������� 7�� ��� %���"��
�� �	��

��� �/�.����������%!%��� ��C����� ��� 
�#$��� ��% -�����%���$�% ��� (��#$%� ��� "��� ��% ���"3���%�

��#$��� '�(��#$��� 51 �� �''� /�>7� D�� 3�'��#$ "��� ��� -����"����� �� &�� ����� ��� � ��� ��� �(�������

"����� ��� � '�(��#$����
	��E��� �� ��
�

�� $���� �����������



/�>� ��� �/��������� 2

Abmessungen: ��� ��� �� m

���
p

�
��e

��� �

�

�

����

���� ���
 ���������%������ ��%�#$� ��% �/���������%�



, .������ /� ��% �/�	0�������� '�� �	
�

���	��	 ��� ������ ��� ���� ������� ����	�
 ����	������ ��� ���� 8��/���� ����
�������

(���� F�� 9������ 1
� ����	�
���= ��� ��	�� �B	�� ������� *������ ���	���	 7�����= ���

)���	 ���� ���	 �!!, � �8���78��	���� ;������ �����	 � �	�����
�� ��� $%&�����	�
 �	��

@�� ���� ��� ����	 ������	���	A� *��	��� ����
������ "
 �
���	�� ��� "��
�� �	���0�	� �=

��� �
������	�� (��� H�	����= ��)���� ���� � <��	�� ��	���	�� ����� @���� ���= @�-AA ���

�������� ��� ��� �� %���"��
�� �	�� ��	7��������� ����
������� ��������

��� 5�� < ���� ������ ���8
	��	� 9����	���� 7��� 1
� ����� ��
/�� ��������	����� �����

@���� ���= @�AA ��5���	= 7����� ��� %���"��
�� �	�� � ������/	� ��� ��)���	 ���� �� ���� 

����� �"�0
�	�	�� ��� ������	 ��� �
 
����� 9����	���� 1
� �=� ( �������� 5�� �	�����8���

����� ��� �����C
�� ����	 5�� �8����8������ ���  ����	������ ?������� ���7�������� ��� ?���

��� ��� ��� �	���� 7����� ����� ����� "
 �����	�
�� ����	�� 1��������	 @���� ���= @2AA�

��� 90
���0�	� ��� �����	��	
�� ���	��	 ��� ���� 1
������ ����	�
 �	�� @?
�7���

9�
� ����	�
 �	��A ��� �� <��	�� ��	���	�� ������ ��� ?
�7��� 9�
� ����	�
 �	��

���	��	 ��� ���� (
�
���9����	�� @���� ���= @��AA ��� ����	��  ��� @���� ���= @!AA= ���

< ����� ��� ������ 1
� ��������������� (������� � $
�78��	��������  ������ ��� <��	���

 ��	���	� �����= 7������ ���� ����	�
 �
���	�� ��� ��	��	
�� � ������/	= ��	  �	 ��	��	
�

��� ���	8���	= ��� ��������	� ��� (��� H�	���� ����	5	 7����� ��� ����������	� 5�� <���	�)��	��


� ��� 9������ 1
� 90
��� ������� ��5� ��)���� ���� 57������ ��� 5��� 2=' � �	�����

��������		�� %���� ��� �	��� ���
����  ��� ��� �	��������	��	
���� $��1
���	8�����	 7���

��� 90
�����	��	�
� ��� �����	��	
�� ����� 90
���  ��� @���� ���= @!AA= ��� ��� <��	���

 ��	���	� ����� � ������

< 6������	5 5� ��� ������ ������������� "
 �
���	�� ��� �����	��	
�� ��)���� ���� ���

��	��	
��� ��� %� ��
��	8�	��0�	� � ��� 5� �--  ��	����	 1
 *������7�����������	 ��

����	�1�� 5�����	��� � ���� (������ ��� �0�	� ���	��	 ������� 	 ��� ���� ����	�
��

(������ @�(-,= �(�� ��� �(##A= ���� 
�
	
����	��	
� @
�A �
7�� ���� $�	
�H
��	��

@$HA� <� ���� ��� ���� ��� ����	�
��(����� �(�� ��� ��� 
�
	
����	��	
� � ���� (�����

������	���	� ��� %� ��
��	8�	��0�	� �� 8
�����	 ��������	� ��� ;��	�  ��� ��� %� ��
��	8�	


��� (
	5��	= ����������	� �8
���� ����	�
��� ��� 
�
	
��
���	�
������������� @1��� "���	��

��'A ��� 
�
	
��� ��� �����	�1�� ����������� �� ����� 7������

��� ;��	�  ��� ��� %� ��
��	8�	 ���
��	 ����� 9������ ��� ��	� 1
� ;�	������	�������������

���� ��� ;�	������	�������������� @� �� � � �A 7����� ���� ����	����� ;�� ��	����������
�

5���� ��5������	= ��� ����� ��� ����	�
� ��	�� ���� ������� *������ ���	���	 7��� ��� �
����

���� ��� 
�
	
� ���	����	� ��� *�������+��������		 ������ 
�
5���� ��	 ���� ��
/ ��� ������

���� ��� &�� ����� �����������= �� ��� �	���	�� ��� 
�
	
�� ����	 ������	� ��� ���	���	�

����	�
� 7��� � ����	�
��(����� �(�� ��� � M ���� #  �� "
��5����5  �	 �� �
�������
�����	����	�� 
�
	
� �� �����= 7������ � 
�
	
����	��	
� ��� � M ��-�� �  ������7���
��� 7���� ;���� ��	��	
��� ���� ���  ������� "���	����NH�����
158������ ��������	= ��� �����


�
	
1��1��������� ���������� 7������



/�>� ��� �/��������� !

���� ���
 ��% ������%��3��%%!%��� ��% �/���������%� ��� �%����� %��� ���

	����������  �� 	�FF ��� ��� -$�������������� ��� $��� ��#$� �' �'�����

��� 	����������  �� 	�:= ��� 	�88 '�C���� %�#$ '�� � A �=� : � ���

� A �8F� > �< ��� ������������ '�C���� %�#$ '�� � A �/:>� = ��

����� ��� �����������

��� ���
��������� �� ��� ������  ��� ���	���� �� ��� 9������ 1
� < ���� ��� ����	���

��� ���	���	�� (�������  �	 ��
/�� 6���������	� �� ��� �	������ �
 ����	 �� ����	��� ���


�
	
��	����� �	�		)���	= ��	��	���	 ���� ��� ������  ���0�	� 5�� 
�	� ���� 9������ ��

���� ����	�
 �
���	��� ��� ���	��������	 ��� ������  ���0�	� � ��� �����	��	
�� ��	 ��

���� ��# ������	���	�

��� 5��	����� ��� 1
������ ������  ��� ���� 50�������0  �	����� � ��� �	�����
�� � 

;������ 1
� � M ��� '  ��� � M �  ����
����	 ��� ����� ��5��	��5 ��� 

���7������ � 
;������ 'Æ � � � ��'Æ� ��� �8���78��	��� ����	��  �� ;�H�� ��)���	 ���� 1
� �� ������

��� ����	 ��� 

���7������������ �'�Æ � � � �22� 'Æ ���

��� 5��	���� ������  ���0�	� ���	��	 ��� 1��� ����	��  ��� ��� 57�� 
�
�
�	�
����

��  ���� ��� �������
��	���	�
� � 5��	����� ;������ �����	 ��� 9�������� ��� 4�	�

����	��  ��� H4H��� ��� H4H�= ��� �
�5��	����� � ��� �	��������� ����
����	 ����� ���

��8��	� 1�������� �� ������ "�  ��� �������� 5�� ������	���= 7
����� ���� ������ 3�	����

�	�  ��� ��� ������  �	 ����� ��.8
���� 1
� �2-� �� ��� �������� ��5���	 7���� �����

9������ ��� ���5�)����� �������1�����	�� ����� ���� ���� (�����������	�)��	�
� ������

���8���	 7������

��� ��.8
���� ��� ��"

�����	� 7��� ����� 9�������� ��� ����	��  ��� H<F�� ��� H3F��

1��������	� ;�� ������ "�  ��� 1�������� ��� ��8��	� �� ��� ��������= 7
����� ���� ����

�8
���� ��� ��"

�����	� 1
� 	0�������7���� �--� �������	 7����

����#�"��� 	��&� �$��'��
��������� ��� �$��'��
��������� ����� ���$��'��
��������� ����� ���$��'��



�- .������ /� ��% �/�	0�������� '�� �	
�

CJC1

CJC2

COZ

COP

CIP

CIZ

SPACALBDCplanarradial

prop.transition
radiator

Forward
Tracker

Central
Tracker

e p

5m

2m

Liquid
argon
cryostat

BSTCST

���� ���
 ��% ����������%!%��� ��% �/���������%�

��� 5��	����� $�������	�
�
�
�	�
�����  ��� H<
�� ��� H3
�� ��	���	8�	5�� ��� ���
��

�	���	�
� ��� *������7�����������	�� ��� ������ 5�� (��������� 1
� ������������

��� 1
����� ������  ���0�	� ���	��	 ��� ���� ����	������ 9
�����= 7����� � *������

��� ���� 8G���������	�������� 
���= ����� 
�
�
�	�
�����  �� �
7�� ����� �������� ���

����� 50����������� ����	��  �� ��������	 ����� �� ������	 ��� < ����� ��� *����� ������

1
� ������ � $
�78��	�������� �8�� 'Æ � � � �'Æ�

��� ������  ���0�	� ��� �����	��	
�� 7��� ���8��5	 ����� ��� ��	��	
��� H�(�	 ���

;�(��= ��� ���� ��������� ��� 5��	����� ������  ��� �����	 � �	�����
�� ��)���� I�'J�

��� H�( ���	��	 ��� 57�� 50�������8
� ����=  �	 ����5�� �	��������	��	
��� ����	5	�� %��

���= ��� ��� �	�����
�� � 5��	����� ;������ �
�5��	����� �� ���� ������ 1
� '=2 � �57�

!=2 � � ������ �� �� 8
�����	 �������� ��� �
��� 3�	���.8
���� 1
� ����5�� �	���������

	��	
��� ���� ���� ������ ���
��	���	�
� ��� *������7�����������	�� ��� ��� ��.8
����

������8���� $��	�5��� 9�	 ����� ��� ;�( 7����� ��� ������ 1
� (������� �� �����= ��� ��

�8���78��	�����	��� ���	���	 7������ �� ���	��	 ��� ���	  �	 ����5�� ��	��	
��� ���	8���	��

%����= ��� ��������	 5�� �	��������� 
����	���	 �����

��������� ����� ������������ �$��'��
��������� ����� ������������ �$��'��
��������� 
���#�� ���#���
����#�"��� 
���#�� ���#���



/�>� ��� �/��������� ��

����� ��� �����������

G ��� ���� 	�� ��� 7����� �������� 5� �8
����= ��	��	���	 ���� ��� "��
�� �	���0�	� ���

�����	��	
�� ��  ������ "
 �
���	��� ��� ����	�
 �
���	� �����	 ��� %���"��
�� �	��=

��� ��� 1
������ ��� 5��	����� 

���7������������ #Æ � � � �'�Æ ��� �����	��	
�� ������	�

��� ��5��	��5�8���� 57������ �� �	�����
�� ��� %���"��
�� �	�� � $
�78��	�������� 7���

����� ��� 
����"��
�� �	�� ������
����� < �8���78��	�������� ��� �����	��	
�� ��)���	

���� ��� ������  �	 ���� ��5��	��5������� 1
� �'�Æ � � � �22� 'Æ� ��� $%&�"��
�� �	��

�� 8
�����	 ��� 9������ 1
� ����	�
���= ��� ��	�� �B	�� ������� *������ ���	���	 7������

$��1
���	8�����	 7��� ��� "��
�� �	���0�	� ����� ��� (��� H�	���� � <��	�� ��	���	�� ���

��� ��� ��� "��
�� �	�� ��� %� ��
��	8�	��0�	� ��

<� ���� "��
�� �	�� 7��� ��� ������� ����� 1
���	8������ ���
��	�
� ��� (������� � ���

	��	
� �	����� �� ������ ��5� ��	 ��� %���"��
�� �	�� I��J= 7�� ���� ���  ���	�� �������

"��
�� �	�� ��� �����	��	
��= �� �� ������	���	�� ��������	= 7
���	��  �� ��� *������

1
� ����	�1�� ���
�������		��  �	 ��	�1� 9�	����� 1���	��	�

;�� ��	�1�� 9�	����� ��� %���"��
�� �	��� ������	 �� ���� � .8������� ���
�� (��		 ���

(������� �� ��� "��
�� �	�� ���= 7����� � ���
���� �	����� ����� *������7�������� ���

����8��	������� ��5���	= ��� ��� .8������ ���
� �
�������� ��� ��������	� (������� � ���
�����

 �	����� ��5������ ��� ��������	5	�� ����	�
��� ����	�� �� ���� �	����� ����	������� ?��� 5�

�����������	�
��� ��� ��5����� ��� %������������ ��
�
�	�
��� 5�� ������� ��� ����������

����� (���������

��� %���"��
�� �	�� ���	��	 ��� ���	 �����		�������� �8�����= ��� ��������	� ��� ���	 9
���

��� ��������	 ����� ��� �8���� ���� �� ���� ���5���� ?�8���������
� (��� ��	���������	� <�

���� ��' ��	 ��� 
���� �8���	� ��� %���"��
�� �	��� �� ���	��������	 ������	���	� ��� 3����	���

���� ��� ���
�������		�� � "��
�� �	�� ��	 �
 ��78���	= ��/ ��� ���	��		�7����� ��� (�������

����	 ������� ��� #'Æ 7���� ����� ���� ��� ���
�������		�� � 1
������ ��� ���	���� (��� ���

"��
�� �	��� ��������	 ��� � 5��	����� ;������ �������� 5�� �	��������� ���������	�	�

��� %���"��
�� �	�� ���	��	 ��� ����� ����	�
 ����	������ "
 �
���	�  �	 ���� ������

6��������	8�	= ��� 1
� ��� ����
������� "
 �
���	�  �	 ��
����� 6��������	8�	 ���������
��

��� 7���� ?8�� ��� ����	�
 ����	����� "
 �
���	� ��� "��
�� �	��� 7���� ;��� ��� ���
��

��� �	����� ��78���	� ��� 9
���� ���	���� ��� �
������	�� 6�-�;����6�- ����7�����  �	

�=�'   ����	�� F7�������8�� �� �8�� ��� .8������ ���
�� ��� 6�-�%��	�����		�� 	����� � 

*������ ��� �������� ��� �
���������������	�
����

��� ����	�
 ����	������ ������� 7����� � ����	�
 ����	������ (��� ��� %���"��
�� �	���

 �	 ����� ���������.8
���� 1
�

���
@�A

�
M

-� ���
��6�$

� -� -�

1
���	8����� ����/	�



�� .������ /� ��% �/�	0�������� '�� �	
�

���� ���
 ��� �'��� �3��&�� ��% ����.����������% �� ����%#$����� ��� ��������

�� D�#$%��"����� %����� �%� ��� DD- '�(��#$���� ��� �#$��*�� ��� ;�����

������ ��� G���������� ��� �'%��'��������� �� .���������� ���

< ����
������� (��� ��� "��
�� �	��� ���	��	 ��� ���
���� �	����� ��� �	���� ��� 9
����

���� ��� ��   ������ �	������		��  �	 ��   ��
/�� ����	�� ��������	= �� ��� ��������

5����� ��������
��� 7����� I��J� ����� F����� 	����� ����	�
��� 5�� ������� ��� �
�������

���������	�
��� 5�� ��5������ ��� ����	������� ?������ ��� 6��5� �����	 ����� �
��������	

��� .8������� ���
� 1
� 57��  �� �=#   ;���	��

��� "
 ����	�
� ��� ����
������� "
 �
���	� ��� %���"��
�� �	���  �	 ��� (��� H�	�����

�� 8
�����	 ��� 1
���	8������ ��������� ��� ����
������� �������  �	 ����� ���������.8
����

1
�
����@�A

�
M

-� '-�
��6�$

� -� -� �

;�� ������ "
 �
���	�� ��� %���"��
�� �	��� ������	 �� ���� � ����	��
 �����������

"��
�� �	��� G�	�� "
 �����	�
� 1���	��	  �� ��� ������������� $���8��	��� ��� ��������	�

7
�	�� ��� ��� ����	�
 ����	����� ��� ����
������ "
 �
���	� ����� ���������

��� ������ ��	 ��� ;�����5��	����	�
��������"��
�� �	�� ��� ���	��	 ��� ����� 1
������ �����

	�
 ����	������ ��� ����� ���	���� ����
������� "
 �
���	�  �	 ����� ��	�1�� (���� 1
�

C�7���� �' � I�!J� ��� $
�������	� ��� ������ ��)���	 ���� ��� � M ��� '-  � �8���78��	����
;������ ��� �����	��	
�� @���� ���A ��� ����	5	 ����� ����� ����� 1
� ��- � �

��� �5��	����������� ?����� ��� ������ 1�������� �������� 5�� �	��������� ��� ������ ��� ��	��

1� 9�	����� ��� "��
�� �	���� ��� 7����� ����	 1
� ����� ���
���� �	��B ��� ;��� � ������

��� � ���
���� ����� ��� ������������� (������� ���1
��������� ������� ��5���	 �� ���

?����� ��� "��
�� �	��� �5��	����	�
������	� ������ 7��� ����� (
	����.�B�
� �� ��� ?�����



/�>� ��� �/��������� ��

VLQ

���� ���
 ��� �3�#�"3���� � )����#$ ��% �/���������% �� ��������%�#$��

8���� ���� ;8�����5
�� ��� ����� %���	 ������ 5� 
�
	
1��1���������� 7��	�������	�	 ��� �
�	

�� ����� ����	������� ���������� ���� � ��7�����	�

��� ����	�
 ����	����� "
 �
���	� ��� ������ ���	��	 ��� ��!� F�����  �	 ����� 3���.8����

1
� C� #� -'� #� -' � �� 4��� ������ F����� ��	 �� ����� 
�
	
1��1��������� ��������
���� ���

�����	 ���� �������������	� ��� ����
������ "
 �
���	� ��	 ��� ��� F�����  �	 ����� 3����

.8���� 1
� C� ��� -� ��� - � � ��������	� ��� ������	� (��� ��� ������ ���	��	 ��� ���� ���

�� F����� ��������	�� ���5��� 
���= �� <����	� ��� 1��� ������	�� F����� ������ 9
����

� ������/�� �����8
� �� ��� �	�����
�� �� ���� ���	��� 1
� '=2 � 5� �	�����

��� ������ 5������	 ���� ����� ���� ���� �
�� ���������.8
���� ��� ����	�
 ����	������

"
 �
���	� ��� I�,J

���
@�A

�
M

-� -2�
��6�$

� -� -� �

��� ��� �- 6�$ 7������ ��� �O ��	�8��	�



�# .������ /� ��% �/�	0�������� '�� �	
�

����� ��
 ����������������

��� $%&�����	�
 �	�� ��)���	 ���� ���� 9�	�� 1
 �
 ������� *������7�����������	

��	����	 �����	 � �	�����
�� � �8���78��	���� ;������ ��� �����	��	
�� @���� ���A ���

����	 5�� 9������ 1
� ����	�
���= ��� ��	�� ���� ������� *������ ���	���	 7����� I�#J�

�� ������/	 ���� �� ���� �	������ ;������ ��� ������ �� ��� �� 8
�����	 �� �	 �� ���

�B���� ��	 9�������� �� ���� ����� 
�������� �������= �� 8G��������������� 57��

����� 
�
	
��
���	�
� ��� 	��)�����	������ ����	�
��
�
	
���	������ @1��� "���	�� ���A�

��� $%&�����	�
 �	�� ��������/	 	��
��	���� ��� 

���7������������ 57������ �22� �Æ ���

�2!� #Æ� ��� 8��/��� ;������ ��� $%& 7��� C��
�� ����� ��� <����	 ��� ������ ��������		�	=

�
 ��/ ��� ��5��	��5 ��� ��� ;������ �2,� �Æ � � � �2!� #Æ ������8���	 ��	�

��� ����	�
 �	�� ��)���	 ����=  
�	���	 � "
 �����	�
�� ����	�� ��� ����B���� ��	�=

�� ����� '- � 	����� ���������� ��� <��	�� ��	���	�� ������= 7�� ���� �
 ���	� ;��7����

������	� �� ���	��	 ������� 	 ��� 57�� 9
�����= ��� C�7���� ��� ���� ����5�� �����0�	� 

��� ���� "��
�� �	�� ��������	 ����= �
7�� ���� ?���5��	58����� @(
?�
A� ��� 9
���� ����


������� ��� ��	������ ��� �	�����
���� �����	��	 ��� ������ � 6������	5 5� ���  ���	��

������� "
 �
���	�� ��� �����	��	
�� ����	 ��� ���� 	�� �5� �	���� *������������ �����

9�	 �� ������ ��� $%&�����	�
 �	��� �� ��� �8���78��	���� ;������ ��� �����	��	
�� 7���

�� ��� (��� ��� ���	������� �	�����
���� ��� �	��� ����� ��� ����� (����	8��� ��� ��� ���� 

����	5	� ������ ��	 � ;������ ��� $%& ��� ����� ����� ����� 1
� � � 1��C8���	= � �����



���7������������  8
������	 ������� ����	�
��	���7����� �������� 5� �8
����� ���5����� ����

	��		�����	�� 1���������� ��� *���	����� ��� ���	���	�� ����	�
��� ����� ��� 	
	� 9�	�����

��� �	�����
��7��� ��� 1��������� ������� ��� �������� ��� 3�	���.8
�����

��� 9
�	��� ��� $%&�9
���� 
���� ��� ��	������ ��� �	�����
���� 1��������	 ��� �����	�

;��	������� ��� ��	��	
��� ����� �0����
	�
��	�������= �� ����� 1
���� ���� �� ��� �����

��� �������������� 	�����	��� 5�� �	������8�  ��� ���	��		� G ��� ����5�� ��	��	
��� ���

�����0�	� � ��� ��� �5��	����	
��� ��� "��
�� �	�� 1
� G�	��������	������� ��� <�C��	�
�

��� �������	��� ��� ����	�
��	����� 5� ���8�	5��= �8
���� ����� 9
����  �	 ����� �0�����

������� ?��� ������� ��� ����� 9�/�
��	�
� �����	 � �	�����
�� ��������	 5�� ���������

���	�� ��� <��	�� ��	���	� ����� �������� 7������ <� ���� ��2 ��	 ��� $%&�����	�
 �	�� � 

�8���78��	���� ;������ ��� �����	��	
�� ������	���	�

�� ��� ���
��	� 

��	�
� ��� 9
���� �� ��� ���
��	���	�
� ��� ����	�
��	���7����� ����

���	=  �/ �����  �	  8
������	 ��
/�� 6���������	 ������	 ����� ����� 7��� ��� ��

��	�
�

��� 9
���� ����	�1 5� ���� �������5����	 ����� 57�� 
�	����� 

��	�
�������  �	 �����

6���������	 1
� � � ���	�  	�

�	���� 
&  �� $�
�
��� �����%��� �%� ��& ���� ��% $�$�� D����% ��% D����� %E���%#$����% �� '����#$����� -$�%������'��

���#$ '�� ��� �� �/�	0��������  � �'���� ������%��3�� ��%���#$���  ��H< %� ��H ��� 	��%#$�3����� ��%

�(�������� D�����'����#$�% 1������'�� �%��



/�>� ��� �/��������� �'

Kompensationsmagnet

VLQ-ToF

Kalorimeter

system
Spur-

Strahlrohr

instr. Eisen

Austrittsfenster

Silizium Doppellagen

���� ��!
 ��% ���������������� �� �3�#�"3���� �� )����#$ ��% �/���������%�

��� �%����� %��� ��'�� ��� .���������� ��% ��� ��% 1��63�� �� ����$���$�

%�"�� ����� ��% ��%������������� 	�%��% ��� ��% .�����%�����%�� ������ ��%

�'��� ;���� ��% ����������������% '�C���� %�#$ �� ��� -�%����� (�� ������

��$��< ��% ������ �� -�����%����� $����� ��� ��%������������� 	�%���



�� .������ /� ��% �/�	0�������� '�� �	
�

��� �������	�
�����
�	

��� 9
���� ��� �����0�	� � ���� C�7���� ��� 57��  �	 ����5�� �	��������	��	
��� ���	8���	��

�
��������� ��������	� ���� �
�������� ���	��	 ������� 	 ��� �8��� ��	��	
���= 1
� �����

57�� �� �
��5
�	���� ��� ���� �� 1��	������ ����	��� 
����	���	 ���� ��� �
 ���� 3�	����	� �

 ��� �� ��� �������� �� 8
�������� <� ���� ��, ���� ��� $
�����= ���	��� ��� �8���������	

����� �
�������� ������	���	� ��� ��� ���
��	�����	�� ��������	�� ��� ������ �
���������

�8�/	 ���� ��� ���� ��� ����	�
�� ����� ��� 9
��� ��� �� �	 ��� �	���7����� ���	�  ���

��� �B	���
��	�
� ��� �
 �� ������� ���� 5� *������7����������	 �� 8
�����	 ���� ���

����	8������ ���
��	���	�
� ��� ��"

�����	� ��� $��	�B @��$��	�BA�

;�� ��� ����5�� ��	��	
��� ��� $%&������0�	� � ������	 �� ���� � ��	��	
���= ��� ����

������ 5� ��� � H�( @1��� "���	�� �����A 1��7����	�� ����� ��� ���	���� ��� ���
	���	� 

����	��	  �	 ��,- � ����	���	�� �	������ ��� ���
	���	� ����5�� ��� ����	5�� ��� �� ���

������ '� !� �� #� -� -� � � I,J� ��� C���� 57��	�� ��� �� � ����	�� �	������= ��� �� ���� 

���	��� 1
� �� � �� ��� ����	��	 � ����	���	 ����= ��	 5�� ������� ���� 9�	�����������

������� ��	� ��� ���	��� 57������ ��� �#- ����������� �	������ ��	�8��	 '- � �

;�� ��������� ����� �
����������� (�������� ����� ��� ����	��	 7����� �� ��� $���� �����

5
�� ��� �� ��������	��� �������	�	�� ���8G��������� %����������� ��������	5	= ��� � �����

���	�� ����	������� ?��� 5� ��� �����������	�
��� ����	�� ��� ������� ��� ���������������

��5������ ��� ����������� 3�	���.8
���� ��� ��	��	
�� 7��� ����� � 7����	������ ���	�  	

����� ��� ���	��� 57������ ��� ������������ �	�������

��� ������� ��� ����5�� ��	��	
�� 7��� 1
� ���� �
������	�� �0������ 8�����
  ��= ���

��� ���� 	� ?�
�	�������	�
��� 1�����	� ��� �0���� ��	 � 7����	������ ��������	 ��� �8���

�
H�� ������������= ��� 8���� ;
����8��	��� �����	  �	 �� ��	��	
� 1�������� ����= ���

���� ���
�������= ����� ��� ��� ������������ �����	����	 7������ 4� ��, ��� �#- �������

����� �	������ 7����� 1
� ���� �
H �������� ���������� ��� ��� ������� ��� 5� ���	��P��

��� (��������	��������� �� 
���������P��� 57����������������	���

��� �8��� ��	��	
��� ����� �
�������� ���� 8���� "��	
������  �	 ���� �����	���
��� 1���

������= ��� ��5� ����	= ��� ���������� ��� �	����������� �� ��� ����5�� ��	��	
��� ��� ���

�0������ 7��	��5����	��� F��8�	5���� 7����� ��� ������� ��� ������������ ��	��	
��� 1���	8���	

��� �� ��� �����������	�
���= ��� ���� � ����	�
����(����
� ��� ����B���� ��	�� ��)���	=

7��	���������� ��� ������ �����	���
���� ����� 9
���� ��� �����0�	� � ��)���� ���� ����

����� ��� ���������8���	�� 
��	51���8��	����� �� ���� 6��8���� 
������� ��� "��
�� �	���

6��	����	 7��� ��� ������� 1
� ����� 3����
H�� $9��"��	� � ����	�
����(����
�� ���

������	 ��� �	����������� ��� $���
���������������� �8�� ��� ?�
�	�������	�
��� �� ��� ���

������� �������� �$��
��I����%#$����;�������$�����'����� �� 5I����%���# D��� )���%7
�����#$ ��� ���&� ��� -������� 1�� F> 	��� ��%%�� %��$� '�% (�� 	�����*�� ��� ���  �����%#$����� ���

�������� 1�� � F 	% (�� ���&3� �� �
���"���� 
���#�� ����
�� ����������� ��� .���� "���� �� 
�$��� ��% �/�	0��������% ���"�#���� ���

"��� '�� ��� ��%��%� ��� ���������� ���< )�� ��� ��� 1��"������



/�>� ��� �/��������� �2

5�7 5'7

����������
��3� ��

����������
��3� ��

��.�
-�����.3�$���$�

����(����
����������

�

�
�
�
���

5#7

�����������3� �� �����������3� �� ��.�-�����

�

����(�������������

�

�
�
�
�
��

��
��

��
��

�	

���� ��#
 	��� �������� � ��% ��������%!%���% �� ������� 5�7< ������� 5'7

��� 
3�#���%�#$�5#7� ��� ���������� %��� ��& ��3� ��� ��% ��������� ��������<

��� ��& ����� ��.�
�$��� 5���'�� ��'�� .����%��7 '�&�%�� � %����



�, .������ /� ��% �/�	0�������� '�� �	
�

���	���
����� ��� ������� ��� ������������ ��	��	
��� 7����� 1
� ��� �����	���
���� ��

"
�1��	���"��	�� � ����	�
����(����
� �����	�	= ��� ��� ������� ����
����� ��� 5�� 3������

��	��1�������	��� �� 

7���
H�"��	�� 7��	�����	��� �
�	 7����� ��� ������� ����	�������	

��� ��� ��	��1
�� �� ����� ���� �������� (��P������	�)��	�
� ����5���	= ��1
� ��� �������

��� 5� H���	�� ���8
������ �	������ �� ��� �������;����� ������������	 7������

<� ��� �������
��	���	�
�= ��� �� ��� ������
��	���	�
���
�	7��� ����� � ��� ��	���	 ��	=

7����� 5��8����	 ��� ��� �� ��� �����;��� ������������	�� ��	�� ��� H���	�����7������	�

��� ��� ����5�� ��	��	
��� ��	�� ;��8�������	����� ��� 

��	�
� ��� ?��� �������  �	 ���� 

H���	�����
��	� �� ������� ��������	� F�� ;��������� ��� ���� 7����� ���� ����5�� ����	��

�������5
���= ��� ���� ��������� ����� ���������� 1
� �   � ��� $��������������� 57��

����� �� $��	�B ��� �� ���	��P����	 ��� ����	�
�� � "��
�� �	�� ��)����� ��� ���

�
 1���)5���	�� H���	��� ��� ��� �
��5
�	���� ��� 1��	������ ��	��	
��� ����� �
��������

7����� ���  8
������� ��������	� ��� ������ ���	�  	� ��� 9������	�����	 ��� ���
��

�	���	�
� ��� ��������	� 7��� ����	�8������� ����� ������������	����� �0����
	�
���
	
���

1��������	= ��� 57�� H���	�� � ����5�� �����0�	� ��5�����= C��
�� �������� ����� ������

��� ������� 1
� �8
���	��� ������� 9�$ � "��
�� �	�� ����	 ������7����� 7������ :���

����� ���9�	�
�� 7����� ��������/��� ������ 1
 $��	�B 5� "��
�� �	������	�� �����

���� "
 ����	�
��� ��� ��������	� ��� ������ �
��������� �����	� ��� ����  �	 �� ������

�	�� ���*��	 7��� ��� �������� ���	�����	��� 3�	�
��� ���� ����� ��� �������
��	���	�
� ���

*�������� ��� $��	�B���
� �	�
� ���� ������	8������ ;��	�  ��� ��� ��$��	�B ��������8���	

7������ ��� 9�	�
�� ��� �������
��	���	�
� ��� ��� ��	���� ����� ��	 ��� ����5�� ��	���

	
��� 7����� � ��	��� �� I�-J ������������

��� ������	�
��

;�� ��� �
 ���	�� "��
�� �	��� ��� $%&�����	�
 �	��� ������	 �� ���� � ���������
�

C��	�
�����
�� �	��= ��� ����� ��� ������� ��� ���	��P����	 ��� ����	�
�� � "��
�� �	��

���	�  ��� ��� ���� �� �� ������	���	�� ��������	=  �	 *
���� ���		�� ��� ���
���� ���

�5��	����	
�������	�� ��� ��	�1� 9�	������

��� "��
�� �	�� ���	��	 ��� ������� 	 ��*
���� ���		��  �	 ����� ����� 1
� �='   ��� �#

������ ��� 
���	���5��	����	
��	8����� ��� �5��	����	
��	8��� ���� �� ��� �   ������ �������

	�� ��7�������� �
��5
�	�� �57� 1��	���� 
����	���	�

��� ���5����� �5��	����	
������� ���	���� ��� �# �
��5
�	�� �57� �, 1��	���� ���������	�	��

�	8����= ��� 5�� 
�	������ <�
�������  �	 7��/� 
����� � 7�����	 ����� ��� ����� �5��	���

��	�
������	 7��� �� ������ ���	�� ��� �	8��� 1
� *������8�������������� ���
�����	 ��� � 

��8���� *������8������������ ��� �		���	�

�� ��� ����� ��� *������8������������� 7��� ��� ��8��� %���	 1
� 
�
	
��
��� �����������

��� ������� ��� ������ 
�
	
��
��� ����� *������8�������������� 7����� 1
� ������������

��
���#��  ����$�� )���
��I���� ����� +)���, 1��%��$� ��� ���� (�� ����#$���� 1�� D����� 1��"������ �����%��������



/�>� ��� �/��������� �!

eVertikale

Wolfram

Szintillatoren
HorizontaleWellenlängenschieber

Szintillatoren Photodioden

���� ��%
 �#$�����%#$� ���%������ ��� ����1�� �������� ����% .�����������

�����%�

1���	8���	 ��� �����  ���	= ��1
� ��� �� ��� �
������	� ����
��;
B ��� ���"��
�� �	������

���� � ����	�
����(����
� 7��	��������� 7������ ��� ������� ����� *������8��������������

��	������	 ���� "����= ������� 	 ����	5	 C���� "��
�� �	�� 
��� ,# ����������8���� ���

��  � ��� �� ��� ���5����� "��8���� �� ������� �������� 7��� ��� �
�������� ��5������	�

<� ���� ��! ��	 ���� �	���� ��� ��	�1� �	���	�� ����� "��
�� �	�� 
���� ������	���	�

����� ��� �������	��� ������� ��� �5��	����	
��	8��� 7����� ��� 
�
C��	�
��� ��� ��������

��
)�� �� �� ��� ������	��� ��������	 �� �����= 7
����� ���� "
����	�� ��� �
������	�

���������
������������� �� 8
�����	 7���� ����� ���������� 7����� ���1
�������� ����� �0��

���
	�
��	����������
	
��� 
��� (������� ��� ����	�
���������= ��� �����	 ��� ���� 
�
	
�

��
�� 	��P�� ��� �
 ��� �
��� ������ �� ���� ���5���� "���� ��5������ ���������
���(��P��

	��	�� �� ���	 ��� �8���	� ����� ���������� ��� ��� 7����� 1
� ��� ���
��	���	�
���
�	7���

����� ��� $�������� ��� ������� �����8������������� "��8��� �
�������	�

��� %������	8�	= "������	�
� �
7�� �������� ��� 3�	���.8
���� ��� "��
�� �	��� 7����� ��

(��	�	���� ��������  �	 ����	�
��� �� ���� ���������	��1��� 1
� � ��� � 6�$ ���	�  	�

��� ���������� ��� (��	�	���� �������� ���� � ��	��� �� I�'J ������	���	�



�- .������ /� ��% �/�	0�������� '�� �	
�

Ein [GeV]

K
al

or
im

et
er

si
gn

al
 [A

D
C

-C
ou

nt
s]

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

0 1 2 3 4 5 6 7
-3

-2

-1

0

1

2

3

0 1 2 3 4 5 6 7

Ein [GeV]
A

bw
ei

ch
un

g 
vo

n 
de

r 
L

in
ea

ri
tä

t 
[%

]

���� ���&
 ��� ��������3�� ��% ����.����������%� ��� �%����� �%� ��� �'$3�� � �

���� ��% .����������%� ���% 1�� ��� 	����������� �� 5����%7 ��� ��� �'"��#$�� 

1�� �������� ������& 5��#$�%7< ��% JF9K�

��� ���������.8
���� ��� "��
�� �	��� ��	�8��	

��@�A

�
M
-� �!� -� -��

��6�$
� -� -�#� -� -� � @-� ��#� -� --!A 6�$

�
�

��� 3�	���.8
���� ��� "��
�� �	��� �� �� ��� ������	��� 7���� ���	�  	 5�

��@�A M ��@�A M
@�� -�� -� -�A   �

��6�$
�

<� ���� ���- ��	 ��� ���8��������	 ��� "��
�� �	��������� 1
� ��� ����	�
�������� ������	���	�

��� �� ������� ������� �	�  �� ��	  �	 �� �������� $������ 8�������� �� ��� �� ��� (��	�

�	���� �������� ���	�  	�� "������	�
���
��	��	�� ��� "��
�� �	��� ��� ��� 9��������

 �	 ����	�
��� �� ���� ���������	��1��� 1
� � ��� � 6�$ �������= 7���� ��� "������	�
�

 �	 ����� 1
� � ����B���� ��	 �� ������� ��	�� ���8��5	 @1��� "���	�� #��A�

<� ���� ���� ��	 ���� �	���� ��� ����������
��	�
� ����� ����	�
�� � 
����� 9
��� ��� "��

�
�� �	��� ������	���	� ��� H���	�����
��	� �� I�2J= ��� �����
 7�� ��� �������
��	���	�
�

�� ��� ������
��	���	�
���
�	7��� ����� � ��� ��	���	 ��	= ��������	 ��� ��� �� �������

�
�������� ��� �������� ��� ���	��P����	� ��� �� ��� "��
�� �	�� 	��P����� (��������

< ���	�� �����		 7����� ����� ��� �������� ��� ����	�)5���	�� ���������
���(��P�� ��� ��

����	� ��������/��� 7����� ��� �
����� 9�B� � ��� 1��� 
�
C��	�
��� ����� "��
�� �	�� 
�

���� ���	�  	 ��� �
������	� 
������	�� �������	� ��5� 7����� ��� �������� ��� "��8���=



/�>� ��� �/��������� ��

"Single Diode"

Clusterschwerpunkt

Kanalenergie Kanalnummer

Aktives Volumen

���� ����
 �#$�����%#$� ���%������ ��� 	��� ������%����� ����% 	�������%

�� �'���� ;���� ��% ����.����������%

��� ���� ��������� ����� 1
� ��� �������8
�� ��� 9�B� � � ���8������� ��  �������������

��)����= 5�� ������� ��� 
������	��� �����  ���	 ��� ������ ���7������	 ���	�  	� ���

��� 
������	��� ��� 1��� 
�
C��	�
��� 7����� ���� ��� �����	������ H���	�� ��� 9
���� ���

�����	� ��� H���	��������� 7��� ��������	 ��� ��� ��  � ��� �������� ��� 
������	��= ���

���7������	� ��� 
������	�� ������� ��� "

�����	�� ��� H���	��� � "��
�� �	�� 
����

;�� �����������  �	 ����� ���� ���
��	�����	�� H���	�� 7��� ��� ��� ;��	�  ��� ��� 5��

���8
����� 
������	�� ���� H
  
��9
������	���	�
��	 ��������8���	� ��� H
  
��9
��

7��� ����� ��� ��� �������� ��� "��8��� ��������	= ��� ����  ��� ��� �=' � ��	����	 1
�

��� 9�B� � ��� 
������	�� ��� 1��� 
�
C��	�
��� ��)�����

����� �������;��� '�(��#$��� ���((���� � �� ���%#$"����� �� ����� .��3���< ��� ���#$ �#$"����� ��

��� ���%�� �� %%������ �� ��� �� ���1��%�3����� ���%��$�� �3������



�� .������ /� ��% �/�	0�������� '�� �	
�

��� �������
�������

��� ?���5��	58����� $%&�(
?�� ���	��	 ��� 57�� ���������8
� ���� 
���	���5��	����	
���  �	

���� ����� ����� 1
� �� � = ��� 57������ ��� "��
�� �	��� ��� $%&�����	�
 �	��� ���

�� "
 �����	�
�� ����	�� �����	 � �	�����
��  
�	���	 ����� ��� �5��	����	
�������

���� C�7���� ��� 57�� ������������ ��	�� ��������	 ��� 1
� �   �	����� ;������		�� � �

�����= ��� �0����
	�
��	����������
	
��� ���
�������� ����� ��� ?
������� ��� "
��5����5

��� ������� ������ ������ �8
���� ���������� ����� �0����
	�
��	������� ��� ��� F�������
�

��5����5�� ���������
���� 7������ 4���� ��� 1��� �5��	����	
���� ��	� 7��� 1
� ���� 
�
�

	
1��1���������  �	 ����� F��	��.8
���� 1
� 7������ ��� �� �� �����������

��� $%&�(
? ����	 ����	�8������� 5�� G�	����8������ 1
� ��
	
�����5���	� G�	�������=

��� ����� *������7�������� 1
� �	������
	
���  �	 ���	����	
 �� � �	�����
�� �
7��

 �	 �� 9�	����� ��� �	�����
���� �����	 ��	�	��	� < 6������	5 5� ��� (�������= ��� ���

����� ����	�
��
�
	
���	������ � *������7�����������	 ��� �����	��	
�� �	�  �� ���

�����8��� �- �� ���� ��� "
�����
� ��� $%&�(
? ���������= ������ ��� ������� 1
� ��
	
����

��5���	�� G�	������������������ ����	 ��������� ������ F��	����	��� ��� �8
���� 1��7
����

7������


�
��� �	���� �������� ��	 ��� G�	����8������ 1
� G�	������������������= ��� ����� ��	���

��	������	� ��� 
�
	
��	����� ��5���	 7������ ��� ��	����	������	� ��)���� ���� 57������

��� �����	������ 
�
	
�����	�� ��� ������	�� ����� �� ���� ���	��� 1
� ��  ��� ��  �
�������� ��� 

��	�
� ��� $%&�����	�
 �	��� � �8���78��	���� ;������ ��� �����	��	
��

��� � M ��  ��������� ��� ��	����	������	�= ��� ���� �  ���	�� ��� �����	������ 
���	�� ���
)����= ��������� ��� ������������	��� ��� $%&�(
?� G�	����������������� ������ ��	 �8
����

�����  �	 �� $%&�(
? ����	 ��	����8���	 7������

�����  ��!!�� ��� �������"��

��� ������� ��� (�������0�	� � ���	��	 �����= ��� ��� $���5��� 1
� �������� ��� ���5���

��� ��	��	
��
 �
���	�� ���C������ 5� �����	�����= ��� ��� ����� ����	�
��
�
	
���	������

�	�  �� ��� 5�� ��8�	���� ����0�� ������������	 7����� �
����� �����  �/ ��� (
	5��	 ���

(�������0�	� � 78������ ��� ������� ��� ��	��	
��
 �
���	��  8
������	 ����� �����	�� 7���

���= �� 78������ ������ F��	��� � ����� ���������� �����	����	 7����� �8
�����

��� ��
/� ����	�� �� ��0����������� 
�
5�����= ��� �� ��� G�	��������� ��� ����	�
��


�
	
��"
�����
� 5��8������� 7�����= 8��������	 ����� *�������+��������		������� 1
� 1�����

6�8
/��
��������� ��� ����������	���
 1�������� ����� 1
� �-��- �5 � ;������ ��� 
�
�

	
��
���	�
� ��� �	7� � 	 �-�� �5 �8�� ��� 
�
���	�
� 1
� � �;
�
��� I��J� ��� ��	� 1
�


�
	
�����	��������������� �������� ��	�8��	 �	7� '- ��5� �� ��� ;�������	� ��� ��	���

��� � ��� �����	��	
�� ��� '��- �5 ������5	 ��	=  �/ ����� ��� (�������0�	� ��� ������

�����	� �	��� ����5���	 7������ �����  8����� ��������	� G�	�����������������= ���1
��������

������ 
&  �� $�
�	��� �� � �'���� D���� '�(��$�� %�#$ ��& ��� ��%� �������%��3�� 1�� � A /� 9 � /:�� #���%���



/�>� ��� �/��������� ��

����� �0����
	�
��	������� 
��� ��
	
�����5���	�� G�	�������= 1��7
���� ��� ����������	�

����	�
��
�
	
���	�����
5����= ��� ������ *�������+��������		� ����	5�� 
��� 1
� ���
����

�� ��0����������� <�	������ ����= ��1
�5��	 7������

��� (�������0�	� ��� �����	��	
�� ���	��	 ��� ��� 1��� �	���� %�= %�= %��� ��� %#= ���

�����		7���� ��� ����������	� 1
� �-=# 9�5 ��� ���� ��	� 1
� '��- �5 ����5�����=  �	 ���

��� �����	���	�� ��	�� ��� 9����	�8������ ������������	 7������

��� (�������	��� %� 1�������	�	 ��� ����������	� 1
� �-=# 9�5 
��� (
	5��	� ���  ���	��

�����	��	
��� ������� ���8��� �������= ��� 5�� (��������	��������� 1��7����	 7����� �8
����

��� ��� (��������� ��	� ��5������	 7������ ��� ��� (��������� ��	�� 7����� ����� �
������

$����8�������� �
������	� ���	������ �������	� F�� �����	�
� ��� ��	� ���5����� ���	����

���= ��� ��� 
�
5�����  �	 �
��� *�������+��������		�� �������= �8
���� �����  �	 ���� 

���� 78�������� G�	����8����������	
�  1������� 7�����= �
 ��/ ��� C����  �	� 1
� ����� 

���	������ ������8
�	� �������� ��5��	���	 7����

�� ��� (��P�� ����� (��������	��������� �� ��� �	��� %� ����� F��	��� 1
� �	7� ��� �����

������	= ��	 ��� ������� ��� �����	��	
��� �� 
�������	���	�� 
���������	� $��������� �8�� ���

���5����� �����	��	
��� 7����� �
 ��� ��	5	�� �2 ��� �' ���������� 57����������������	� %���

���	 ����� ��� ���	������ ���� �
��	�1� (��������	���������= 7��� ��� ��	����� � ���	
��	�

$
� ����� F��	����	 �� ������	 ��� (
	5��	 ��� �B���� ��	��= �� ����� ����� ��	�� ����

��5������	 7������ ��� ����������	� ��� (�������	��� %� ����	 57������ #- �5 ��� '- �5�

*��� ��� �������� 1
� ��� (�������	��� %� ��5��	���	= 7����� ��� ��	�� �� ��� (�������	���

%� ��������� 1
� �-�� ����� 	
�
�
������� ����0�� ��	��5
��� ��� 1
� ���� ����
�����

:�	57��� ������)5���	� ��5� ��	 ��� (�������	��� %� �� ��� ������ �����8������� (����0�	� �

%�((�� ��� %�::�� ��	��	���	� ;�� �� �		���� ����� �
��	�1�� (��������	��������� �� %�

7��� ��� 1
���	8������ ������� ��� �����	��	
��� ��������	�	� <�	 ��� ������� ����� "
 �
����

	�� ��������
����= 7�� ����� F��	��� 1
� �	7� �  � ����������	= 7��� ��� ��	����� �

7����� ���	��	�	= ��� ��� (
	5��	 ��	 ������	� :��� ��� (�������	��� %� ����	 ��� ����������	�

57������ �- �5 ��� #- �5�

< 6������	5 5� ��� ��� ����7�������� �����	����� (�������	���� %� ��� %� �8���	 ��� (����

����	��� %# ����	  ��� �0����
� 5� ��������	��	� ��� ��� ��� 5�� $���8����� �	�������

�
���	�� 7����� ��� ���������� ����5� 1
���	8����� ���
��	�����	 ��� ����� ��� �
�	7���

����������� �����	�
� ��	��5
���= ��� ���� G�	��	������ �� ��0���������� "������ 1
���  	�

:���	 ����	�)5���	� ���������� 7����� ��� ��� ����� �������� ��	��� 5�� �0�	� �	������ "
��

	�
��� ��� (�������0�	� � 1��7
����� ��� �
������	� %#�?��	����� ���	��	 ��� �	7� �- 
�
�

5���
����	��= ��� ��� ���������� �������� �������	�� ��� ��� ����������	� ��� ' �5 ��� �- �5

����5������

��� $%&�����	�
 �	�� ����	5	 ������	8������ (������ ��������� ��� (�������	���� %� ���

�
��� ���  ��%��&� �F "��� (�� ���� ��#$� 1��"������
�������� �#�� ���  ��
��'����� '��"���



�# .������ /� ��% �/�	0�������� '�� �	
�

%#= ��� �� "���	�� #�� � F���  ������  �	 ��� ��	����� � 1
����	���	 7������

��� ����� ��� (�������0�	� �����	���	�� ���������� 7����� ����� ��� ���
��	���	�
����
�

���  ����� 1
���	8����� ���
��	�����	� ����� 7����� ��� ��� �
���	�� ��� �����	��	
�

��� ��0���������� 6�8
/�� 7�� (������������� ��� ���������	� H���	���������� ��������	� ���

1
���	8����� ���
��	�����	�� ��	�� 7����� ��� 
3(�� 
��� �� ����5���	�� ?
� ��� ��(��

����������	 ��� �	���� 5�� 7��	���� ���7��	��� 5�� $���8������

�������#���� ������ ����
��	��� 
�����! ����



�����	� �

��	�
�	 �	
 ��	������
�	�  �
	����

��� �	���	�� ��� 9�	���� 7��� ���	� 1
� (���������0������ ���� �� ������ 
���5�� ���

	������	= ���� �� ���
� ��	����
�� � 4��� �!�� ����� �	����B���� ��	� ������8���	�� <�

������ �B���� ��	�� ���
/ ��	����
�� !�(������� ��� ���� 6
���
��� ��� ��	����	� ����� ���

����0�� ������ �	�����
5����= ��/ �	
 � ����� "��� ����	5��= �� �� ��� ���� 	� �
��	�1�

%����� ��� ����5� ��� �
 ���		� 9���� �� ���� 8��/���	 ������� ;������ �
��������	 ��	 I�,J�

������ ������������ "
�5��	 5�� ���
������� ��� 9�	���� ��	 ���� ��� ���	� ����	 ��8�����	

��� ����	 ��� ����B���� ��	 5�� G�	��������� ��� �	���	�� ��� 
�
	
��� < ����� �����

7����� ����	�8
� ��� (������� ��� �
���� ��� ��� (����	 �����
���� ��� �� ���� ������

"
��	�	���	�� ���	���	� ��� *������7������ 57������ ��� (������� 7��� ����� ����� ���

���	����� 1��	������ ;
�
��� 1�� �		��	� ����� 9������ ��� �������= ��� *������ ��� ���

F��� ��� ���	���	�� (������� ���� ��� �	���+��������		 ���	�  	 ���  �	 	��
��	������ $
��

�������� 1��������� 7�����= 7����� �������� 8���� ��� �	���	�� ��� (����	�  ������

< ����� ����� ��	���������	  �� ��� �	����B���� ��	�� 57������ ����	������ ��� ������

�	������ 
�
5������ ��� ����	����� �	�����
5���� ��5������	  �� ���C������= ��� ����� ���

��  � ��� ����	������ �������� 78������ ��� ����	�
� �����	�� ��	 ��� ����� ������� ?����

���	������ ��� �	
/���	��� �������	 7������ ;�	����	�	  ��  
����	 ������	����� ����	�
�

���= �
 ��	 ��� ����	�
��
�
	
���	������ ����	����� ��� 
�
	
� ���8���	 57�� ����� �8����	
/=

�����	 C��
�� ��� (������� �����	��� ��� �	���+��������		 ��� ����	������ �	������ 1
� �����

	�
��� �� �������� 
�
	
��� @��� :��	�
���A 7���� �!'- ���	 ��� ��������	 ��� ��	 ���

�
������	��?
� �� ������	 I��J� ��� �� 8
�����	 ��� ;��	�  ��� ��� ����	������ ?
� ���	
�

��� ��� 
�
	
��= ����� $������ ����� ��� ��8��
 ��
�
������ K���
�L�?���	�
� 7����������

��� 7����

���8
�	  �� ��� ���7������	�������� ��� �0�	� �= �
 �
  	 �� ��� 5���  ������	5	��

(������� 5�� �������� ������� ?������	������� 
�
5���� ������ ��	= ��� ����� ��� ����	�����

������� 78������ ��� ����	�
� ����	  ��� �����	�� ��	= ��5������	  �� ��� ������	����� �	����

���� < 4��� �!�# �
�	�����	�� 6����9��� ��� F7��� �� ���� &���� 
����= ��/ ���� ����

����
��� ��� ��� ��	���� ;��	���	����� 5���  ����	5��= ��� 1
� 6����9��� ��� &�����

��5������	 7����� I�J�

�'



�� .������ >� �$����� ��� �����%��%#$�� ������� 

<� ��� ������	������ ����	�
��
�
	
���	������ ������	  �� ��� ���7������	��������� 1
�

������� 6�$ ��� �	���	�� ��� 
�
	
�� ���5��8
���� ��� 1
 ����	�
� �����	����	� 1��	�����

;
�
� �
����	 ���� ����	  ��� �� ��� 
�
	
� ��� 6��5��= �
����� K����	L �	�		 ������ ���

�	���	�� ��� 
�
	
��� ��� ����	����� ����	�
��&������	������ 7��� �� ���� ��
����	���

�� ��� ������	������ ����	�
��
�
	
���	�������� �
 �� 8
�����	 ��� ����	�
� ��� �	���� 

��� ����������	�� ��� ��� 
�
	
� ����������� 
��	
��� @&����� ��� 6��
���A ��� ���
8G�����8����� ��� 	��
��	������ ;����������� ����� *������7������ ����� ��� &H��

��� �����	�
� ��� ������	������ ���������

��� 	��
��	����� ;����������� ��� ������	������ �	������ 1
� ����	�
��� �� 
�
	
��� �������

��� ����	�
���7���� (��
��� ��� ��� &���	�����
 
�0�� ��� ����� ���
��	 ���� ���	������

��� 
�
5���� �� 57�� ������������ "������= C� ���� ��	 ��� ��� *������7������ 1�� �		������

�����
�
��� ��� ������  � �� ��������	�� 3������ ��� �	8
�����	��
��� ���� �� ���������

��� ������	���	�

< ����� ����� ������ ���� ��� ������ �������1�� ?8���� 7�� �
��	 �����������>

�@"A Q # @�A� �@"�A Q$@��A @:H= ���	��� ������	A �

�@"A Q # @�A� 	�@"
�A Q$@��A @HH= ������� ������	A �

��� ����������� ����	�
�  �	 �� $������ ���� " 7������7���	  �	 �� ������������ 
�
	
�

 �	 $������ ���� � ����� ���	����� ����� �����
�
�� ��� ����	�
���7����� *������7�������

��� ���5��	��� ���	��	 ��� ���� ���	���	�� %��	
�  �	 $������ ���� "� ��� �� ����
�

������� ���5��	��� R  �	 $������ ���� ���

<� 
�
5�����  �	 ���	����� �	�8
 �� @:HA ������	 �� ���� ��� �� �����	�����	�� ;
�
�

��	7���� � ��� 1��	������ 
�
	
� �� 
��� ��� ��= ��� ��� ���5��	��� ��	�8��	 ��� ����	�
��

;�� 
�
5�����  �	 ��������� �	�8
 �� @HHA ��	�8��	 ��� ���5��	��� �������� ��� ���	���

����� ����� ����	����� ��������� �� ��� :��	���
�

��� "��� �	�� ��� ������	������ ����	�
��
�
	
���	������ ��	 ��� ���	�� ���7������	������

��� ����� 57�� �����8������ $�������� ������	�� ���	�  	� < ����� ����� ����	5	  �� 5��

��)��	�
� ��� "��� �	�� ��� �
������� 6�8
/��= ��� ���� �
���	5��1�����	� ;����������� ���

����	�
��
�
	
���	������ ��������� ��� 7����� ��� ��� $������ ������ ��� �� ��� ����	�
�

��	�����	�� (������� @1��� ���� ���A ���	�  	>

���& ���� ��% +#���� #��C������%,< "��#$�% ��� 	0�%���( 1�� ���'����� ��� ����� &����� ����#$�� 1���

'�����< �%� ��� ���%��%#$� 	��������������������� ����� �������� �0������������� 3I'����3�&�� ��#$� (� 3�� �

��#$ 51 �� .������ >�87�



>�/� ��C������ ��� ��������%#$�� �����'��� �2

��@%A � F�@%A


@�A

�@"A

R@��A

�@"�A

�*�@%A


@�A

�@"A

R@��A

	�@"
�A

���� ���
 ��� ��!���� ���$�� ��� 	��������-������������� �� ������ %���

G����� &3�� -��(�%%� ��� ��������� 5����%7 ���  �������� ���3���� 5��#$�%7�

�� >M �@" � "�A� M �%� �

� >M
��

� @� 	 %A �

� >M
� 	 %
� 	 " �

� � >M @�Q %A� M @��A� �

�� ��	 ��� ����	�1� &�����	 ��� $������ ����8����	����� 57������ ����	�
� ��� 
�
	
� ���

��� 9�/ �8�� ��� $��	����	8�	 ��� �����	�����	�� ;
�
���� ��� 6�8
/�� � ��� � ���� �� ����
���

�
�� $�������� � <�	��1��� 1
� ���� ��� ���� ��� �8
���� �� �����5������	�� ;�5����0�	� ��

��0��������� ��	�����	���	 7�����> � ��5������	 ��� �
������	� ;CS�����������1�������= ���

� &�����
��	
��9
���� @1��� "���	�� ���A ���� ������������ ;����	��� ���8��	� <� ���� 

;�5����0�	� = �� 7����� ��� < ���� ��� 
�
	
�� ���� �
�� ��	 @��)��	�  
 ��	� ��� �A=

���� � ��� ��� 1
 ���	���	�� 
��	
� ��	������ ;����	��� ��� 
�
	
�� ������ ��	�����	���	

7������ ��� <�����	�5�	8�	 � ���	 � �����0�	� ��� 
�
	
�� ��� ����	�1�� �������1�����	 ���

���	���	�� ����	�
�� ���� ��� 6�8
/� � ��5������	 ��� ��1�����	� 9���� ��� ����
�������

���5��	������ ;�� $�������8�������� 1
� ����	�
�� ��� 
�
	
� ���� �	���� �� �� �� ��� �

8���� �
������ 6��������  �	�������� �� ;�5������>

�� M � � � �

��� &�����	 ��� ���7������	�������� � �8�/	 ���� ��� ���� ��	�� $�������8�������� ���

9����� ��� ��� �������� ��� ����	�
��	����� �� ��� ��� 
�
	
��	����� �� ��������� �����>

� 
 @" Q �A� � #���� �

��3�� ������ -$������  ��� 
� A 


� � �
 � A ��

� � ���
� A 
�

� � :�
��� 
�$�%!%��� ��% -�����%  ��� ��� )�(��$�� � A

������
��

���
�



�, .������ >� �$����� ��� �����%��%#$�� ������� 

��� ���� ���! �������		  �� �	� �	 �" ��	�
���

��������� 1
� ���� ��� @�����A 	����� 5� *�������+��������		 ��� ������	������ ����	�
��


�
	
���	������  �	 ���	����� �	�8
 �� � ����� ����� ���� ��	���� ���= ��� ���� ��� ���
8G����������� ��� 6������  �	 ����	�
 ����	������ ��� ���7����� *������7������ �������>

��	 M �@�A Q �@��A Q �@����A �

������� ���������	 ��� (�� �@�A ��� ������ 
�
	
����	�����= �@��A ��� ���	����� ��� ��

;
�
��= ��� ��� (�� �@����A ��	 ��� ;��	��� ��� <�	�������5 1
� 
�
	
�� ��� ������	������

�� ��� ���5����� &��������		� ��
�
�	�
��� 5� ��� 
�
����	
��� ��� �����	�����	�� ;
�

�
��� ����= ��	 ��� <�	�������5	�� �������� ��� ��������� 9���� ��� �� � ��� ?��	
�

�


����

��

= ��� ;��	��� ��� ������ ������	������� � ��� ?��	
� �
�
����

��
��
�����8���� �� 

������ 
�
	
����	����� ��	����8���	�� ;�����8���	 ���� ��� ���� �	����� ;������ ��� *��	�

1
� �� � &�
��
�
 �8
���� ��� ;��	�8��� ��� ���7����� *������7������ �� ��	�� :8�������

1�������8�����	 7������

��� ������������	 5�� 	��
��	������ ;����������� ��� ������	������ ����	�
��
�
	
���	����

��� ��	 ��� ����� �= ��/ ��� 
�
	
� �� ���� ;�5����0�	� �
��� < ����� @��)��	�  
 ���

	� ��� �A ��� �	���� �
��������� ������ &����� ��������� 7����� ����� ��� ����	�
� �	���	

�� ���� ������ &�����= 7
����� ������ ����� �
��� (����1������ ���� ���8��	 ��� ��� �� 


�
	
� ���������������� 7���� ��� 57������ �� ���	���	�� &���� ��� �� 
�
	
����	 7���

������ "�8��	� �8����� ��������/��� 5�� ?��� ��	������= ���� 5�� ;������ 1
� ����
���= ���

� ���5��	��� 1
�������� $
� ��	����������� *���	�����	 �8�� ��� 	��
��	����� ;�����������

��� ������	������ �	������ �� ����� ;��� ��	= ��/ ��� ����	����� ����	�
��&������	������

��� ��� ?��� ��	������ ��� ��	�������������� F��	������ �������� ��� ��� ����
���������

��� *�������+��������		 ��� �	������ ������� ����	 7����	���� �����.�/	�

�� ��� ������	������ ����	�
��
�
	
���	������ ��� ����	����� ����	�
��&������	������ 5��

������ ����	= 	�8��	 ��� &�����	���	�� ��� 
�
	
�� 5� *�������+��������		  �/������� ����

��� G�7����� 8���� ��� 6�������� � 
�
	
��
�
	
��$��	�B= �������	�	 ����� ��� K;����L

�� ���� ���= ���
����	 ��� ����8������ �
������	�� �	���	������	�
���= ��� �� ��8
/	 8
�������

����� ������	 ��� ���.�/ ��� ��������	�� �	���	�� ��� 
�
	
�� ���� �	��������� �� �	

�8�/	 ���� ��� �
����	 ��P����	����� *�������+��������		 ��� ������	������ ����	�
��
�
	
��

�	������ �� ��������	�� 3������ ��� �	8
�����	��
��� ��	�� $�������8�������� ��� ;��	�8���

��� ���7����� *������7������ �� �
������� ?
� ����	�����>

����	

�� ���
M
#'!�

�� �

�
��� ��@���

�A Q @�� �A��@���
�A
�

�

��@���
�A ��� ��@���

�A ��5������� ��� ����	�
 ����	������ �	���	������	�
��� ��� 
�
�

	
��� <� ��� ��8�	�� ����5���� 4�����  ���	� ;CS���� ��� $
��������= ��/ � ;������ �
���

���� ;�%%� ��% �
 '���3� � L/</=@ 2�� J>LK�



>�>� D����� %E���%#$���� ��� ��������&��������� �!

��������� ��� ���8��������	 ��� �	���	������	�
��� 1
� �� 1�����7����� 78���� ��� ��� ���

�
�� ?���	�
��� 1
� � �����= 7�� ��	�� �� ;����P K������1�����	��L ������	 ��	>

��@���
�A� ��@�A ��� ��@���

�A� ��@�A �

��� ������1�����	�� ��� �	���	������	�
��� ��	 ���� �����	� "
���+���5 ��� (�	�����= ��/

��� 
�
	
� ��� ����	�8
� ���� 
��	
��� ��������	 ��	= ��� 7���� ����� �B���� ��	� ���

�%�H�9<( 6����� �� ��� ��8���� ����5���� 4����� �B���� ��	��� ���	8�	��	 I��J�

��� ����8������ ��� K�
���	�������� �	���	������	�
�L �
 �8���	 5� ����� ������� ?
� �����

���� ��� *�������+��������		�>

�
@���
�A 
 �� � ���� �

����	

�� ���
M
�'!�

�� �

�
@�@�� �A Q ��A��@���

�A� �� �
@���
�A
�

�

< 4��� �!�! 7���� 1
� H����� ��� 6�
�� ���� ���8��������	 ��� �	���	������	�
��� ��@�A

��� ��@�A �
� �����	= ��� 5� $�����7����� ��� �
���	�������� �	���	������	�
� �8���	>

�
 M -
 ����@�A M ��@�A H������6�
���;�5������ �

��� 68��	�����	 ��� H������6�
���;�5������ ����8����	 ���� �� ��� (�	�����= ��/ ��� ���


��	
� ����������� ��������� 
��	
��� ���� �
�
	������ ����
�� 8G����������� �8�� �����

���� 
��	
���  �	 ���� - ������� �	�		 ��� H������6�
���;�5������ ����@�A���@�A M � ���

���8��������	 ����@�A���@�A M -= 7����� ��� �B���� ��	����� ��	�� ���	���� 7����������	�

��� �	���	������	�
� ��@���
�A �8�/	 ���� ��	�����	����� ��� ��� ��  � ��� �������+�����	�

��7���	�	�� < ��������	�� ��� &����� ��� ��	�+����� � 
�
	
�>

��@���
�A M �

�
�

���
�
%� @���

�A Q T%�@���
�A
�

�

��� ��  � �8���	 ����� 8���� ���� &�����
�	�� @.�1
��A= %� @���
�A ��� T%� @���

�A ��5�������

��� < ����1��	�����������	�
��� ��� &����� ��� ��	�+����� ��� �
�	� ( = ��� �� ���	 �����

����	������ %������� ���

��� ;�
����	��� ��� ������1�����	��� ��� ��� H������6�
���;�5������ ����8����	� ��� ����

�8������ ��� &�����
��	
��9
����� @&
9A� < &
9 ��	 ��� 
�
	
� ��� ����	�8
� ���� 
���

	
���  �	 ���� �
�
��������	= ��� �	���	������	�
��� ��� 
�
	
�� �� ��� �� ���� ���������/����

?���	�
��� ��� ;CS�����������1�������� � ��� ���8����� ��� H������6�
���;�5�������

�I���� ��� %� � )6M���������% 1��%��$� ��� ��� 2���(3�'�� �� �� � � ��� � � 
 � � '�� &�%���

D����� 1�� � A ��

� ����� � ;�� '�(��#$��� ��� 	��������-������������� �� ���%�� ��������%#$�� )����#$

���%� ��% +���C����%��%#$,�



�- .������ >� �$����� ��� �����%��%#$�� ������� 

��� �B���� ��	��� �� ������� �������8������ ���� �0�	� �	������ ��7��������� 1
� ���

H������6�
���;�5������ ��� ��� ��8�	�� ��� ������� *��	�� 1
� � ��
����	�	� ;�������

��� ;CS�����������1�����	��� ������ ���� � ��� �� ��� &���	�����
 
�0�� �� @&H�A

1���	����= 7
���� ������� �� "���	�� ��# ����������� 7����

��# ���	 ���� 
�
	
��
�
	
���	��  ��

��������� 1
� ��� �� "���	�� ��� ������������� ����	������ ���� ��� ������	����� ����	�
��


�
	
���	������ ��	�� $�������8�������� ��� ���7����� *������7������ ���� ��� ���
��	�
�

1��	������ 
�
	
��� ����� ��� 
�
	
� �������/	 7�����= 7
��� ��� ����	�
� ��� ���	���������

+����� 1��	������ 
�
	
��� ��������� 7���>

��@%A Q # @�A� $@��A �

��� �
����	 ��P����	����� *�������+��������		 ��� ����	�
��
�
	
���	������ ��  	 �� ����

�� ;��� ��� �
������ ?
� �� I�J>

����	

�� ���
M U� �� @�

��� �A Q U
 �
@�
��� �A

M U�

�
�� @�

��� �A Q ) �
@�
��� �A

�
M U� �

��
���@���

��� �A �

 �	 U� @���
�A M

�

)@�A
U
@���

�A M
!

�' ���
@� Q @�� �A�A ��� )@�A M

�@�� �A

� Q @�� �A�
�

����� ��5������	 U� ��� ?��/ ��� 1
 ����	�
� �����	����	�� 	����1����� �
��������	�� 1���

	������ 
�
	
��� ��� �� ��� 5����8
����� ���
��	�
��+��������		� U
 ��� �
 ���� ��	�����

����� ��� ?��/���	
� ��� ���
��	�
��+��������		 1
� �
���	������ �
��������	�� 
�
	
�����

��� 

������	�
������ �	�� ) ��	 ��)����	 ��� ��� $���8��	��� 1
� �
���	������� 5� 	����1���

���� 
�
	
���.�/ ��� ������ M �� Q ) �
 ��5������	  �� ��� �P��	�1�� �
�� &��������		�

��� �	���	������	�
��� �� ��� �� �	����  �	 ��� ���
��	�
��+��������		�� �� ��� �
 ��

�
������� ;�5������	>

���� M
��

#'�!
�� � �� M

��

#'�!
@�� Q �
A �

��� 	
	��� *�������+��������		 ��� �	������ 1��	������ 
�
	
��� �� 
�
	
��� ��	 ��)����	

��� ��  � ��� 	����1������� ��� �
���	�������� &��������		�� ��� �8�/	 ���� �� ���� 7��

��� 2� ��%��( (� ������� -$������ '�%��(�� 1�������� -$������ ����%1��%��� ��� ��� ��������� -�����%��

�����
���� �� � �'��� ��%�����$�� ("�%#$�� ��������&��������� ��� �'%�������%E���%#$������ �%� ��#$�

("�� ��� ��� "��#$� 1�� ��� ��%��3�� ��#$�� �'������ ��� ���H&������� 1�� �� ���� ���#$� �'� ��� $���

'����(��� ���%������ �� ��� ���H&������� N� ��� N� %�"�� ��� -$������������%����� � %��� ������%#$ ���

��� �� J>K ��% ��� ���������������!����� 5�	�7 $�� ��������� ��������



>�8� ��� 	��O�H ��� �������#$�����!����� ��

�
��	 ����	�����>

������� M �� @�
��� �A Q �
@�

��� �A M
#'�!

��
��@�

��� �A �

< 6������	5 5� �P��	�1�� *�������+��������		 ������ �8���	 ��� �
 ��)����	� 	
	��� *���

�����+��������		 ������� ��� 1
� ��� $�������� �
� ��� � � @
��� �A ���

��$ ��� ���% & ��� ' ��	�����
�
�(�����

< &
9 ���	��	 ��� 
�
	
� ��� ���� ����	�8
� ���� &����� @57�� ��� ��� ���� �
7��

&����A= ��� ���� �
�
	������ ��� ������	����� ����	�
��
�
	
���	������ 7��� �� ����� 9
����

��� ��� ����	����� �	������ ��� ����	�
�� �� ���� ������ &����  �	 �� < ���������	���

� ��� 
�
	
�� ��	�����	���	� :���	 ��	����	�	 7����� ��� *������7�������� ��� &����� ���

	����������= ��� 5� �0�	� �	������ ��7��������� 1
� ��� $
��������� ��� &
9 �8������

���� ;����������� ������ *������7������= ��� ��� K�	���� "���	L ��5������	 7���= ������	 ���

&���	�����
 
�0�� �� @&H�A�

��� &H� ��	 ��� ?���	��
��� ��� �	����� *������7������� ��� ��	 ���� ����	�������� �����

	��
��� ��� �����	 ��� ��� �0  �	��������� 
�@�A� ;���������� ����� ��� &H� 7��� ���

*������7������ ��� ����� �B��	�������� &����� @��= �
7�= ���� = �	�����= 	
�= �
		
 A

��� C�7������� ��	�+����� ����� ��� ���	����� 1
� ���	 1������������ 6��
���= ��� �����

�
�
��� ��� &H�� 4���� ��� &����� ���� �� ���� 1������������ F��	8����� @�
	= ��8��= ����A

1
��
  ��= 7����� ��� ?���� @�
�
�A ��5������	 7������ ��� �� ��� :�	�� ��
����	����� ���

��
��� @;��0
��� ��� 9��
���A �������� ���� ?���������		�= ���� ��� ���� �������	���� �����

(�	����� ����8����	 ���� �� ����� ����������	 ��� &H�= ��� ��� �B��	��5 ������ ?���������

	�������� (������� 1�����	�	 ��� ��� K�
�
� �
�)�� ��	L @��������/ ��� ?����A ��5�����

��	 7���� 9��
��� ���� ��� &�������	�+�����F��	8����� ��� ;��0
��� ��� �����&�����

F��	8����� ��������	�

< 6������	5 5� ��� 
�
	
��� �� ��� &���	������	�
�0�� �� @&��A� 	����� ��� 6��
�

��� �����	 ?���������= �
 ��/ ��� ��	���������� 7������7����� @�����	�
������= ���� ���=

����	�A� ��� �����	� "
���+���5 ��� �����	�
������ ��� 6��
��� �����	 ���� ��� ����	�
����

���8��������	 ��� "
��������
��	��	�� ��� �	����� *������7������ !� 1
� �
� �� ��������	��

3������ ��� �	8
�����	��
��� I�J 5�>

!�@�
�A M

��'

@��� � �A ��@

�

�� A
�

7
���  � ��� F��� ��� &�����
�	�� �����	� V 7��� ��� �������������� �	�� ��� &H� ���

5������	= ������ *��	 ����	 1
� ��� (��
��� 1
���������	 7���= �
����� ��� �B���� ��	��

���� �	� �%� ��� �����$����� ��� ��������� ����%#$�� D�#$%��"����� � ��% 	�#$'�%�� ��� �	� �%� ��%

-$�����



�� .������ >� �$����� ��� �����%��%#$�� ������� 

�+
+

�

��
+

T+

��
�

�

���� ���
 ��!���� ���$�� ��� 2�����'%���$��� 5����%7< ����������E�����

-���'����� 5;����7 ��� 2����%��'%�������� 5�����2����������0< ��#$�%7 ��

��� ���

���	�  	 7�����  �/ @V � �-- 9�$ I�!JA�
����� 
���� ?
� �� 7��� ��� �� ������7��	� ����������	 ��� &H� �������8���	= ��� ���

K��0 �	
	����� ?������	L @��0 �	
	�� �����
 A ��5������	 7���� ?8�� ��
/� *��	� 1
� ��

7��� !� �����  �	 @��@�
�AA

��
= ���� ��� �� ��� ����
��� ���������� &����� �8
���� ��� K+����

�����L (������� ��	����	�	 7������ ?8�� ������ *��	� 1
� �� @�� � V�A 7��� ��� "
������

������� ���� ��
/� ��� *������7�������� 1
� &����� ��� 6��
��� �8
���� ������� ��� �8��

������ �� � V� � ��� �� ��� ���	����	�1�� &H� ��������	 7�����
� 9�	�� �	���� �
��	

��� 
��� ���������� 6�������� �8�� !�@�
�A ��� ��� %8
���� ��� ���
� �������������������

����� I�-J�

��� ;����������� ��� ������� ��� :����
��� ����� ��� &
9 ��	�8��	 ��� *������7������

��� &����� ����� ��� �	���� "���	 ����	� < ��� �� ��� &H� 7����� ��� 5��8�	5���� ����


�
5���� ���8�������	��	= �� ����� ��� &����� 6��
��� ���	������ @% � %*A 
��� 6��
��� ��

&�������	�+�����
���� �
�1��	����� @* � %T%A @���� ���= ����� ��� 9�		�A� ����� 
�
5����

�8����� �� ��� ;����������� ��� 	��)�����	������ ����	�
��
�
	
���	������ �
7
�� 5�� ;���

����� ��� ;CS�����������1�����	��� ��� ���� 5�� $����	5��� ��� H������6�
���;�5������� < 
8G������� 5� ;CS�����%� �� ���	 ��� &
9 ��� :8������� ��� ��� &H� ���1
��

��� ���	������� 1
� 6��
��� �8���	 � ;�5����0�	� �
��� 
�
	
�� ����� @��)��	�  
 ���

	� ��� �A 5� 	����1������� &����� ������= �
 ��/ ��� "
��������	8�	 ��� &����� ����	  ���

�	���	 ���	� ��� &����� ����� �� �	 ��� 98
��������	= ���� �� ��� 1
 ����	�
� �����	����	��

1��	������ 
�
	
���  �	 �
���	�������� 

������	�
� 5� �
�����= 7
����� ��� H������6�
���

;�5������ ����
���� 7���= �� ��� �
���	������� �	���	������	�
� �
 ����	 �8����� ����	����

:��� ��	� ��� &�������	�+�����
�����
���	�
� ��� 6��
��� �8���	 ��5�= ��/ ��� &���������	

��� 
�
	
�� ����	 ��� ��� ��� ���� �
������	�� $����5+����� ���	��	= �
����� ����� 5��8�	5�

������ ��	���  �	 7����� < ��������	�� @K���+�����LA ����	5	� *��	����� 1���������� ����

��� < ����1��	�������� ��� &����� ����� 6��
������	������� 5� ��������� *��	��� �� ���

��.8
�����1�� 8
��� ��� 
�
	
��  �	 ��8
/�� 7�������� *��	�� 1
� �� 78����	= ���8
�	 ����

	)�� �� A /: 2��� '���3� � �	5�
�7 � :�8�



>�9� ��% ���$����� '�� ������� D����� 1�� �� ��

��� *����������������	= ��/ ��� 
�
	
� �� ����� ��� ���+����� �
����	� ��� �	���	������	�
�

�� �	���	 �
 �	 ��� ������� *��	�� 1
� �= ��� ����� ��� 
�
	
� 1
� ���+����� ��� 6��
���

@7����� 
��	
���A �
 �����	 7���=  �	 �	������� �� �� ��� �8���	 ��� ��
/�� *��	�� 1
� �=

��� ����� ��� 
�
	
������	 ����� ��� $����5+����� ���	�  	 ��	=  �	 �	������� �� �����	

�� @;������� ��� ;CS�����������1�����	���A� ;�� ���	�� *��	�� 1
� �� �	���	 ��  �	 �������

7�������� *��	�� 1
� � �������� ��� 7��������� &��������	�� ���

?8�� ��� $���8��	��� 1
� �
���	������� 5� 	����1������ ���
��	�
��+��������		 + ���	 ����

"���	�� ��� ��� ���>

+ M
�


��
M

�


�� � �

M

�


����
�

�� �	 ��  	 ��� �
����	 ��P����	����� *�������+��������		 ��� ������	������ ����	�
��


�
	
���	������ ��� �
������ ?
� ��>

����	

�� ���
M
�'!�

�� �

�
�� �� Q ��

� Q+

�
��@���

�A �

��� �	���	������	�
� ��@���
�A ���� ��	�� $
������	5��� ��� "���	��� 1
� �
 �57� + ���

���� ������ 6�������� ��� �� �B���� ��	��� �� ������� *�������+��������		 �B	������	

7������ ��� ���8��������	 ��� �	���	������	�
� �� 1
� �
�= 7�� ��� � ����B���� ��	 ���

�� ��8������ �B���� ��	�� �� ����� 7����= ��	 �� ��������� ��� ������	���	� ��� ;�������

��� ;CS�����������1�����	��� ��	 �� ��� ��	�� ���	���� ����	����

��) ��� ������	�� ��� ������� ���	�� *
� ��

;�	����	�	  �� ��� ������	����� �	������ 1
� ����	�
��� �� 
�
	
��� 8���� ��� ���� 	��

���� �	������ ;������ 1
� �� � - 6�$� ��� 5� ���� �	������ %� �	 �� � �= �
 �
  ��

�� ��� ��0����������� ;����������� 57�� ����������� 1����������� "
�5��	� 5� (������

:�  	 �� *��	� 
������� ����� 6���57��	�� 1
� �� � # 6�$� ��= �
 �
 �����	 ��� �
���

����	� ���	� �	�����
5�/� ��� 
�
	
� 7��� ��� ����	�8
� ���� 6������ ���������= ��� �� ���

������	������ ����	�
��
�
	
���	������ �� ���� ��� "
��	�	���	�� ��� 
�
	
�� ���	���	

7���� ��� 5������� �������� (��
��� ��	 ��� ���	����	�1� &H�= ��� �������� ��� �������

����� ������� *��	� 1
� !� �	8
�����	��
��	����� �������� 8���� ��� *�������+��������		

��� �	������ ��� ��� �� ���8��������	 ��� �	���	������	�
��� ������	�

?8�� *��	� 1
� �� ��	������ ��� 
��� ������	�� 6���5� ��	 ���� �	8
�����	��
��	����� ;��

���������� �������� ��� 6�8
/� 1
� !� ����	  ���  8
������ <� ����� ���� �	������ ;������

 8����� ����	����	����	�1� "
�5��	� 5�� ;����������� ��� *�������+��������		�� ��� ���

�	���	������	�
��� ��� 
�
	
�� �������5
��� 7������

?8�� ���� ������ *��	� 1
� ��= ���� � 6���5���� �� � -= ���	 ��� ������	����� ����	�
��


�
	
���	������ �� ��� ;������ ��� �
������	�� 
�
	
��
���	�
� 8����� <� ����� ;������

7��� ��� �	������ �
 �����	 1
� K7������ �	�����
5�����L= ��� �	���� 8����������	��  �	

����
������
��*������7�������� ���7������



�# .������ >� �$����� ��� �����%��%#$�� ������� 

0

2

4

6

8

10

12

14

16

1 10 10
2

10
3

10
4

10
5

x=0.65

x=0.40

x=0.25

x=0.18

x=0.13

x=0.08

x=0.05

x=0.032

x=0.02

x=0.013

x=0.008

x=0.005

x=0.0032

x=0.002

x=0.0013

x=0.0008

x=0.0005

x=0.00032

x=0.0002

x=0.00013

x=0.00008
x=0.00005

x=0.000032

(i=1)

(i=10)

(i=20)

Q2 /GeV2

F
2+

c i(x
)

NMC BCDMSSLAC

H1 94-97 e+p

H1 96-97 prelim.

NLO QCD Fit

ci(x)= 0.6 • (i(x)-0.4)

���� ���
 ��� �'$3�� � ���� ��� ��������&������� �� 1�� �� &3�� 1��%#$������

D���� 1�� �� ��& ���� �� %��� ��� 
�%������ ��% �/�	0��������% (�%�����

��� ��� 	� �'��%%�� &�3�$���� 	0����������



>�9� ��% ���$����� '�� ������� D����� 1�� �� �'

��� #"�������������

G�	�� �� ;����P ��� 
�
	
��
���	�
� 1���	��	  �� ��� 
�
���	�
� 1
� ����
��� �� ���

�	������ ������� 
�
	
��� �� :����
��� �Q, � $� ;�	����	�	  �� ��� 6���5���� �� � -

�� ��� ������	������ ����	�
��
�
	
���	������= �
 ���	 ��� 	
	��� *�������+��������		 ���

1��	������ 
�
	
��
�
	
���	������ ������� @1��� "���	�� ���A �� ��� &��������		 ��� 
�
	
��
�

���	�
� ��� 8����>

��� M �� 

���

�
�� @�

��� �A
�
M �� 


���

�
#'�!

��
��@�

��� �A

�
�

��� �
���	������� ���
��	�
��+��������		 �
 1�����7����	= �� ��� 1
 ����	�
� � �		���	��


�
	
��� K+���� �������L H�����	�� ����� �� ��� �
 �	 ���� �
���	������� ?����
 �
����

	� 1�����7����	� ��� ��P����	����� *�������+��������		 ��� ����	�
��
�
	
���	������ � 

6���5���� ��� 
�
	
��
���	�
� �8�/	 ���� 7�� �
��	 ����	����� I�J>

��

��
M (��� ��� �

��� ?��/���	
� (��� ��	 ��� $��	�����������	�
� ��� 
�
	
��� � ����	�
� ��� ���	 ��� ����	�

��� 1
 ����	�
� �� ��� <�	��1��� �� �����	����	�� 
�
	
��� ����>

(���@���
�
���A M

!

�'�

��
� Q @�� �A�

�
��
@�� �A��

���

-�
� �

�
� �@�� �A

�
�

����� ��5������	 -� ��� 9���� ��� ����	�
��� ��� *��	 1
� �
�
��� 7��� ���	�  	 ����� ���

 �B� �� ������	�� �	���7����� ��� ����	�
����

��
 ��������
����������$�%�����

��� �	������ 1
� 
�
	
��� �� :����
��� 7���	 �	���� 8����������	��  �	 ����
������
��

*������7�������� ���� ���� ;����������� ������ �B���� ��	����� ;�
����	��� ������	 �����

��� ����� �= ��/ ��� 
�
	
� ����� ����� ����� ��� &�� ������������� F��	��� �����

����
������� ��	��� ����	5	 ��� ��� ������
��	�
� ������ K����	��L ��� ����
������� "
 �

�
���	�� ������	���	 7����� ����>

��� M ������� Q ������ �

��� ����
������ F��	��� ��� 
�
	
�� ��	 ����� � ��� �� ��� ������������8���� �����

?���	��	�
��� ��� 
�
	
�� �� &�������	�+�����
���� �������= ��� ��� &���	��5����� ���


�
	
�� 	������

��� $��	
� ��
���
 ����5�9
���� @$�9A ���	 1
� ��� ����� � ���= ��/ 5�� ����
���

����� "
 �
���	� ��� 
�
	
�� ��� ��� ���� �����	��	�� $��	
� ��
��� .�� / ��� � ���	�����

�
��� ��$� ��� 1�� 	������� �� ��% �����1��� �� �' �%���$���� -$������ �%� ��C����� ���#$ ��� A ��
� ���



�� .������ >� �$����� ��� �����%��%#$�� ������� 

��� ��� *������7������ �� 
�
	
��:����
������	�
��� ��� ��� *������7������ ��� ����
�

������� ��	���� ��� 
�
	
�� ������	� ��� 68��	�����	 ������ ����� � ��	 ��� �������= ����� ���

����� ��� *������7������ ����� ��	 �����8���� ��� %���������� ��� ?���	��	�
� �� � �����

���� � ��� �� ��� G����8��������	�
� �������8�	5	 7����� ��� ��� ��P����5 ��� �������

��� ����	�� 
�
	
�� ��� ��� ������� ��� ��
��5���	�� $��	
� ��
��  �	 ��� 9����&� ���

�� < ���� ��� ����	�� 
�
	
��>

�� � � � 	 %
�� Q&�

�

�

��� ����
������ ��	��� ��� 
�
	
�� ��	 � ��� �� ��� $�9 ������� �����>

������ �
�

� �������

�

(�

	
&�

�

�� Q&�
�



�0 � �

��� �	8���� ��� "
������ ��� 
�
	
�� �� ��� $��	
� ��
� 7��� ����� (� ���������� ������

���� 1
� ������ ����	������ ��� ����
������� 
�
	
���	���� ������ ������ ���� ��� 	����1���

���� ��� �
���	������� ���
��	�
��+��������		 ��� ������	������ ����	�
��
�
	
���	������

����������

��� &�!!��"�����

��� �����	��
��� ��	 ���� (��
��� ��� ����0	������ ����������	�� ��� �	���� ���	��� ���

?���	�
� ��� ����� ������ I#= �#J� <� ������ (��
���= ��� ��� ����� �� ��� �
 ���B� �����

�
�	����	5	�� 
��	���7�����5�������� ��� �	���� ���	��� �����	= 7����� ����
������ �	����

����	�
��� ��� ��"��������	����� 1
� (�������  �	 1������������ ����� ������ ���������

���� (�8��	  �� ��� ����� ���� ����� ��� *��	 ��� 9������	� �$�������� � ���= �
 ������

(�������  �	 �������� ��	����� &���	��5����� ��� ����� 6������= ��� ��� ������(��C��	
���

��5������	 7���� ��� 	
	��� *�������+��������		 ����� ����
������� �	�������	�
� ��	 ��

����� ;��� ������� �����

����@�A �
�

 
1 @�A �

!������ �

7
��� ! @-A ��� �����		����	� ��� ������(��C��
����  �	 ��� ������� @<�	��5��	A ��� �

��� &�����	 ��� ���7������	�������� ��5������	� �� ��� <�	��5��	� 1
� ����� ������	��

(��C��	
���� �B��	�������� (������� *��	� ������� ���� ����	5��=  8�/	� ��� 	
	��� *��������

+��������		  �	 5���� ����� ���7������	�������� ����� ��= 7�� �� $�����	�� � �B���

�� ��	 �� ������� ��	�� ���	���� 7����������	��� F�� �������	�����	��� ��� 9
����� 7����

���� (��C��	
���  �	 ���� <�	��5��	 �	7�� ��8
/�� ��� ���� ������8���	= ��� ���� 

 ��������

��� :� �� 

 ��
��(��C��	
��� ������	�

����#$ ��%��� ����$���< ��� ������ D����� %E���%#$���� �3�$��� %�#$ ����� ���%������ ���� �����'$3�� ��

 �� D��� ��< (�� ��� ;�%%�� �� '�� $3�$���� �#$"�������%���� ��� %������%%�� %� �� ����� �������� ��%��� 

��% D����� %E���%#$����%�



>�9� ��% ���$����� '�� ������� D����� 1�� �� �2

< �
������� 7����� ���� ��� ��� �����	��
��� ��������� 9
����� ��� ��� C�7������� 
��

�� �	����������� ��� 
�
	
��	���	������	�
� ��@���
�A �8�� ������ < ����8����	�8��� �� ���

������ *��	� 1
� � 1
����	���	�

��������� ��� �������� �����

<� �� 9
���� 1
� �
������� ��� %�����
P I'J 7����� ��� <�	��5��	� ����� ������(��C��	
�

���� ����� ����� �P��	�1�� �����
��<�	��5��	 ����	5	� ��� ��	
��� 5���	��= ��/ ���� ���

	
	���� *�������+��������		� �
7
�� 1
� ����
������
��*������7�������� ��� ���� ������


�
	
��
���	�
������������� ����� ��� ��  � 1
� 57�� (�� ��= �� ����� �����
�� ���

�� ����� 

 ��
�����	�������= ����������� ������>

���� M $ �"� Q 2 �"� �

 �	 ��� "
��)5���	�� )� M !#$ @-A� � M -� -, ��� )� M !#%@-A� � M �-� #'�
������ ����	5 7���� ��� ��� ;������ ��� 1��	������ 
�
	
��
�
	
��	������ ���������	= ���

��� �	���	������	�
� �� ��	 ������� �����>

��@���
�A M (�@�

�A ��"� Q (�@�
�A ��"�  �	 ( @�

�A M 1 

	
��

�� Q 3 


��"�

�

<� ���� ��	��������	�� ����	5 I�J 7��� ��� ��  � ��� ���		�� (��  �	 )� M -� ## ���5��

���8��	= ��� ��� ��	
��� ��� ���	����� ����� K���	��L 

 ��
�� ��	�����	�����>

��@���
�A M (�@�

�A ��"� Q (�@�
�A ��"� Q (�@�

�A ��"� �

��
����� ���������  ����� ��� !��� !��� "�� ��� !��

�����
 7�� ��� 9
���� 1
� �
������� ��� %�����
P �����	 ��� 9
���� 1
� H������= "���

���
1= 9����
 ��� (��� (��� $�� I�J ��� �� ���	����� ����� �����
�� ��� 

 ��
��� ��

7��� C��
�� ����	 57������ ���� 7������ ��� ���	�� 

 ��
� ��	����������� �	�		������

����� ��� ��	
��� 5�� 
��� �	��������� ��� �	���	������	�
� ��@���
�A 1
� ������8�������

"
�Æ5���	�� ��� ;CS�����������1�������� � ���>

��@���
�A M 1����
��@�� �A&�


����

	
��

�� Q 3


����
��

Q4 ���!��@�� �A&�

��

	
��

�� Q �


!��

�

7
��� ��� "
�Æ5���	��  @��A ��� D@��A ������� ���� �����>

 @��A M
�

�

	
� Q

��

�� Q �



��� D@��A M D�

	
� Q

���

�� Q �



�



�, .������ >� �$����� ��� �����%��%#$�� ������� 

#$��	�%���� ������ ���� ���  ��� �#�� ��

��� 9
���� 1
� ���� 
7��5= %�1��= %�10 ��� 9�
� I�J ������	 ��� ���� ����������	5=

��� ��	�� ;��8�������	����� 1
� $
��������� ��� &H� ��� ��� ;������ ��8
/���� *��	� 1
�

�� ��7��	��	 7����� �� ����	 ��� ���� 	�� ���� �	������ �����;������ ��= ��	�8��	 C��
��

���	����  ��� 
��� �	�� ��� ��� ������� 9
������ ��� �	���	������	�
� �� ����	5	 ��� ?
� >

��@���
�A M

��

�� Q-�
�

�
� #$
� @���

�A Q � #%
� @���

�A
�
�

7
��� -� ��� �P��	�1� 
�
	
� ���� ��5������	� ��� ?���	�
��� � #$
� ��� � #%

� �����������

��� ��	���� ��� 

 ��
�� ��� �����
�����	�������>

� #$
� @���

�A M �#$ @�A �
��� ���
#$ @�� �A��� ��� �

� #%
� @���

�A M �#%@�A �
������
#% @�� �A������ �

��� ?���	�
� � ��	 ����� ������� �����>

� M ��

�
��


��
�

�

��

��

�

�

��

�
�

V ���	 ��� �������������� �	�� ��� &H� ��� ��� ������1�������� �#$ ��� �#% ��	���	��

��� 
��� �	�� -#$ ��� -#%= ��� ��� �P��	�1� 

 ��
�� ��� �����
��9����� ��	�����	���	

7�����= �
7�� ��� 9���� ��� 
�
	
�� & >

�

�#$
M � Q

� � �&�

�� Q-�
#$

���
�

�#%
M � Q

� � �&�

�� Q-�
#%

�

��+ ��� 
������� �������� ��� �,'�����	�
��	���

<� "���	�� ��' 7����� 1����������� ��8��
 ��
�
������ 9
����� 5�� ;����������� ��� ������

�	������ �	������ 1
� ����	�
��� ��� 
�
	
��� � ;������ ������� < ����8����	�8��� �� 1
��

���	���	� F�� 8G�����8����� ��� $
��������� �
����� 9
����� ���  �	 �� ��	5	��������� F���

����� �
�	������������ ;����������� � ���� 	�� ���� �	������ ;������ 1
� �� M - 6�$�

��� 5� ���� �	������ %� �	 �� � � ���� 7��	��� �B���� ��	���� 9�������� ������
�����

� 8G��������������� 57������ 
�
	
��
���	�
� ��� 	��)�����	������ �	������ �
	7������

;�� 5� ������ ��� $%&�����	�
 �	��� 7���� ��� 
�
	
��	���	������	�
� �� �57� ��� 	
	��

�� *�������+��������		 1��	������ 
�
	
��	������ �� 
�
	
��� ������� @1��� "���	�� ���A � ���

�B���� ��	 � ;������ ��� 
�
	
��
���	�
� �
7�� � 8G��������������� �8�� *��	� 1
� ��


������� 1
� -=�' 6�$� ���	�  	� <� ���� ��# ��	 ��� 	
	��� 
�
	
��
�
	
��*�������+����

�����		 ��� ?���	�
� 1
� � � ;������ ������� < ����8����	�8��� ������	���	� ��� ����������

��� ����B���� ��	� ������� ��� �� ��� 4����� �!!# ��� �!!' �� ������� ��	���



>�P� ��� -$�%������'����#$ ��% ����������������% �!

�
to
t

�
�

p
��
b
�

W �GeV�

���� ���
 ��� ��� ��� �/������ ��� Q�$�� /LL8 ��� /LL9  ���%%��� ������

����D����� %E���%#$���� (�%����� ��� ��� 	� �'��%%�� ��� ��0������ ���

	0��������� 	PP9 ��� �;�� ��%3��(��#$ �� � �'�� %��� ��� ���$��%� �� ���

;������ 1�� �����#$�� ��� ����%$�* 5�G��7< �'����"�#( �� ��� 5���;7

��� )������ ��� ."��#��%�� 5).7< ��% J/@K�



#- .������ >� �$����� ��� �����%��%#$�� ������� 

10
-2

10
-1

1

10

10 2

10 3

10 4

10 5

10
-7

10
-6

10
-5

10
-4

10
-3

10
-2

10
-1

x

Q
2  (

G
eV

2 )

y HERA
 =

 1

y HERA
 = 0.005

H1 94-97 prel.

H1/ZEUS 1994

H1 SVTX 1995

H1 96 ISR prel.

H1 97 prel.

H1 VLQ

NMC

BCDMS

E665

SLAC

���� ���
 ��� ��(�����( ��% �/���������% �� �����-$�%������ �� ��� ���#$

(� ��0������ ���	0����������� ��% ���������������� ��"������ ��� (� 3�� �

��#$�� -$�%������ (� ������� �� ��� ������� ��

��� $%&�����	�
 �	�� �� 8
�����	 9�������� �8�� < ����8����	�8��� 1
� �� � -� -� 6�$�

��� �� � -� # 6�$� ��� ��������/	 �
 ����� ����� ���� �	������ ;������ �8�� ��� ����B���

�� ��	� <� I��J 7���� �� ����� ���	�� 9������ ��� �	���	������	�
� ��@���
�A  �	 �� $%&�

����	�
 �	�� �8�� < ����8����	�8��� 57������ -� �� 6�$� ��� -� �� 6�$� ���	�  	�

��� ��5��	��5 ��� �����	��	
�� �� ��� ���� �	������ ���������� �
7�� ��� ������� ?�B���

(����	��B���� ��	� ��	 �� ���� ��' ���������� ��� 
�������� ������� ��� $%& ��	 ���������

�����5������	� ��� ����	������ 1�������������	 ��� ��7��	����� ��� ��5��	��5�������� ���

����B���� ��	� 5� ������� < ����8����	�8���� �� ��� ������� *��	�� ��� ;CS������������

1�������� � ����� ��� ������ ��� $%&�����	�
 �	����

��- ���
��	� �	�
� ��� ������	������ ���������

��� �� ��� 	��
��	������ ;����������� ��� ������	������ ����	�
��
�
	
���	������ ����	5	��

���� �	������ $�������� ��� �� � ��� � � �������� ���� ����	�1��	���� ��1�����	� ����	������

��� 7����� �
��	�����	 ��� ��� $������ ������ ��� �� ��� ����	�
� ��	�����	�� (�������



>�@� 
����%�������� ��� ��������%#$�� �����'��� #�

@1��� "���	�� ���A� ��� �������� �� �	 ���� ���5� ��� ��� 
�
��� �	�� ������/	�  �	�� ��

	����� ?
� ��������= ���� C��
�� ��� �B���� ��	����� 9������ ����	 �����	 5��8������� ���

 8����� ��� ���  �/����� 6�8
/�� ��������	 7������

;�� ���	�� ���7������	�������� ��	 ��� "��� �	�� ��� ������	������ ����	�
��
�
	
���	������

������	�� ����� 57�� $�������� ���	�  	� ��� ������ ��� �����	��	
�� ������	 �
7
�� ���

9������ 1
� ������� ��� *����� ��� ���	���	�� ����	�
�� ��� ���� ��� 9������ ��� �������

�� ��� �	���7����� ��� (������� ��� ����
������� ���5��	������ �
 �	 ������� ���� �����

"
 ����	�
� ������ 1��� �����8����� �� ������� 6�8
/�� 1����������� 9�	�
���= ��� ������

������� �	�� 5� ���
��	�������� ��� 6���������	 ��� ���
��	���	�
� ��� ���� �	������ $��

������� 1������	 �8�� 1����������� ���� �	����� ;������� ��	������������ �8�� 1����������� 9��

	�
���= �� ��� 5������� ��������� 9�/��8
/��  �	 ��	�������������� 6���������	 ���	�  	

7������

< �
������� 7����� 57�� ���  8
������� 9�	�
��� 5�� ���
��	���	�
� ��� ������������ ��

	�� 1
����	���	�

��� '��������%��"���

��� ����	�
��9�	�
�� ������	 ��� ��� 9������ ��� ������� � �

� ��� ��� 

���7������ ��

��� ���	���	�� ����	�
��� ��� F���  ������ 57������ ��� �� ������� 6�8
/�� ��� ���

���� �	������ $�������� �����	 ���� 7�� �
��	>

��
� M ����

�

�@� Q �
� ��A �

�� M �� � �

�

���
@�� �
� ��A �

�� M
��

�

�� �
�

�� ��5������	 ��� ������� ��� ������������ ����	�
��� ��� ����	�
��9�	�
�� �� 8
�����	 ����

���� ������ ;��	�  ��� 1
� ��� ;�� ������� *��	�� 1
� � ��  	 ��� ����.8
���� C��
��

�	��� ��� ���7��	���� ��	 ����� 9�	�
�� 5�� ����0�� 1
� 
�
5�����  �	 ��������� �	�8
 ��

���������	= �� �� ���� ��� �� ������������ %��	
� � ��� :��	���
 ������	= ��� ����	

��	��	���	 7����� �����

��� (�)*����+�������%��"���

;�� ��� 4��+��	�;�
�����9�	�
�� 7����� 5�� ���
��	���	�
� ��� ���� �	������ $��������

���������/���� ��� 9�/��8
/�� ��� ����
������� ���5��	����� 1��7����	� ������8���	 7���

�� ����� 9�	�
�� 1
� ?� 4��+��	 ��� �� ;�
���� 5�� ���
��	���	�
� ��� "��� �	�� ���

��� ����0�� ������	������ ����������  �	 ��������� �	�8
 ��� ��� ���� �	������ $��������

������� ���� ����� 5�>



#� .������ >� �$����� ��� �����%��%#$�� ������� 

��
�� M

@



� ����A
� Q @



� ����A

�

�� ���
�

��� M



�@�� � �'��A

���
�

��� M
��

��

��� �
�

��� ��  �� ������ 8���� ���� � ��	��	
� �� ������� < ����� ��� �������� ��� (�������

��� ����
������� ���5��	������ ��� ��.8
���� ��� 4��+��	�;�
�����9�	�
�� �� ��� ;��	� �

 ��� ��� 6�8
/�� �� ��� � ��	 � $�������� 5�� ����	�
��9�	�
�� ���������

:���� ��� ���� 1
����	���	�� 9�	�
��� �8
���� 5�� ���
��	���	�
� ��� ���� �	������ $��

������� �
�� ��� �
�����*������ 
��� ��� ��� ��9�	�
�� ����	5	 7�����= ��� ��� C��
�� ��

������ �	���� ����	 ������� ����������� 7����� �
���



�����	� !

�
	���������������

��� F��� ��� �B���� ��	����� 
�0��� ��	= 	��
��	����� 9
����� ����� ��� $�������� ��� ���

������	�� *��	� ����� 3����1�����  �	 ��� �� ������� 6�8
/�� 5� 8������8����� F� �����	��

$�������� ��	 �� �
	7�����= 1
� ��� ����� ����� �������� ����� ��0����������� (��
��� ���

�
����	� $
��������� �� ���� ���5������ �B���� ��	 5� ������/��= � �
 ��� ���.�/ ���

9�/������	�� ��� ��� 1
���������	�� *��	� ��� 9�/��8
/�� 1���	���� ��� �
��������� 5�

�8
����� �����  8����� ����	�8������� ���  ���	 ���������8���	� ��5��	��5������� ��� ���

�������� ��.8
���� ��� ��	��	
��� �
7�� :���7���� ��� �����	�
���Æ5���5�� ���8�������	��	

7������ *��	����� 1���8������� G�	�����������������= ��� �������� 8��������� �����	�� � ���

	��	
�  �	 ��� ��	�� �����	���	 7�����= ��� ���������

G ��� ���.�/ 1
� 9�/������	�� ��� G�	���������
5����� �	������� 5� �8
����= 7�����

 �	 ����� � ����������� �
�	7�������	� ��� ��	����	�	�� ��0����������� 
�
5���� ��� ���

��	��	
���	7
�	�� �� �����	� ��������/��� ���� ��� �����	�� ��� �� �����	�� ����������  �	

��� 1
� � �B���� ��	 �� ������� ��	�� 1��������� ��� 5�� "
����	�� 1��7����	 7������

��� �� ���	�
� 1
� ����������� ��	��	���	 ���� ��  ������ �����		�� F��8����	 7�����  �	

����� ����� 9
�	��H���
�6�����	
�� ���������� ��5���	� �� �B��	����� 1����������� ���������

������	
���= ��� �8�� ��	������������� ��0���������� 
�
5���� 
�	� ���	 ���� ��� ��������� ���

��� C�7������� *�������+��������		�� ��� $�����1��	
��� ��� ������������ (������� �������

���� ����� 7����� �	8
�����	��
��	���� ����	 ������������ 
�
5����= 7�� ��� 8G������� 1
�

&����� ��� 6��
��� 5� ����
��� @?��� ��	������A=  �	 ����� ��8��
 ��
�
������� 9
�����

�����8����	�

<� ��� ��������/����� ��	��	
��� ���	�
� 7��� ��� ��	7
�	 ��� �����	��	
�� ��� ��� ���

5���	�� ���������� �� �		��	� ��5� 7���  �	 ����� ��� ����� ���	�
���
�	7��� ����	 ���

��������� ��� ��������	�� (������� ����� ��� ��	��	
� �	����� �� �����	 ��� ��� ������

�
������� ������� ��� ���5����� "
 �
���	�� ��� �����	��	
�� ��������	�

:��� ��� ��	��	
��� ���	�
� 7����� ��� ���������� ����
� 5� ��� � ����B���� ��	 ���

 �������  �	 ����� ��� ���
��	���	�
����
���  �� ����� ���
��	�����	 ��� ���� �
 �����	

1������������ ����� $�������� ��� ��� ��� �� �����	�� ��	�� ���
��	�����	�� 6�8
/��  �	 ���

#�



## .������ F� 	��� ��%%���������

��������	�� $�������� �8
���� ��� ���.�/ ��� 9�/������	�� �
7�� �����	�
��� ��� :����

7����Æ5���5�� ��� ��	�� ���	�  	 7������ G ��� ���.�/ 1
� G�	���������
5����� ���

��� $��	�������� ��� ��	�� �	������� 5� �8
����= 7����� ���� ����� �� �����	= ���
��	�����	

��� ����	���� �����	���	� ��������/��� ���� ���� "
����	�� ��� ��	�� 5�;� ����� �	�	��	�����

���	���	�
� ��� G�	�������1��	�������� 1
����
  �� 7������

< ��� �� ��� ���������� ���	�
� �	���	 ��� ��	��	
��� ���	�
� ��� ������5��	���7������

�	�� (��� ���� ��� ����� ���	�
���
�	7��� ����	 ������	 ��� �� 
�
���  ����	 
���
= ���

��	�� ;��8�������	����� ��� 6�
 �	��� ��� ���5����� ��	��	
��
 �
���	�� ���� ��	��������

	� ��	��	
��� ���	�
� �� 8
�����	� ����� 7����� (�������������� �� �� ��������
�� �	���

���� �� "
�5��	 ��� ����1���
����� �� �����	� ��� ������ �8� 	������ ������8��	�������

7����� �����		7���� ����� ��� ��	��	
� �	����� 1���
��	 ��� ��� *������7�������� ��	��

;��8�������	����� ��� ����	�
��+��������		� �	�	��	���� �� �		��	= ��� ����  ��� ��� �������

�������	 ��	� ��� ������5��	 �	���	 ��� ������ 9�	�
�� �������� ��� 7��������� F��� 1
�

������8��	������� ������  �	 ��� ������� ��� 
�� 8��	������� ���

F�� �����	�
� ��� ������5��	 7��� ��� �� ���	�
����
���  ����	 �� ��� ����� � �����	��

 
��� �����
 ��	������= 7
����� ��� ������������� 6���������	 ��� �� ���	�
�����7���

�	��� 1��������	 7���� ��� 7���	���	�� $�������������� ���	���� ����� �� ����	5����� ���

	�������	�� ��	��	
��	���	���� ����� �
 
����� 9�	����� ��� �� ��� ;����������� ��� �����

������
��	�
� ����	�
 ����	������ ������� ����� ���� �	������	� �����������	�1��	��������

I�-J� ���7��	���� 7����� (�������= ��� ��� $
�� �� ����� �������5���� ����	  ��� 1��������=

����	 7��	�� 5�� ���������	7������� �������5
���� ����� (������� 7����� 	�� �����	 ���

���� ������� 1
���	8����� �� ��� 5����8
����� F���� ���
����	� ���� (�������= ��� 5�� ��������

���
��	�
� � "��
�� �	�� ����	  ��� ���	�����= 7����� ����	 7��	��1���
��	� ����
������

������� �������� 7����� ����	 ���� �	������	 ��� 7��	����� 1
���	8����� �� �����	= �� ����


��� �	��������� ����� 5���������	�������� ���������� ������	� ����
�� 7��� ���� ��� �� ��

��	�
� ����
������� ������� ����� ��� 1���������	� ;����������� ��� 6�
 �	��� �����������	�

��� 1
��������� �����	 ����/	 ����  �	 �� $�������� ��� $��	�������� 1
� �� �����	�� ���

 �	 �� $%&�����	�
 �	�� �� ������� ��	��� <� ����� "���	�� 7����� ��� 5�� ��5���

���� ��� �� �����	�� ���������� 1��7����	� 6�����	
� 
�34�( I!J ��� ��� ���	 ���� �!!!

�� ��� ����� ���	�
���
�	7��� ����	 ��	������	� ��	��	
��� ���	�
� ��� $%&�����	�
 �	���

I��J 1
����	���	�

#�� ��� ��������������	
� 
�./�0

��������� 1
� ��� �� "���	�� ��� ������������� <�	�����	�	�
� ��� ����	�
��
�
	
���	����

��� ��� �	������ ����� 1
 ����	�
� �����	����	�� 1��	������ 
�
	
�� � 
�
	
� �� �����	

��� ��������������	
� 
�34�( I!J ���� 5� 	
	���� ����*�������+��������		 ���	��������

"
 �
���	��� ����� 7����� �
7
�� 7����� ��� ���� ���	� ����
������ 
�
5���� ���8��������



F�/� ��� 	��� ��% �������� -�GQ	� #'

�
0

# #

0�

�
0

# #

$�

�
0

# 2

0�

	
0

# 2

$�

EL GD PD DD

���� ���
 ���� .��%%�� ��*�����1�� -��(�%%�� 	�
 E��%�����%��%#$� �������

��%���-���������< 2�
 ��%%�(������ ��% -$����%< -�
 ��%%�(������ ��% -���

���%< ��
 �������� ��%%�(�������

	��	� ��� ;����������� ��� 7������ 
�
5���� ���
��	 ���� ���8�	5�� ��� ��8��
 ��
�
�������

�����	��
���= ���	� 
�
5���� 7����� ��������� ��� ��� ���	����	�1�� &H�  �	 9�	��B����

 ��	�� �� �8�������� 3������ ��������	� ��� �� ���	�
� ��� 
�
	
���.����� ��	 �� 
�34�(

��	������	� ��� ����
��������� 7��� ���� �� �	�����?��� ��	�	�
���9
����  �	 ����� ���


�
���  � 4�(��( I�#J ��������	� ��� 	
	��� *�������+��������		 ��	 ����� ��� �� "����

	�� ��' ������������� H"9(�9
���� ��������

<�������� ��� ��������������	
�� 
�34�( 7����� ��� 5� 	
	����*�������+��������		 ����

	�������� 
�
5���� �� ������� 	 ���	 1����������� ��������������� ��	��	���	 @1��� "���	��

'��A� ����� 7��� 57������ ��P���	�1�� ��� ����	���P���	�1�� 
�
5����� ��	�����������

<� ���� ��� ���� ��� 1��� 7���	���	�� ��P���	�1�� 
�
5���� ������	���	>

� +���������	����� $��	
� ��
��
�
���	�
� @�%A> � �� 0 �

� ����������P���	�1� ����
5��	�
� ��� 
�
	
�� @6�A> � �� $ �

� ����������P���	�1� ����
5��	�
� ��� 
�
	
�� @
�A> � �� 0 2

� �
����	���P���	�1� ����
5��	�
� @��A> � �� $ 2

;�� ��� �� ���	�
� ����	���P���	�1�� 
�
5���� 7��� 57������ �����	�� ��� ������8
�	�� 
�
�

5����� ��	�����������

F� $��������  �	 ��� ��	�� ��� 5�� ;��	�  ��� 1
� :���7���� ��� �����	�
���Æ5���5��

7����� ������� 	 ��'--�--- ���������� �� �����	� ��� 
�������� ������� 7���� ����� ���

*��	� -� --�6�$� � �� � �� -6�$� ��� � 5 -� --� ���������8���	� �������� ��� �	�����

���	���� ��� *�������+��������		� �8�� ������ *��	� 1
� � 7����� ���� ����������  �	 *���

	�� � � -� -'  �	 ���� ?��	
� 5��� ��7���	�	= �
 ��/ ��� C���� 5���	� �������� �� ����� 

���� �	������ ;������ 	�	�8������� �� �����	 7����� G�	�� ;��8�������	����� ��� 6�7���	���

�����	 ���� ���� �P��	�1� F��� 1
� �����#�#�- ������������ ;�� ���� ���� �� H"9(�9
����



#� .������ F� 	��� ��%%���������

���� ���
 ��������%�#$� ��% ����������������% ��� ��% ����C(������ ����$��

��$��% 5������2��������7�

��������	�� 	
	���� *�������+��������		 1
� �-�,', �� � ��	����	�	�� 
�������� �������

�����	 ���� ��� ��	������	� %� ��
��	8�	 ��� �� �����	�� ��	�� 5� ���� M ���� ��
���

#�� ��� ��� ��	�
� ��� �,'�����	�
��	���

��� �� ���	�
� ��� $%&�����	�
 �	��� ��	 ���	 $����
� ��-!W-, ��� �	�������
 �
���	�

�� ��� ����� ���	�
���
�	7��� ����	 � ��� ��	���	 ��� ����	 ���	 $����
� ��-!W�, �� �����

1
����	 ����8��	���� ?������ 1
�� ��� "��
�� �	�� ��� �����0�	� � ��� $%& 7����� �� ���

�� ���	�
� �����8����� 1
��������� ��������	� ���� ����8�������� ;����������� ��� �� ����

	�
� ��� $%&�����	�
 �	��� ��	 �� I��J 5� )�����

;�� ��� �� ���	�
� ��� "��
�� �	�� 7��� 57������ �� ��	�������	�� ��� ��������� �����	��

 
��� ��	����������� < ��	�������	�� �� ���	�
�� 
��� 7��� ��� �� "���	�� ����# ���������

���� �	���	�� ��� ��	�1�� 9�	������= ���	����� ��� ���
�������		�� ��� *
���� � *����

���  �	 ������	�� ��� �5��	����	
��	8����= ��8�5��� ���8�������	��	 ��� ��� 1
���	8������ 
���
�

�� ���	�
� ��� (�������������� ��������8���	�

< �����	� 
��� �����
 �������� 7����� ��� "��
�� �	�� 
���� ����������� ��� �	����

	���
�� "8��	�� ���	����� ��� ����� �
 
����� 9������� 1
� *
���� = �5��	����	
� �	�����

��� 
������ ��� ����������
��	�
� ����	�
 ����	������ ������� 7��� ���� �	������	� ���

	
	� 9�	����� ��� "��
�� �	�� 
����= 7�� *������8������������� ��� "��
�� �	�����8����=



F�>� ��� ���������� ��% ����������������% #2

7��� 7��	����� ��	�������	 ������������ ��� �� ���	�
� ����	�
 ����	������ ������� �����	�	

� 9
��� �����
 �����8��� �� �� ��������� ��� � ��	�������	�� ?���= ����
������ �������

7����� �������� ��� 1���������	�� ;����������� ��� 6�
 �	��� �	7� �
����	 �
 ������� ���

 �����	�

:���	 ���� ����������	�� ��� ��	��	
���	7
�	�� ��� $%&�"��
�� �	�� �8
����  �	 ����� ���


�
���  ����	� 
���
 �� �����	 7������ ����� 7����� ��� 8G����������� ���������	�� "��

�
�� �	�����8���= 1��������	 ����� %���		���� ����
� � 	���������	�� "����� 57������ *���

����8�������������� ��� 
�
	
��
���= ��� �����78������ ��� %���	� �� ��� �5��	����	
��	8����

��� ��� �������� ��� ����������8��� ���5���� ��������	�

��� �� ��� �� ���	�
� ��� $%&�"��
�� �	�� ������ ����	 ���8�������	��	�� �P��	 ��	 ��� ����

	��	�� 1
� �����������  �	 ���������
���(��P���� �� ���� ���� 5�1���8������ �� ���	�
� �
�����

���������� ���� ���7����� ���	��	�	 ��� ���������
���(��P�� 1
� ��� ���
��	���	�
���
�	7���

�Æ5���	 ��� �����	 7�����= 7���� ��� ��� �� ���	�
� ������ ���������� 1��5���	�	�

��� 1
� ��� �� ���	�
� ��� "��
�� �	�� �����8������ �� ���	�
� ��� �����0�	� � �������	�	

���� ������ ;����������� ��� 6�
 �	��� ��� ������	 ��� �
�	����= ��� �8�� ��� �� ���	�
�

��� H�( ����	5	 7����� @1��� "���	�� �����A�


�
��� �	���� ��� ��� �� ���	�
� ��� $%&�����	�
 �	��� ��7���	 ���� ��� ��58������ ���

������� ��0  �	������ ��
������ ��� 9
���� @1��� "���	�� #�#A= ��� ����� ��� ��������

��� "
 �����	�
�� ����	�� ��� ��� ����� �����	��	�� �	�����
��� ����8��	 7����� �����

G ��� ���.�/ ������ $�����������= ����� ��� ���� ��� 
���� 9
��� 7����	���� �8���� � 

�	���� ��)���	 ��� ��� ��	���= 5� ���8�������	����= 7���� �� ��� �� ���	�
� ��� 6�
 ��

	��� ��� �	�����
���� � ;������ ��� $%&�����	�
 �	���  
��)5���	� G�	�� ;�������	���

��� ����	�����������	� � "
 �����	�
�� ����	�� ��� � <��	�� ��	���	�� ����� 7���

�� ��� �	�����
�� � ;������ ��� $%&�����	�
 �	��� � ��� �� I��J �� �		��	�� *��	 1
�

-=2� � ��������	= 7
����� ���� C��
�� ��� ?�8���� ��� 
����� ���	��		�����	��� ��� �	�����

�
��� 1����8
/��	= ��� ��� ��	���� �������� 1���������	� <� ���� ��� ��	 ��� ���	��������	 ���

$%&�����	�
 �	��� ��� ���  
��)5���	�� �	�����
��� �� ��� ��
 �	������� ;�����������

��� �� ���	�
� ������	���	�

����� ��� ����
������

G ����� ���.�/ ��� H���	�����
��	� �� ��� ���
��	���	�
���
�	7��� ���5�������/��= 7���

��� ��� "��
�� �	�� �� ��� �� ���	�
� ��� $%&�����	�
 �	��� �����8������� ��������� ���

�
��������� ���������	� ��5� 7����� ��� 
��� �	�� ��� �� ���	�
� �����	 ������	���	= ��/

����	�
���= ���  �	 ����� ������� 1
� �2 6�$ 5��	��� ��� ��� $
�������	� ��� "��
�� �	�� 
�

���� 	��P��= � 9�		�� ��� �
�������� 1
� ��������� �2 6�$ ���
������� �� ��� ���	��	��

1
� ���������
���(��P��� �
7�� 1
� �����������= ��� �����  ������ (������� ������5��	��

�� ���� "��
�� �	�� 
��� ������7����� 7�����= ��� ��7������ ����� H���	�����
��	� ��

5�� ����������
��	���	�
� ��������	 ���
����	= ��	 ��� ����1��	� 6�8
/� 5�� ;����������� ���

����	�
�������� ��� ������� ��� ���
��	�����	�� H���	��� G ���� 5�1���8������ ;�����������



#, .������ F� 	��� ��%%���������

-0.1

-0.05

0

0.05

0.1

5 10 15 20 25 30 35

ERoh [GeV]

(E
R

oh
-E

C
lu

st
er

)/
E

R
oh

oberes Modul

-0.1

-0.05

0

0.05

0.1

5 10 15 20 25 30 35

ERoh [GeV]

(E
R

oh
-E

C
lu

st
er

)/
E

R
oh

unteres Modul

���� ���
 ��� ������1� �'"��#$�� ��� ���%������� �� 1�� ��� 
�$���� �� 3�'��

��� 
�$���� �� &3�� %��������� 	��������� �� �'���� 5��#$�%7 ��� ������� 5����%7

.����������������

��� ��	�� ����� ��� �� ���	�
� 5� ��78�������	��=  �/ ����� ���� ��8�5��� ;����������� ���

�� �����	�� H���	�� ���������	���	 �����

<� ���� ��� ���� ��� ����	�1�� ��7��������� ��� F��	���7��	� ��� H���	���������� 1
� ���

�
��������� 8���� ��� �
��������� �8�� �� �����	� ����	�
��� � 
����� ��� ��	���� "��
���

 �	�� 
��� ������	���	� �� 5���	 ����= ��/ ��� �
�������� 8���� ��� ���� 	� ��������������


������� ��� ���
��	�����	�� H���	��������� ����	� ��� ��7��������� ��	����� � ;������

�
��� ����	�
��������� ����5� �
��	��	 �=' O ��� ��� �� �8�� �������� �������� 5�� ����

����� ��� ���	�� ���� ����������8������� ��  ������������� ��� H���	�����
��	� �� ����

�� 1
��
  ��= ��/ ����8����� ��� ������� � "��
�� �	�� ����	 ���8�������	��	 7����� ���

�
 ��� H���	��������� � 6������	5 5�� ���
����	�� �
�������� ����5���	 7���� F�� "
�����

	�� ������ ��7��������� ��	 ���� ����������8������ "������	�
� ��� �� ���	�
� ��������� ���

���
��	�����	�� H���	���������� �
	7������

:���� ��� ?��	������ ��� ���
��	�� ������������ 7��� ����� ��� "������	�
� ��� �
 
����	8�	

��� "��
�� �	�� ��78�������	�	� �������� ��� %���	�����78������ �� ��� �5��	����	
��	8����

��� ��� %���1�����	�� ��� �������� � "��
�� �	������ 7���	 ��� H���	�����
��	���	�
� �0�

�	� �	����� ���8��������	�� 1
 ���	��P����	 ��� (�������� � "��
�� �	�� ���� ��� ������

6�8����� 7���� ���� 
�	����8������ "������	�
� ��� "��
�� �	�� 
���� ��������8���	�

<� ����� "���	�� 7����� ��� 9�	�
�� ��� ��� �������� ��� "������	�
� ��� �� �����	��

"��
�� �	�� 
���� ������	���	� ���� ;����������� ��� "������	�
� ��� ������ "��
�� �	��

 �	 ����� 1
� ����������� � ���� �	������ 
��� ��	 �� "���	�� #�� 5� )�����

F�� �������� ��� 
�	����8������� "������	�
� ��� �� �����	�� "��
�� �	�� 7����� �����

	�
���  �	 ������	�� �������� � <�	��1��� 1
� # ��� �- 6�$ �� �����	= ��� ������1��	���	

��� ��� $
�������	� ��� "��
�� �	�� 
���� ���	������ ��5� 7�����  �	 ����� ����� <������

6�����	
��= ��� 
��� ;��8�������	����� ��0����������� *�������+��������		� (�������  �	

��)����	�� ������� ��� ����	��� ��5���	= C�7���� �--�--- ����	�
���  �	 �������� 1
� #=



F�>� ��� ���������� ��% ����������������% #!

-15

-10

-5

0

5

10

15

-10 -5 0 5 10

y 
[c

m
]

-10 -5 0 5 10 -10 -5 0 5 10

x [cm]

���� ���
 ��������� ��� 	��������� ��� �����  ���������� 	��� �� 1��

>@<9 2�� �� ��� ����.�����������'��� 1�� 5����%7 ��� ��#$ ��� ����������

5;����7 ��� ��� 2�������������� ��% .����������E���%#$����% (�� )�%������ 

��� ���%�'$3�� � �� .���'������%���%������ 5��#$�%7�

,= ��= ��= �-= �#= �2=' ��� �- 6�$ ��������	� ��� *������������ 7���� ��� ��
 �	�������

��5��	��5�� ��� "��
�� �	�� ��	��������� ���������8���	 ��� �2,� �-Æ � � � �2!� #�Æ ���

�'� ,Æ � � � �'#� �Æ �8�� ��� 
���� �
7�� �2,� �-Æ � � � �2!� �'Æ ��� ���� -Æ � � � ��#� -Æ �8��

��� ��	��� 9
��� ��� $%&�"��
�� �	����

<� ���� ��# ��	 ��� $��	������ ��� ���	��P����	� ��� ����	�
���  �	 ��� ��������	�� �������

1
� �2=' 6�$ �� ��� ����"

�����	������� ��� � M ��-� � 1
� ��� ���� ��� �� ���	�
�
������	���	� ��� ;�����5��� ��� �	�����
���� ��� ��� ��	�1�� 9�	������ ��� "��
�� �	���

 
���� �
7�� ��� �� ��� 6�����	�
� ��������	� ;������ ���� �����5������	� �� ��� H���	���

���7������	� ��� ������� � "��
�� �	������ ���	��P����� ����	�
��� ��8����	��� �� ���

9�		� ��� 8��/���	�� *������8������������� ���
��	�����	 7����� �8
����= �
  	 �� �� ��� ���

 ���	�
� 5� ����� ���8������ 1
� ����������� �� ��� �8������ ��� 9
����� ��� ������		���

����� ��� <����	 ��� ������ ������5	 ��� ��5��	��5������� 5� ��������� 

���7�������

G ��� 
��� ������	�� 
�	����8������� �P��	� 7�� %���	�����78������ ��� %���1�����	�

�� ��� "������	�
� 5� ���8�������	����= 7��� ��� &��������		�.8���� ��� "��
�� �	�� �� ���

����
�
C��	�
� ��������� ��� ��� *������8��������������	���	�� �� #�� &�����	� ��	��	���	

 �	 ����� ?�8���� 1
� -� '� -� ' � � � 5��	����� ;������ ��� -� 2� -� 2 � � �� ��� �8������

��� "��
�� �	�� 
����� ��� 6�		�����	������ ��� &��������		�.8���� ��	 �� ���� ��# @����	�A

������	���	= ��� ���������	�	��	�� �� ��� ���5����� &�����	�� � 5��	����� ;������ ��	�8��	 �	�

7� �'-� <� ����� 6��/��������� 7����� �8�� ��� 1������������ ��������	�� ����	�
���������

��� F��	���7��	� ��� �� �����	�� �������1��	�������� �� ��� ���5����� &�����	�� ���	�  	�



'- .������ F� 	��� ��%%���������

0

1000

2000

3000

4000

5000

6000

18 20 22 24 26 28 30 32 34

  43.92    /     7
Constant   4140.
Mean   26.80
Sigma   1.351

Ee [GeV]

E
re

ig
ni

ss
e 

pr
o 

B
in

oberes
Modul

0

1000

2000

3000

4000

5000

6000

18 20 22 24 26 28 30 32 34

  4.388    /     6
Constant   4515.
Mean   27.48
Sigma   1.213

Ee [GeV]

E
re

ig
ni

ss
e 

pr
o 

B
in

oberes
Modul

0

1000

2000

3000

4000

5000

6000

18 20 22 24 26 28 30 32 34

  25.35    /     7
Constant   3852.
Mean   26.86
Sigma   1.306

Ee [GeV]

E
re

ig
ni

ss
e 

pr
o 

B
in

unteres
Modul

0

1000

2000

3000

4000

5000

6000

18 20 22 24 26 28 30 32 34

  7.045    /     6
Constant   4026.
Mean   27.51
Sigma   1.254

Ee [GeV]

E
re

ig
ni

ss
e 

pr
o 

B
in

unteres
Modul

���� ���
 ��� 	��� ��1�������� %���������� 	��������� ��� �����  ����������

	��� �� 1�� >@<9 2�� 1�� 5����%7 ��� ��#$ 5��#$�%7 ��� .���'������ �� �'����

5�'��7 ��� ������� 5�����7 .����������������

��� $���8��	��� 57������ ��� F��	���7��	�� ��� ����������� ��� ��� ��������	�� �������

�� ������	 ��� 
�	�� ��� ����������8������� "������	�
���
��	��	�� �8�� ��� 
���� ��� ��	���

9
��� ��� $%&�"��
�� �	����

<� ���� ��' ���� ��� $��	�������� ��� H���	���������� 1
� ��� ���� ��� "������	�
� � 
���

��� ��� ��	���� "��
�� �	�� 
��� ������	���	� ;����������	 7����� ��� ����������  �	 ���

��������	�� ����	�
�������� 1
� �2=' 6�$ �����78���	� ��� F��	���7��	� ��� �	��������7���

������� ��� $��	�������� 7����� �� ����� 6��/��������� ���	�  	� �� 5���	 ����= ��/ ����

��7������ ��� "������	�
� ��� 5�1
� 5� ��������� F��	���7��	� ���� ��	  �	 �� �
��7��	

1
� �2=' 6�$ 8��������	�  ��� 9�	 ����� ;���	� 1
� �=� ��� �=� 6�$ ��	 ��� ���������.8
����

��� ����� ����	�
�������� 1
� �2=' 6�$ ������= ��� ��� 
��� �	��������� ��� (��	�	������	��

 �	 ���� *��	 1
� �=- 6�$ 1
�������	� ��� ���� �� �		��	� *��	 ����	 ��	  �	 ��� �� I��J

����������� ���������.8
���� �� ��������= ��	 C��
�� �	7�� ������� ��� ��� ��� ��� "�������

	�
� ��� ������ ��	�� ���	�  	� *��	 @1��� "���	�� #��A�



F�>� ��� ���������� ��% ����������������% '�

27

27.5

28

-6 -4 -2 0 2 4 6

x [cm]

E
e 

[G
eV

]

oberes Modul

27

27.5

28

0 1 2 3 4 5 6

27

27.5

28

0 1 2 3 4 5 6

y [cm]

E
e 

[G
eV

]

oberes Modul

27

27.5

28

-6 -4 -2 0 2 4 6

x [cm]

E
e 

[G
eV

]

unteres Modul

27

27.5

28

0 1 2 3 4 5 6

27

27.5

28

0 1 2 3 4 5 6

y [cm]

E
e 

[G
eV

]

unteres Modul

���� ���
 ��� ����'������ 	��� �� ��� 	��������� ��� �����  ���������� 	����

 �� 1�� >@<9 2�� �� �'$3�� � ���� ��� ��.��������� 5����%7 ��� ��.���������

5��#$�%7 ��% ��&���*������% �� �'���� 5�'��7 ��� ������� 5�����7 .��������

���������

F�� 8G�����8����� ��� �8�� ������ �	�����	8�	 ��� "������	�
� 7���� ��� ���8��������	 ��� ���

�������	�� �������� 1
 ���	��P����	 ��� ����	�
�� � "��
�� �	�� ��	������	� <� ���� ���

���� ��� �� ����� 6��/��������� ���	�  	�� F��	���7��	� ��� ���������	�� �������1��	������

��� �� ���8��������	 ��� �� ��� ��"

�����	� ��� ���	��P����	�� � 
����� ��� ��	����

"��
�� �	�� 
��� ������	���	� *������ 7����� �����������	 ��� ����������  �	 ��� �����

����	�� ����	�
�������� 1
� �2=' 6�$ �����78���	� ��� ��.8
���� ��� �� ��� ��"

�����	� ��

��� $��	�������� ��	������	 ��� �� ���� ��# ������	���	�� 6�		�����	������ ��� &��������		��

.8����� ��� "��
�� �	��� ��� �����5������	�� %����� ����� ��� ��7������� � �-� ' O 1
 
��������	�� �
��7��	 �2=' 6�$ ��= ��� �����Æ��	�� ?�8����� ����5������� ��� 1
 ������

��������		�	�� ;������� ��� "��
�� �	�� 
����� �� 5���	 ����= ��/ ��� ���������	�� ��������

� 5��	����� ;������ ��� "��
�� �	�� ��� ��� 7����� ������/�� ��������� ��� <�	��1���� 1
�

�-� ' O � ��� �
��7��	 ���� 1��	���	 ���� ��� �� ��� �� ��� �8������ ��� 9
����= 7

%���1�����	� �
 �������= 5� ��7��������� �
  	� G ���� ��	� ����������
��	���	�
� 5�

��78�������	��= 7����� ��� ������������ ��� "��
�� �	�� 
���� �� ��� ��8�	���� ����0�� ���



'� .������ F� 	��� ��%%���������

0

0.05

0.1

5 10 15 20 25 30 35

Egen [GeV]

(E
ge

n-
E

C
lu

st
er

)/
E

ge
n

oberes Modul

-0.02

-0.01

0

0.01

0.02

5 10 15 20 25 30 35

Egen [GeV]

(E
ge

n-
E

C
lu

st
er

)/
E

ge
n

oberes Modul

0

0.05

0.1

5 10 15 20 25 30 35

Egen [GeV]

(E
ge

n-
E

C
lu

st
er

)/
E

ge
n

unteres Modul

-0.02

-0.01

0

0.01

0.02

5 10 15 20 25 30 35

Egen [GeV]

(E
ge

n-
E

C
lu

st
er

)/
E

ge
n

unteres Modul

���� ��!
 ��� ������1�� �'"��#$�� �� ��� 	��� ��� 1�� ���  ���������� �����

"����� 3�'�� ���  ���������� 	����������� �� 1�� 5����%7 ��� ��#$ ��� .���'���

���� 5��#$�%7 �� �'���� 5�'��7 ��� ������� 5�����7 .����������������

��	�� ���������
�����

��� �������� ��� "������	�
� ���� �� ���� ��2 ��� ����	�1�� ��7��������� ��� F��	���7��	�

��� �������1��	�������� 1
� ��� ��������	�� �
��7��	�� 8���� ��� ��������	�� ����	�
������

��� 1
� ��� ���� ��� "������	�
� � 
����� ��� ��	���� "��
�� �	�� 
��� ������	���	�

��� �����������	�� F��	���7��	� ������ � ;������ �
��� �������� �	7� �=' O ��	������ ���

��������	�� ����	�
��������� ��� 7������ �8�� �������� �������� �  �� �	8����� 1
� ��� �
���

7��	�� ��� :��� ��� "������	�
� �	�  �� ��� F��	���7��	� ��� �������1��	�������� ��	  �	

��� ��������	�� �
��7��	�� 8�������� ��� ��7��������� 1
� ��� ��������	�� ����	�
���������

��	����� ����5� 8���� ��� ���� 	�� �������������� 7������ ��� -=� O�

��� ��������8���	� "������	�
� ��78�������	�	 ���� 5�1���8������ ����������
��	���	�
� �� ��

����	�� ���������� �8�� ����	�
��������� 57������ # ��� �- 6�$� ������ �����	�	 �	���	 ����

7���	��� ������������� �8�� ����� ����1
���� $�������� �� �����	�� ��� �� ������� ���������

�� �
7�� 5�� ��8�5���� ;��	�  ��� 1
� :���7���� ��� �����	�
���Æ5���5�� � �B���� ��	

�� ������� ��	�� ����



�����	� "

��	 ���	�

:����� �� "���	�� � ��� 	���������� �����	� ��� ���������� ���	�
� ������	���	 7�����= ���

��/	 ���� ������ "���	��  �	 ��� ��������	��� ��� � ����B���� ��	 �� ������� ��	��� ���

��� 7��� 5��8����	 ��� ��� (������ ��� $%&�����	�
 �	��� ��� ��� ��	����� � 78������ ���

9��� � ;��� ���� �!!! ������������ ��������/��� 7��� ��� "������	�
� ��� "��
�� �	���

 �	 ����������� � ���� �	������ 
��� ��� ��� ;��	�  ��� ��� (�������Æ5���5�� ������

���� ��� ��� 78������ ������ ��	����� �����
�� ������
  ���� ����������� ������������

< ��	5	�� (��� ��� "���	��� 7����� ��� 9�	�
�� ��� ��� �������� ��� ��	��	
������ ��	�

�� ��� ����0�� ����	������ &���H
 �	
������������ 1
����	���	�

$�� 0������  �� ��	�������

F�� �����	�
� 1
� ��0��������� ��	�������	�� �����������= �� ����� ��� ���	���	� ����	�
�

�� ���� 9
��� ��� $%&�����	�
 �	��� ������7����� 7���= ����	5	 ��� $%&�����	�
 �	��

������	8������ (������ I��J= ��� ��� ��� ������� ���5��������� �������� ��� "��
�� �	��� ���

������� ��� �����	�
�����	���� 7��� ����� ��� 8G���������	�� ����� 1
���������� ���7����

����� ��� �� ��� "��
�� �	�� 
����� ���
����	� �
�������� ���
����	�

F�� "
��	���	�
� ��� (��������� ��	� ��� $%&�����	�
 �	��� 7��� �8�� ����� "��
�� ��

	�� 
���� C�7���� ��� �� �	�����
�� 5���7���	� ;������ ��� ���	�� �� ����������8��� ��

57�� ���� 8������������ �
��5
�	��� �	������ ��	��	���	= �� ����� C�7���� ��� ������� 1
� !

���������	�� �
��5
�	���� �5��	����	
��� �����  ���	 7����� ��� �
 �������	�� ��  �� ���

������ 9
���� 7����� �� ���� (������ 
��� ����	�������	= 7
��� ��� ��� ���� 1
����������

���7�����7��	� ����� 8����������	��  8������ ��������/��� 7����� ��� ���8���� �����������

���% $��� '�%#$���'��� ��������� %%#$���< �� ��� ��� 1�� ���#�� �' �%#$������ )����#$ (�� )�%����

��� ��� ���  ��%� ���� ��% �%#$��%%�� �%�< "��� ��%� %��� ��� ("����� �������$��������� /LLL 1��"������

��1�� "����� ��� 	��� ��%����� 6�"���% ��% /> '���#$'����� $���(������� ��%��%����3����  �'�����< %� ��H

��� ����1� ��3�#$� ��� .���������������� 1���%�3���� �' ���#�� "����� ���#$ ��� 3������� ��% �������

��� %%#$���% ������ ��% 
��%#$�� %� ��C���� 1����� ��� "�����< %� ��H ��� �'%����� ��� ���  ��%#$"�����

��& ������ ��� D���� �� ��� ("����� �������$��������� /LLL �3� ��#$ "�����

'�



'# .������ 8� ��� �����

(���������7���� ����������7����

I6�$J

� �

� �

� ,

(��������� ��	 ��	� I�5J

��� ��� ����� �---

��� ��� ��� ��--

��� ��� ���� ,--

��� ��� ��� #'-

��� ��� ����� ��--

��� ��� ��� 22-

��� ��� ���� ''-

��� ��� ��� #�-

���� ���
 ��� �#$"�����"���� ��� ���  ���������� ��% ����.����������%�

����� ��� (������ 
���� �� ����� 6
(
��"��	� �
����� 5� ��� ���	 (��������� ��	�� ���

$%&�����	�
 �	��� 1����8���	�

<� (������ #�� ���� ��� �� ��� 57��	�� ��	����� �����
�� �!!! 1��7����	�� ���7������

7��	� �
7�� ��� ���	 (��������� ��	� ��� $%&�����	�
 �	��� ���������� ��� ���8��5�����

��� ��� ��� ����5������� ��� (��������� ��	� ��� 
����� �57� ��	���� 9
����= ��� ;��

5���������� �����= ��� ��� ���� ��	�������� ��� � (������ 
��� ����7����	�� ���7���

���7��	�� ������ ��� ��� ��� ��������	�� ����������7���� ����������� (��������� ��	�  �	

��� ;�5�������� ����� 7����� 5�� ;��	�  ��� ��� ��������� ��� "��
�� �	�� ����	5	�

F�� 9������ 1
� ����	�
��������� ������ ���  �	 ��� ��� ���� ��5������	�� (����������

 ��	�� ��� (��������� ��	� ��� ��� ��� ��� ��� ��� ��� 7����� 5�� G�	����8������ 1
�

������ ���������
�������������� ��� ��� "
��	���	�
� ��� ���	������ ��� $�	
 1��7����	 @1���

(������ #��A� ��� ����5������� ����������= ��� ����� ��� �������	� ���������  � 57�� �����

���7�����7��	 8����������	�	= ���� ��� 1��	������ ���������
C��	�
��� C��
�� ��	������ ���

��������	�� ���7�����7��	�� � ����	�

<� (������ #�� ���� ����� ��� ���	 (��������� ��	�� ��� $%&�����	�
 �	��� 	0������ ���

	�� ������	���	� :���� ��� 5� ��7��	����� ����� � ��� ����������	��  �	 5���� �����

����������7���� �8���	 ���= ��/ ��� ��	�� ��� (��������� ��	� ��� ��	���� 9
���� ���	����

��������� ���� ��� ��� ��� 
������ ������ G�	�������� 7��� ����� ��� ��0  �	������ ��
���

���� ��� 9
���� ��� $%&�����	�
 �	��� 5� �	���� ��� ��� ������� ������	�� ����������

���	��� 57������ �	���� ��� 
���� "��
�� �	�� 
��� 1��������	 @1��� "���	�� #�#A�

��� ���	 (��������� ��	� ��� $%&�����	�
 �	��� 7����� 1
� ��� 6
(
�"��	� �� ��� 5���

	���� (�������
��� H(%� 7��	���������= 7
 ��	�� ������ ����� �
������ "
 ����	�
���  �	

��� (��������� ��	�� ������� �����	��	
��� ��� ��� ��� 9������ ��	�������������� �	����

��
5���� ��������	�� ���	������ �������	 7������ :���� 1
���	8����� �������1�� (������� �B��

�	����� 1����������� $%&���5
���� ���	������ 5�� 9������ 1
� �����������  �	 4�X� 
���

�(������ �����%� ���  �� ����
�������� ���  �� �� �#



8�/� ���  �� ��� �������$�� ''

.�
�
���	�
�= �����������  �	 4�	��
���	�
� �
7�� 5� :���7��� 1
� 3����
����

F�� 6�78�������	��� ��� ����������	� ��� (�������	��� %� 1
� #- ��� '- �5 7����� ���

���5����� ���	������ ����� ��	� ��	���������  �	 G�	����8����������	
��� 1������� @1���

"���	�� ����'A� �� ��� ��	�� ��� �������1�� (������ ��7��	������ 8�/ ���� �
�� ��� �
�

 �	 �
�� G�	����8����������	
��� �
	7����� ����= ��	 ���� 
�8�5���
�� ������ ��� �������1��

*�������+��������		��  �	 ����� ��� $%&�����	�
 �	��� 78������ ��� �
� ���� ��	������

 ���	������ ����	  8
������ G �����	��� 9�������� ����
�� ������8����� 5� �8
����= 7�����

���5����� ��	����� �����
��� ���������	�	= �� ����� ��� (���������� � ��8�����	 7���= � 

���5����� ���	������� ���� �8
���� ��	� 5�	����� 5� �8
�����

< ����� �!!! 7���� ���	 ��� ���� ���5����� ��	����� �����
�� �8�� ��� $%&�����	�
 �	��

���������	�	� ��� ����0�� ��� 78������ ������ F��	��� � �����5������	�� ��	��  �	 �����

��	������	�� %� ��
��	8�	 1
� ��# ���� ��	 ��	�������	 �� I��J ������	���	�

F�� 
�8�5���
�� ������ ��� 
�
	
��	���	������	�
� ��@���
�A  �	 �� �����	��	
� 7����

� ���� ��� 57��	�� ��	����� �����
�� �!!! ��� 9��� � ;��� ��� ��������8���	= �� �� 

��� (���������� � 1
���	8����� ��� ��� 9������ �������1�� *�������+��������		� ����������

	�	 7����� F�� ��������/��� ��� 
�������� �������� ������� < ����8����	�8��� ��� �������

*��	� 1
� � 7���� ���� ��� $%&�����	�
 �	��  �	 ���� ���5������ (���������� � �� �����

����� 1���78
������ ��	����� �����
�� ��	������	�

<� (������ #�� ���� ��� 78������ ��� 9��� � ;��� ���� � ��� ��	���	�� $%&���5
�����

���	������ �
7�� ��� 1
� �� C�7������� ���	������ �����5������	� ��	������	� %� ��
��	8�	

��������	�	� (������ #�� ����8��	 ��� ��� ��� ��)��	�
� ��� ���	������ ����	5	�� ���8��5������

��� 5��8�	5�����= ����	 ������8���	� ;���������� 7����� ��� ����� ���	������� ��� �
�������

$�	
� ���
����	> ��� ?���5��	58����� ����	�)5����� ��� �������� ����	 ��� G�	������� ��� ���

����������7���� ����� 
�� �  7��� ����	 8���������		���

G ��� 
�
	
��	���	������	�
� ��@���
�A � 
�������� ������� ��� $%& 8���� �����  8
��

�����	 ��
/�� ;������ ��� �������8����	����� �  ����� 5� �8
����= 7����� 78������ ��� 9����

 � ;��� ���� 57�� 1����������� "������ 1
� ���	������� ���������	�	� �� �8�� ������ *��	�

1
� � ��� ���� 7���� ����
������ ������� �� ��� ���	������ "
 �
���	�� ��� �����	��	
��

���
����	 7����� ����= �����	 ��� 9������ �� ����� ;������ ������ ��� �� ���	���	��

����	�
�� F� ����� F7��� 7���� ��� 1
���	8����� �������1� ���	������ �#� ���������	�	= ���

C��
�� �������� ��� �
��� ��	�  �	 ���� ����	�1 �
��� G�	����8����������	
� 1�������

7�����  �/	�= �
 ��/ ��� �����5������	� %� ��
��	8�	 � $�������� 5� ��� ������� ���	����

���� �������� ��	�

;�� �8
����� *��	�� 1
� � ��  	 ��� ����
������ ��	�1�	8�	 5�� ����� 7���� ��� ��� "
��

�	���	�
� ��� ��� ��� 9������ �� ����� ��;������ ���������	�	�� ���	������ �'-= �'�= �'�

��� �'� ��� (��������� ��	 ��� ��� !�  �	 (��������� ��	�� �
 ������	= ��� ��	7����

����
������ ������� 
��� ���
��	�����	� ������ �� ��� ���	������ "
 �
���	�� ��� ���

��	��	
�� �
������ ����� "
 ����	�
� �� 8
�����	 ��������	� ���� �Æ5���	� G�	����8������

�/=� ��1��'�� '�% /F� ��(��'�� /LLL



'� .������ 8� ��� �����

���	�� ��)��	�
� � I����J
�#� ��� ���� !� ��-

�#2 ��� ��� ��� �!--

�#! ��� ��� !� �#-

�'- ��� ��� !� "" #��$ 
% ��--

�'� ��� ��� !� "" ����� 
& ���-

�'� ��� ��� !� "" ��' �� ���-

�'� ��� ��� !� "" ����� 
�� � � �',-

���� ���
 ��� "3�$���� ��% ;������ )��% 
��% /LLL ��������������� ����

'�(� ���� ��'���  �� ��� ���  ���%%��� ������%��3��� ��� �� �%#$�� G�������

��� ���%���#$�� ��� ����������
 RR AI��< 	 AG�	
< S A������

���������	 
���
�
��

��� ���� �� 		��� 
�� ���� 

 ���� 
�� ���� � 	��� ��
 ���� 

 ���� ��
 �����

��� ��� �� 		��� 
�� ��� 

 ���� 
�� ���� � 	��� ��
 ��� 

 ���� ��
 �����

��� ��� ��� 		��� 
�� ��� 

 ���� 
�� ���� 

 	��� ��
 ��� 

 ���� ��
 �����

���� ���
 	���3���� ��� �� ��'���� 8�> '�� ��� ��C������ ��� ��'���  �� 1���

"������� �'�3��(�� ���

1
� G�	������������������ ��� ����������	� ��� �����	�
� ��� (��������	���

:���� ��� ��� ��� 9������ ��� 
�
	
��	���	������	�
� ���������	�	�� ���	������� 7����

7�� �� ��� �
� ���� ��	����� � ��� ���	������ �#2 78������ ��� 9��� � ;��� ����

���������	�	� ������ (������ ����	 ��� 9������ ����	������ &���H
 �	
������������=  �	

����� ����� ��� ����� ��	 ��� $%&�����	�
 �	��� ��������8���	 7��� @1��� "���	�� #�#A�

F� �0�	� �	������ �	�����= ������
����� 5�� ;��	�  ��� ��� �Æ5���5�� ��� �
 ������	��

���	������= 7���� ��� �������1� ���	������ �#! ���������	�	�

$�� ��� 1������	�
�

��� �����8�������� "������	�
� ��� "��
�� �	�� ��� $%&�����	�
 �	��� 7���� �� (��	�	�����

 ��������  �	 ����	�
��� � ���������	��1��� 1
� � ��� � 6�$ ��������� ��� �
��������

�� ��������8���	 @1��� "���	�� ����#A� G ���� 5�1���8������ ����������
��	���	�
� ��� � 

����B���� ��	 �� ������� ��	�� 5� ��78�������	��= ��	 ���� "������	�
� ��� "��
�� �	���

 
���� � ;������ �8
����� ����	�
��������� ��������� ��� ���
��	�����	�� H���	����������

�
	7������ ���7��	���� ���
����� ��	�������P��	� ��� �5��	����	
� �	������ �
7��  8
������

$��8���������� ��� $���	8�������1�����	��� ��� ����	�
���= ������	 ����� ��� ;�	���� ���

"��
�� �	�� � �B���� ��	= ���� ����� 8�/��� *������
���� ��� "������	�
��

��� "������	�
� ��� "��
�� �	��  �	 ������ ��	�� 7��� ���� �� ������ 
���5�� ��������8���	



8�>� ��� .���'������ '2

7�� ��� �� "���	�� ����� ������������ "������	�
�  �	 �� �����	�� ������������ G �0�	� �	��

���� ���8��������	�� ��� H���	�����
��	���	�
� 1
 ���	��P����	 ��� (������� � "��
�� ��

	�� 5� ���8�������	����= 7����� 7�� �� ��� �� ���	�
� 
�	����8������ "������	�
���
��	��	��

���	�  	� :���� ��� %���	�����78������ �� ��� �5��	����	
��	8���� ��� ��� %���1�����	��

��� �������� � "��
�� �	������ �8����� �� ��� ������ "��
�� �	��� G������ 8�/�����	�� � 

������ ��� 9
���� 5� 7��	���� 
�	����8������� �P��	���

�� � 6������	5 5�� �� ���	�
� ��� ������� ��� ���	���	�� ����	�
��� � �B���� ��	 �

���
�� ����	 ������	 ��	= ��	 ���� ����������8������ "������	�
�  �	 ����� ��� �� ������� ���

	�� ����	  8
������ <� I��J 7���� C��
�� ��5���	= ��/ ��� �� ��� (��	�	���� �������� ���������

��� �
��������� �� �		��	� %������	8�	 ��� "��
�� �	�� I�'J ���� �8�� ���
��	�����	� H���	��

���	 ��� �
 �	 ��� ;��	�  ��� ��� "������	�
���
��	��	�� � �B���� ��	 �8�� ���� ��)����	�

������� ����������� ��	� ��5� 7����� �� ��� ��	�� ���������� � ���� �	������ 
��� ����

��78���	= ���� ����������= ��� ����� ��� ������� ��� ���	���	�� ����	�
��� ��� �	�����������

1
� �2=' 6�$ ��	������	 ��� ��� �
 ����� �������57��	 5�� "������	�
� 1
�������

��� "������	�
� ��� "��
�� �	��  �	 ����������� � ���� �	������ 
��� 7���� �� I2J ������

���� ��� ��� 78������ ��� 9��� � ;��� ���� �!!! ������
  ���� ��	�� ��������8���	�

��� ���������� � ���� �	������ 
��� 7����� �����  �	 ��� �
������� �����		�� �����	���	>

� < $%& 7���� ����� ��� H���	�� 
��� ���������
���(��P�� ���
��	�����	�
� F�� ;�����8������ ��� ����	�
�������� ��� *��	� 8���� �� 6�$ 7���� ��� ��� �����
���8����	��� �� ��� � $%& ���
��	�����	�� ����	�
�� �������		��> �� � -� � �

� �� ��� �������8����	��� � ��� ����������� � ���� �	������ 
��� ����� :��� ���	= 7���
��� ���� 7���� ����
������ ������� �� ��� ���	������ "��
�� �	��� ��� �����	��	
��

���
����	� ����� 7���� ���
����	= ��/ ��� ��� �� ����
������� ���5��	��� ���
��

�	�����	� �������8����	��� ��� ��� *��	 -=-' ����	 8����������	�	> ��� � -� -' �

� ?���� ��� 1
� ��� ���������  ��� ���
��	�����	�� ��$��	�B 1
����=  �/	� ���� ������
*��	 ��������� ��� <�	��1���� ��' � ��)����> ��' � � ������ � �' � �

� F�� G�	����8������ �����	�1�� ���������� ����	� ��� ������� �� ����� (������ ��� *��	
1
� � 6�$ ����	 8����������	��> �!�""�� � � 6�$ �

� F�� G�	����8������ 1
� 
�
	
��
���	�
������������� 7���� ��� ��� 6�8
/� � � #' ���

�����		���> #- 6�$ � � � #' � 2- 6�$ �

��� ����	�
�������� ��� �
 �����	���	�� ���������� � ���� �	������ 
��� �
��	� ��� �	�����

������� 1
� �2=' 6�$ ��	��������� �������� ��� ��������� ��.8
�����1�� 8
���� ��� ��	���

	
��� ��� ����� �	��������1�����	� �
  	 �� C��
�� 5� ����� $����������� ��� �������1���

	������ 5� ��������� *��	��� ����� 7�����  �	 �� 6�����	
� �4�:63 I��J= ��� �����	�1�
���� ��C������ ��� 2�3�H� � � �� %�"�� ��� ;���1����� ��% �� � �'���� �#$�����% "����� �� .������ 9�>

��� �%������



', .������ 8� ��� �����

0

0.1

0.2

0.3

0.4

0.5

0.6

22 24 26 28 30 32 34

  39.12    /     5

Constant  0.6235

Mean   26.05
Sigma   1.368

E‘
e
 / GeV

1/
N

 d
n/

dE
‘ e / 

G
ev

-1

0

0.05

0.1

0.15

0.2

0.25

0.3

22 24 26 28 30 32 34

  22.66    /     4

Constant  0.2982

Mean   27.10
Sigma   1.346

E‘
e
 / GeV

1/
N

 d
n/

dE
‘ e / 

G
ev

-1

0

0.05

0.1

0.15

0.2

0.25

0.3

22 24 26 28 30 32 34

VLQ
DJANGO KP

���� ���
 ��� 	��� ��1�������� �� ��� 	��� ��%%� �� ��������%#$�� -��� 1��

5����%7 ��� ��#$ ��� .���'������ 5��#$�%7� ��� ����'������� 	����������� ���

%��� (�%����� ��� ��������� �� %���������� 	��� ��%%� ��� �%�����< ��% J@K�

"
����	���� ��	�8��	= ���������� � ���� �	������ 
��� �� �����	 ��� ��������� ��� 
���

������	���	�� ��	�������	�
� ��	��5
���� ���	���� ��� :
 ����������� ��� ����	�
��	�����

7����� ���� ��� F��	���7��	� ��� �� �����	�� �������1��	�������� ��� �������57��	 5�� ���

	���������	�
� ����	5	�

F�� ;��	�  ��� ��� 
�	����8������� "������	�
���
��	��	�� 7����� ��� &��������		�.8�����

��� "��
�� �	�� �� ��� ����
�
C��	�
� ��	��������� ��� 5�� $���8����� �	������� �	�	��	��

��  8
������	 ������ ����	���� ��	��	���	 ��� �� ����� 6��/��������� ��� F��	���7��	� ���

�������1��	�������� �� ��� ���5����� ����	����� ���	�  	� ��� $���8��	��� 57������ ��� �


���	�  	�� F��	���7��	�� ��� ����������� ��� �� �� ��� �� ���	�
� ���	�  	�� �����

���57��	 ������	�� ��� 
�	����8������� "������	�
���
��	��	���

<� ���� #�� ���� ��� �������1��	�������� ��� ���������� � ���� �	������ 
��� � 
���

��� "��
�� �	�� 
��� 1
� ��� ���� ��� "������	�
� ������	���	� ��� ���������	� ������� ��	

5���  ��  �	 ��� $��	������ ��� �� �����	�� ���������� ���������	� :��� ��� "������	�
�

�	�  	 ��� F��	���7��	 ��� $��	������ ��	  �	 ��� �� ���	�
� 8�������� �� 5���	 ���� C��
��=

��/ ��� $��	������ ��� �� �����	�� ���������� �	7�� ��� ���� ��	 ��� ��� ��� ��	��= 7�� ��	�

7���� ����� ��� $
����� ����� 5� ��	�� ���������.8
���� �� ��� �� ���	�
� 
��� ���� ����	

���5 ����� ��	�������	�
� 1
� ����������� � ���� �	������ 
��� 1��������	 7����� �����

:���� ��� "
����	�� ��� F��	���7��	�� 7���� ��� ;���	� ��� �������1��	������ ����� ���

"������	�
� ��7��	������ 8�/ 1��������	� *�� ���
� �� "���	�� ����� ������	���	= ��	 ��� �����

�����.8
����  �	 ����� ;���	� ��� $��	������ 1
� 7������ ��� �=# 6�$ ������ ��� ��� 
��� ��

	��������� ��� (��	�	���� �������� 1
����	�



8�F� ��� ���  ���Æ(���( '!

$�# ��� 0�������Æ2���2

G�	�� ��� �Æ5���5 ����� (������� 1���	��	  �� ��� $���8��	��� ��� ��� F��� 1
� ���������

���= ����� ��	����� � ����� ��� (������ � �B���� ��	 	�	�8������� ������8
�	 7����= ���

��� F��� 1
� �����������= ����� 9������ ��� (������ �8�		� ����8
��� �
����� �� ��� �Æ5���5

����� (������� �� ��� ����� ������� ���� ��	=  �/ ��� ��� ��� ����0�� ��� �� ������� ��	��

���8�������	��	 7������

�� ��� �� "���	�� ' ������ �����	 1
����	���	� ����0�� ��� ����������� �����	= ��� 78������

��� 9��� � ;��� ���� �!!! 1
 �
 ������	�� ���	������ �'- ������8
�	 7�����= 7��� � 

�
������� ��� �� I2J ��������8���	� ;��	�  ��� ��� �Æ5���5�� ��� ���	������� �#! ��� ���

(��������� ��	� #��$ 
% ���8��	��	= ��� ����� �
������� $����8������= 7�� �� "���	�� #�� ���

���������= ��� ���	������ �'- ���1
����	�

��� �Æ5���5 ��� ���	������� �#! ��	 ���8����� 1
� ��� ������� ��� �� ���	��P����	 ���

���	���	�� ����	�
�� �� ��� 9
����� ��� $%&�"��
�� �	���� �� �� ��� �8������ (����

��� �������� ��� ��� 9
����� ��	7������ ��� �
 ��� ���
����	� ������� ����5���	 7���=

����	 ��� *����������������	= ��/ ��� ������ ��� � ���	������ �#! ���
����	� (���������7���

�� � 8����������	�	� F�� ;��8�������	����� ������ �������� ��� 
�	����8������� �P��	� 7��� ���

&��������		�.8���� ��� "��
�� �	��� �� ��� ����
�
C��	�
� ��	��������� ��� 5�� $���8�����

�	������� �	�	��	�� �� ���5���� ����	���� ��	��	���	 ��� �8�� C���� ������ ����	���� ��� (����

����Æ5���5 �� ���8��������	 ��� ���
��	�����	�� ������� ���	�  	�

��� ;��	�  ��� ��� �Æ5���5 ���
����	 ���� �������� ����= ��� ����� �� ���	������ �#!

��������� 1
�  �����	��� ���� �����8������� �
������	�� 9
��	
�	������ @9(A �8�		� ����

���8
�	 7�����  8������ �� ���� ��� ��5��	��5������� ������ ������� ��	��	
��
 �
���	�

 �	 �� ��� $%&�����	�
 �	��� 8������������	= ������ ���� ��5� ���� ����������= ��� �����

��������	� ������� � $%&�"��
�� �	�� ���
����	 ��� ����������	� ��	�1�	8�	 �� ����� ���

������� ��	��	
��
 �
���	�� �� ����� 7����� ��� 9
��	
�	������ 7����� ����� ���� ���

"��
�� �	��� ��� ������  ���������� ����������� (������ ��� ����B���� ��	� ����	5	�

F�� �����	�
� 1
� G�	������������������ 7����� ��� ��� ��� �Æ5���5���	�  ��� 5�������

��������� ���������� ��� �� "���	�� #�� ������������� �����		� ��� ��� 6�8
/�� � � #' ���

��$��	�B ����7���	�

��� �������� ��� 
�	����8������ �Æ5���5 ��� ���	������� �#! ��������	 ���� ��� ��� �
 ���

���	���	�� ����������� 5�>

6#�
 @�$�� �$�� �$�A M
F��� ��� 1
 �#! ��� 9( ������8
�	�� ����������

F��� ��� 1
 9( ������8
�	�� ����������  �	 ��%& 5 -
�

< ������ ������  ��� ���� #�� ��	 ��� �
 ���	�  	� �Æ5���5 ��� ���	������� �#! �8�� ���


���� "��
�� �	�� 
��� �� ���8��������	 ��� ����	�
�������� ������	���	� 9�	 5���� �����

������� �	���	 ��� �Æ5���5 �	��� �� ��� ����	 �� �� ���
����	�� ���7�����7��	 1
� � 6�$


������� 1
� '- O� ?8�� �������� ��8
/�� �' 6�$ ��	�8��	 ��� �Æ5���5 ��� ���	������� �#!

�
��	��	 �-- O�



�- .������ 8� ��� �����

0

0.2

0.4

0.6

0.8

1

0 5 10 15 20 25

E‘
e
 [GeV]

E
ffi

zi
en

z

0

0.2

0.4

0.6

0.8

1

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

yhad

E
ffi

zi
en

z

H1
PHOJET

���� ���
 ��� 	Æ(���( ��% ��'���  ��% �8L �� �'$3�� � ���� ��� 	������������

 �� 5����%7 ��� ��� 	Æ(���( ��% ���  ���������% ���	 �
 �� �'$3�� � ���� ���

2�3�H� �
� 5��#$�%7< ��% J@K�

��� $��	�B��������� ��� (��������� ��	� #��$ 
% ������	 ��� ��� �� ��� 5��	����� 
�
�
�	�
�

�����  ��� H<
 ��� H3
 �� ������� �������� ��� �8���	 �� ���� 1
� ��� ����
�������

��	�1�	8�	 ��� �� ������� ���������� ��� ��� �Æ5���5 ��� (��������� ��	� #��$ 
% 7��� ��

���8��������	 ��� ��� ��� ���
��	�����	�� �������� ��� < ������ ��� ����
������� ����

5��	���� ��������	�� ���� �	������ $�������� ��� ���	�  	� ��� 9
��	
�	������ ������ ���

�������1�� $%&���5
����� ���	������ �#� ��� �#!� F�� �����	�
� ��� ���������� 7����� ���

�� "���	�� '�� ������������� �����		� ����7����	�

��� ��� �
 �����	���	�� ����������� 7��� ��� �Æ5���5 ��� (��������� ��	� @(�A #��$ 
%

�
7
�� �8�� � �B���� ��	 �� ������ 7�� �� �����	� ��	�� ��������	>

6���	 �
 @���A M
F��� ��� 1
 (� #��$ 
% ��� @�#� 
��� �#!A ������8
�	�� ����������

F��� ��� 1
 �#� 
��� �#! ������8
�	�� ����������
�

��� ����	� ������  ��� ���� #�� 5���	 ��� �
 ��� ��� ��	�� ��� �� �����	�� �����������

���	�  	� �Æ5���5 ��� (��������� ��	� #��$ 
% �� ���8��������	 ��� 6�8
/� ���� �� 5���	 ����=

��/ ��� �Æ5���5 ��� ������ (��������� ��	� ����	 ��	 ����� ��� ��� �� �����	�� (��������	�

����������� 7���� ��� �Æ5���5�� ������ ��7��	������ 8�/ 5� ��������� *��	�� 1
� ��� ��� ��=

�� �8�� ������ �������8����	�8��� � ��� 7���� ����
������ ������� � 5��	����� ��	��	
��������

���
����	 7���� < ;������  �		����� *��	� 1
� ���= 8���� ��� ���� ��� �� "���	�� ' 1
����	���	�

����0�� ���	����	�= ����	 ��� �Æ5���5 ��� (��������� ��	� #��$ 
% �� ��� ��	�� 8���� !- O

�	% "����� 	��� ��%%� %���������< '�� ����� ��� ��#$ ��� 	��������;��$��� '���#$���� 	��� ��3�'����� 

�� D���� ("�%#$�� :<F ��� :<@ ��������



8�8� ��% ��� ����� ��

��� 7��� ����� ��� �� ���	�
� ������������

��� �Æ5���5 ��� �
 ������	�� ���	������� �'- ��	 ������� ����� ��� 
�
���	 ��� �Æ5���5��

��� �������1�� ���	������� �#! ��� ��� (��������� ��	� #��$ 
%>

)#�� M 6#�
 	 6���	 �
 �

$�$ ��� ��������	

;�� ��� ���
��	���	�
� ��� ������������ �	�� ��� ��� 9������ ��� ���	���	�� ����	�
�� ��	

��� ������ "���	��� ��� 

��	�
� ��� ��	��	
� 
���� � ����B���� ��	 1
� ��
/�� *���	���

���	� F�� ;��	�  ��� ��� 

��	�
� ��� $%&�"��
�� �	�� ����	�1 5� ���"

�����	���0�	� 

�57� 5�� �	��������� 7���� �� I��J ���� ����0�� ����	������ &���H
 �	
������������ ������

���8���	� �� ��� ������ ����������� ��� "��� �	�� 8�������	�  	 ��	= �� 8
�����	 ��� 9������

����� ���	���	�� (������� ��� ������� ����� ��	 ��� 9
���� ��� $%&�����	�
 �	����

��� ����	����� &���H
 �	
������������ @� �� � � �A 7����� ;�� ��	����������
5���� ���

5������	= ��� ����� ��� ����	�
� ����	���� � 
�
	
� ���	���	 7��� ��� �
7
�� ��� ����	�
�

��� ���� ��� �����	����	� 
�
	
� ��	�� ��������� *������ 5�� �	��������� ���������� ��

��� ����� �	�����
5�/ ��� 
�
	
� �
7�� ��� ����	�
��
�
	
���0�	� ��� ������� (�����

1������ ����� �����	��= ��	 ��� ����	�
��
�
	
���0�	� �������� 1
� < ���������	��� � 

(����1������ ���� 7�� ����5� ���������	>

7�� � M � 7��� �

��� ?
��� ��� 7���;������  8����� ��� ����	�
� ��� 
�
	
� �� ��� ����"

�����	�������

K���� 	
 ����L �����������������= ���� ��� ��P����5 ��� �5� �	��7�����= ��5������	 ���

��
 �������	8�	= ��	�8��	 �,-Æ>

D� >M ��� � ��� M �,-Æ �

����� ����������	 ��� ����	������ &���H
 �	
������������ �� 8
�����	 ��� ����� ��	 ���

9
���� ��� $%&�����	�
 �	���� ��5� 7����� ���������� �����	���	= �� ����� ��� ����	�
�

�� �� ���� ��� ��� 
�
	
� � ������� "��
�� �	�� 
��� ������7����� 7������ :���

����� ���9�	�
�� 7��� ��� ��P����5 ��� �� ������� ��
 �������	8�	�� 1
� �,-Æ ����� $���

�������� ��� "��
�� �	�� 
����  ��� ���	� ��� �������� ���8��	  �� ��� ��7��������� ���



��	�
��� 1
� ��� �
��7��	�� ��� �
 �	 ��� 7����� 

��	�
��� ��� 9
���� � �B���� ��	�

<� ���� #�� ��	 ��� �������� ��� ����� ��	� ������	���	� < 6������	5 5� ��� ��"

�����	��

��� ��	��	
� 
���� 7������ ��� ��"

�����	�� �	��� 1
� ��� �
��7��	�� Q�=�� � ���

��=�� � ��> Q�=�� � ��� �#=�# � � F��� ���� ��� 9
���� ��58������ ��� ������� ��0 �
 �	����� 5� �	���� ����
����	� ��� ������� ��� ���"

�����	���0�	� �= ��� �� �	7� ���

�	��������� ��	������	= ��� ��� �0  �	�������� ��� �	�����
���� �	�  �� � �������������



�� .������ 8� ��� �����

Symm.-achse des Strahlrohrs

Strahlrohr

aktives Volumen

aktives Volumen

oberes Modul

unteres Modul

 

6.00

0.18
3.21

4.64

z-Achse (ca. Strahlachse)
0.72

0.52

6.7

���� ���
 ��������%�#$� ��� ��%����������� �������� 1�� ����$�< ����$���$�

��� ����;������� ���� �� �'�� '�%��(�� ��� 	��$��� / #�� ���#$ ���� ����

%#$��'�� ��% ����$���$�%  � �� ��� ����$��#$%� 1�� #�� @ �� �%� ��% ������

����;���� #�� /<8 #� "����� 1�� ����$� ���&���� ��% ��% �'���� ��� �� � ���

����$��#$%� $3�� � 1�� ��� )�����'%���������� ��% �	
������#$����� % �'<

���%���#$� �'�� �� ��"� ��� ���#$%�< ��% J>>K�

��� $%&�����	�
 �	��� ����	  ��� 8�������� ��� �0  �	�������� 1���8���	 �	7� 2   ��	���

���� ��� �������= 7
����� ���� ��� 
���� $%&�9
��� 7����	���� �8���� � �	���� ��)���	

��� ��� ��	���� ����� $�����������= ��� 7�� �� "���	�� #�� ��5���	= ���� ���	���� �8
���� ���

��������	� � 
����� 9
��� 5�� ?
��� ��	= 7���  �	 ��
/�� *����������������	 ����� ���

�������� ��� "
 �����	�
�� ����	�� ��� ��� ����� ����	���	�� �	�����
���� 1��������	�

��� ���� 1
����	���	� �������� ��� �� I��J ��������8���	�� ����� ��	� �����	 ��� ��� ����

�0�� ����	������ &���H
 �	
������������= ��� �� ��� ���	�� ��	����� �����
�� �!!!  �	

�� $%&�����	�
 �	�� �� ����� 7������ G ����  8
������ $��8�������� ��� 

��	�
���

5� ���8�������	����=  �/ ��� ����� ��	 ��� ��	��	
���  �	 ��� �� ��� 57��	�� ��	������

 �����
�� �� ������� ����������� 7������
�	 7������ ;�� 5� �� F��	����	= �� �� ���

1
��������� �����	 ���	���	 7����= �
��	� ���� C��
�� ��� 	���������� 6�8����� �
�� ����	

��������8���	 7������



�����	� #

$	
��	�
� ���  ��������� ��� ���	�

������ ��� ��	��= ��� 78������ ��� 9��� � ;��� ���� �!!!  �	 �� $%&�����	�
 �	��

������
  �� 7�����= ��	 ���� 
�8�5���
�� ������ ��� 
�
	
��	���	������	�
� ��@���
�A � 

8G��������������� 57������ 	��)�����	������ ����	�
��
�
	
���	������ ��� 
�
	
��
���	�
�

 8
������ ���� �
���� 9������ ��	5	 ��� ������ $���	8������ ��� � �B���� ��	 �� �������

��	�� 1
����� ��� $��������  �	 �� �����	�� ����������� �� 8
�����	 ����� ��������	� ��� ���

���	�
� ��� "
����	�� 1
� G�	������������������ ��� ����������	� ��� ;��8�������	����� ���

���������8���	�� ��
 �	������� ��5��	��5 ��� $%&�����	�
 �	����

��� ���	� (��� ������ "���	��� ����/	 ����  �	 ��� ;����������� ��� 78������ ��� 9��� � 

;��� ���� ������
  ���� ��	�� ����� �� �����	� ����������� F�� �� ���	�
� ��� ����������

7���� ��� �� "���	�� ��� ������������ 6�����	
� 
�34�( 1��7����	= ��� 5�� ;��8��������

	����� ����� 5� 	
	���� *�������+��������		 ��� ����	�
��
�
	
���	������ ���	��������

"
 �
���	�� �
7
�� ���	� 7�� 7����� �	�����
5���� ��	�8��	� < ��� �� ��� ����0�� �	����

	� ���� ������= ��/ ������58������ ���� "
����	�� ��� �� �����	�� ���������� 1
����
  ��

7�����  �/	�= ��� � ���	�� �������		 ������ "���	��� ������	���	 7����

��� 57��	� �������		 ��� "���	��� ���������	 ��� �����	�
� ��� ��	��� < $��������  �	 ���

 �����	�� ����������� 7����� ��� ����7���	�� �����		� 5�� G�	������������	�
�  
	�1���	

��� ���� ���7�������� ��� ��� ��	��1��	�������� ������	���	�

F� �������/ ��� ���	�� (���� ������ "���	��� 7��� ��� ;����������� ��� �� ������� ��	��

����� �� �����	� ���������� �����	���	� ����� 7��� ��	�������	 ��� ��� $�������� ��� �����

	�
���8
/�� ����������� ��� ��� ��� �
�� ���	������� 
�
��� � ��� ��� ;����������� ���

����
������� ���5��	����� �����7������

< 57��	�� (��� ������ "���	��� 7��� ��� 9�	�
�� 5�� 9������ ��� ��P����	������ *��������

+��������		� ��� 5�� ;��	�  ��� ��� �	���	������	�
� �� ������������ 9�	 ����� ��� ���

 �����	�� ���������� 7����� �����		�Æ5���5�� ��� ��5��	��5�
����	���� ���	�  	 ��� ���

���	�� 1
��8��)��� �������� ��� 9������ ��� 
�
	
��	���	������	�
� 1
����	���	�

��



�# .������ 9� ��� ���#$ 1�� ���������� ��� �����

)�� 3�4���	 �� ��� ��������	�� ����������

<�������� ��� ��������������	
�� 
�34�( 7����� ��� 1������������ �	�����
5����= ��� 5� 

	
	���� *�������+��������		 ��� ����	�
��
�
	
���	������ ���	�����= �� ���	 1�����������

��������������� ��	��	���	� (������ '�� ���	�	 ��� ���5����� �����
5����  �	 ����� 
�34�(�

��	����� <���	�)��	�
����  �� �
7�� ��� 1��7����	�� ���8��5����� ���� :���� ���� ����

�	������ 
�
5����� @
�A 7����� 57�� ����	���P���	�1� @:�A ��� ������� 	 �8��� ��P���	�1�

�	�������	�
��� @�%= H�= �
= 6�= ��A ��	���������� @1��� "���	�� ���A�

:�� �����
5�/ ;�5��������

� ����	���P���	�1� ������	����� �	������ :�= (��� �

� ���� ����	����� �	������ 
�

� +���������	����� $��	
� ��
��
�
���	�
� �%

# 5��	���� ��P���	�
� @F7���

 ��
���	������A H�

' ����������P���	�1� ����
5��	�
� @
�
	
�A 
�

� ����������P���	�1� ����
5��	�
� @
�
	
�A 6�

2 �
����	���P���	�1� ����
5��	�
� ��

, �����	� 
�
	
��
�
	
���	������ :�= (��� �

���� ���
 -�GQ	��������� ������C������%������� ��� )�(��#$��� �� ���

(�� ������� D����� %E���%#$���� '����� ����� ��'���(�%%��

< ������ ������  ��� ���� '�� ���� ��� ��	���� ��� ���5����� �����
5���� � 	
	���� *���

�����+��������		 ��� � 
�������� ������� -� --�6�$� � �� � �� -6�$� ��� � 5 -� --�

��������	�� ���������� ��� �	����������	�������� ��� 6�����	
�� 
�34�( ������	���	� ���

��	��� ���� ����	������ ����	�
��� �
7�� 1
� 
�
5�����  �	 F7���

 ��
�����	����� ��	 1���

�����8�������� ������� ��� 	
	��� *�������+��������		 7��� �	�		������ ���	���� �
 �����	

1
� ����	���P���	�1�� ������	������ �	�����
5����� @:�= (��� �A= ��� ���� 2- O ��� ���������

�� ��� ������

< ��� �� ��� ����0�� �	���	� ���� ������= ��/ ������ �	������ 8�/�� �� 
�34�( ��	��

�����	� $���8��	��� ��� �����
5���� 5� ���	������ ���������5�� ��� ��� ;����������� ���

����
������� ���5��	����� ��� �� ������� ��	�� ����� ��� �� ���	�
� �8���	� ��� ��	���

��P���	�1�� ���������� � 	
	���� *�������+��������		 7����  �	 ��� ����� �- O ���	�

���� ��	�����8�	5	� ����� 7����� ��� �� �����	�� ���������� ��������� ��� �� �� I��= �'J

����������� $���8��	��� ��� *�������+��������		� ��� ���5����� �����
5���� � ��7���	�	>

��( > ��
 > �$( > �)( > �(( M #,=# > �-=� > '=2 > �'=2 > �-=� �

��� ���
��	� :
� ������ ��� �� �����	�� ���������� 7���� ����� ����	 ��8�����	� ��� ����	�

������  ��� ���� '�� 5���	 ��� ��	���� ��� ���5����� �����
5���� � 	
	���� *��������

+��������		 ���� ��� G ��7���	��� ��� �����������



9�/� 2�"�#$��� ���  ���������� 	��� ��%%� �'

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

ND PE EL CD PD GD DD ND

Subprozeß

A
nt

ei
l

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

ND PE EL CD PD GD DD ND

Subprozeß

A
nt

ei
l

���� ���
 
�����1�� ������ ��� ��'���(�%%� �� ������� D����� %E���%#$����

1�� 5����%7 ��� ��#$ ��� .�������� 5��#$�%7�

��� ���.�/ ��� "
����	�� ��� �� �����	�� ���������� ��� ��� $��	�������� ��� ����
�������

���5��	����� 7��� �� ���� '�� 1�����	����	� ��� ������  � 5����� ��� $��	�������� ��� ���

 �����	�� ���������� 1
� ��� ���� ��� G ��7���	��� � $�������� 5� ��� $��	�������� � 

�B���� ��	 �� ������� ��	��� ������	���	 ���� ��� &�����	 ��� ��1�����	�� 9���� �
7��

��� ��"
 �
���	� ��� < ������ ��� ����
������� ���5��	������ ;���� 6�8
/�� 7����� ����

��� 9�	�
�� �
 ������	�� 3�C��	� ��������	>

� �
��� M

�
�
��

� �
�
����� Q ����� Q ��'��

�
��� #'���� M

�
�
�'�� �

��� ��  �� ������ ����� 8���� ���� 3�C��	� ��� ����
������� ���5��	�����= ��� ��� ���

� %���"��
�� �	�� ��� ������ �� ������� �����������	��� ��� �� ��� ������  ��� ���

�
��	�����	�� ������ �
 ������	 7������ ����� 9�	�
�� �� 8
�����	 ��� "
 �����	�
� 1
�

$�����	��= ��� ��� ��� ������� ������ ������������	������ (������� ���	��	���

F�� �����	�
� ��� ���������� 7����� ��� �� "���	�� '��  
	�1���	�� �����		� 5�� G�	��������

�����	�
� ��� �������� ����	�
� ������ ����7����	� G ��� ���.�/ ��� ��� 6�����	
����

1��� ��������8���	�� G ��7���	��� ��� �����
5���� ��  8
������	 �����������8���	�� ?
� 

����	����� 5� �8
����= ������ � 6������	5 5� ��� �
�	 ������������� ��	�������	�
� ���

$��	�������� ���� ���������� 5�������= ��� 1
 �������1�� (������ �#! ������8
�	 7�����=

���
 ������ ��� ��� 9������  �����	��� ����� (�������� � $%&�"��
�� �	�� �������� ���

$��������  �	 "���	�� '���� 5���	= ��/ ��� �� ��� ���	������ �'- � ��� ��	���	� ?
�������

��� (��������� ��	� #��$ 
% ��� $��	�������� ��� ����
������� ���5��	����� ��7��	�����

�� 8�/ �	��� �����.�/	= �
 ��/ ��� ���.�/ ��� G ��7���	��� ��� �� �����	�� ���������� ���

�
�� ������	 ������	���	 7����� ����� ��� �� ������ 6���� 7���� ���� ��� ��� ?
�������

����� ���
��	�����	�� $��	�B 1��5���	�	�

��� $�������� ��� �� ���� '�� ������	���	�� ������  � 5���	= ��/ 1
� ��� G ��7���	���

��� �����
5���� ��� $��	�������� ��� ��1�����	�� 9���� ��� ����
������� ���5��	����� ���

��� ��"
 �
���	� ��� < ������ ����	�8������� �8�� ������ *��	� 1
� � � �57� ����	�1� *��	�



�� .������ 9� ��� ���#$ 1�� ���������� ��� �����

0

0.5

1

0 2 4

log10 W
2 had [GeV2]

1/
N

 d
n/

d(
lo

g 10
 W

2  ha
d)

 [G
eV

-2
]

H1
PHOJET

0

0.01

0.02

0 50 100 150

Pz,had [GeV]

1/
N

 d
n/

dP
z,

ha
d 

[G
eV

-1
]

H1
PHOJET

0

0.5

1

0 2 4

log10 W
2 had [GeV2]

1/
N

 d
n/

d(
lo

g 10
 W

2  ha
d)

 [G
eV

-2
]

H1
PHOJET

0

0.01

0.02

0 50 100 150

Pz,had [GeV]

1/
N

 d
n/

dP
z,

ha
d 

[G
eV

-1
]

H1
PHOJET

���� ���
 ��� ��������� �� ��� ��1�������� ;�%%� 5����%7 ��� ���

��.��������� ��% �����%�% ��% $������%#$�� 	��(�%�����% 5��#$�%7 �� %����

������� ��� �� 	0��������  ���%%���� ����� 1�� 5�'��7 ��� ��#$ ��� I� ��

"�#$��� ��� %���������� 	��� ��%%� 5�����7�

1
� #' �	��� 1
��������� ��7������� �������� ��� 5� �������� ;��	���� ��P���	�1�� 
�
5����

5� 	
	���� *�������+��������		 ��	 ��� ��	��� �� �����	�� ���������� �� ������ ;��������

�������� ��� �� ��� ��	��= 7
����� ���� ������5��	�� ��� 8G�������/ �� �����	�� ����������

�8�� �
�� *��	� 1
� � � �57� �
��	�1� *��	� 1
� #' �����	� ����� ��� G ��7���	��� ���

�����
5���� 7����� ��� ��� ��P���	�1�� 
�
5����� ����������� ���������� �	8����� ��7���	�	=

�
 ��/ ��� $��	�������� 1
� �� ���	�
� ��� ��	�� ���	���� ������ 8��������	�  ���

�� �����	 5� �� �����= ��/ ��� �� I�'J ���������� $���8��	��� ��� ���5����� *�������+����

�����		� ��������	�  �	 ��
/�� ?������ �����	�	 ��	 ��� ����������	� ��� 9�������� � ;������

��� 
�
	
��
���	�
� �����	= 7�� ���� ��� G������� ��� �
�� 1
��������� �����	�� �������

���5�� 57������ ��� $��	�������� ��� ����
������� ���5��	����� �� �� ���	�
� ��� ��	��



9�>� 	��� ��%%�������� �2

����	����� �8
��	���

��	����	�1 5� �� ���� ��78���	�� *�� ��� G ��7���	��� ��� ���5����� �� ��� �������������

��	
� 
�34�( � ��� ��	���	�� �����
5���� ��	 ���� ������ 9�	�
�� 5�� ;��8�������	�����

��� �
����	�� $���8��	������ ����� 5� 	
	���� *�������+��������		 ���	�������� �	�����
�

5���� �������� ��P���	�1� ���������� �8
��	��  �	 ���� ��� ����� ����	�
��� ���5��������	��

��������������	
� 7�� ��
6�
 I��J ���5��� �� �����	 ��� ����� �����	�
� 	��)�����	������

����������= 7�� ��� ���������7���� ��� 6�����	
� �4�:63I��J ��5���	= ���5����8��	 7������

��� $�������� ��� ������ 9�	�
��� ���	 C��
�� 8���� ��� ��� �� ������ ����0�� �������

:���� ��� G ��7���	��� ��� ���5����� �����
5���� 7���� 5��8�	5���� ��� ���
��	� :
� ���

���� ��� �� �����	�� ���������� ��8�����	� ��� ��������������	�
� �� 
�34�( �����	 ��� ���

�� "���	�� ��' ������������� H"9(�
��� �	��������� ��� 
�
	
��	���	������	�
� ��� G 

��� �	��� ���	���� *������ 5� ���8�������	����= 7����� ��� ��������	�� ���������� �	�		�

������ ���� ��� $
��������� ��� 9
����� �%%9!2 � ��7���	�	� ��5� 7����� ��� ���

��������	��= �����
5�/��
�������	�� ����������� ��� *��	� ��� �	���	������	�
� �� �� ��� �'

�� "���	�� '�� ��)����	�� �����<�	��1����� ��������	� ��� &�
	���	 ��� ��� �
 ���	�  	��

��� ���� ��� �%%9!2�
��� �	��������� ��������	�� *��	�� ��� �	���	������	�
� ������	

��� G ��7���	�������	
��� �8�� ��� ���5����� <�	��1����>

8 M
��@T� � T��

 A'%%(��

��@T� � T��
 A)*+��

9 M �� � � � � �' �

�� �	 ��	 ��� 	
	��� *�������+��������		 ��� �� �����	�� ���������� �� ��� ��78���	�� <�	���

1����� ����	����  �	 ��� $
�������� ��� 9
����� 1
� ���� 
7��5= %�1��= %�10 ��� 9�
��

)�� �������������	�
�

��� F��� ��� ����0�� ��� 78������ ��� 9��� � ;��� ���� �!!!  �	 �� $%&�����	�
 �	��

������
  ���� ��	�� ��	 ��� 
�8�5���
�� ������ ��� �	���	������	�
� ��@���
�A ��� �������

< ����8����	�8���� �� ��� ������� *��	�� 1
� �� ��� ���	�� �����		 7��� ��5� ��� 
������

��� ������� ��78���	= �� �� ���� ������� "
�	�
��� ��� G�	���������  8
����� ��	�

*�� �� "���	�� #�� �����������= 7���� 78������ ��� 9��� � ;��� ���� 57�� "������ $%&�

��5
����� ���	������ ���������	�	� �� ��� $%&������0�	� 5�� G�	����8������ 1
� G�	���

���������������� �8�� ��� ��� ��� �������1�� (������� ���������� 9������ �
	7����� ��	= 7����

��� ���7��	��� ��� 1
� ������ (������� ������8
�	�� ���������� ��� �� �	 ��� 9������ ���

�	���	������	�
� � ;������ ������� *��	� 1
� � 1
����	 5��8������	���	� �������� ��� ���	

���5�� F��	������= ��� ���	 ��� ��	����� � ���� ��� 4����� �!!! 1�������� ��	= 7�� ���

<�	����	�
� ��� �����0�	� � ��� $%&�����	�
 �	��� �� ��� ����0�� �
�� ����	  8
������

��� .������ 9�F�> "���  �(�� �< ��H ��� $����%3�#$��#$� I�%�#$� &3�� ��� ��#$� (�&������%�������� )�%#$����

'�� ��� ��������� �� �� ����� �����%#$�����#$�� .���'������ ��% $������%#$�� 	��(�%�����% �� ����� ���

���������� (� C���� �%��



�, .������ 9� ��� ���#$ 1�� ���������� ��� �����

�� 7����� ��� 1
 ���	������ �'- ������8
�	�� ���������� �����	���	� ����� 7����� ��� ����

�����78���	= ��� ��� �
������� ;���������� ���8���	��>

� ;���� 9
���� ��� $%&�����	�
 �	��� �������� ���� 78������ ��� ���� 	�� ���� ��
��	����� ��
��	�
��

� ��� 5�� ;��	�  ��� ��� (��������� ��	� #��$ 
% �
	7������� 
�
�
�	�
�����  ���

H<
 ��� H3
 7���� ����������	�	�

� ��� ��	������	� %� ��
��	8�	 ��� ���� ��	���  �����	��� -=' ���� �

� ��� $���8��	��� 57������ ��� �
���������������8���� �
�������	�� %� ��
��	8�	 ��� ���
���8��������� %� ��
��	8�	 ��	���  �����	��� -=2�

��� ��� �
���������������8���� ��� ��	����	������	� �
�������	� %� ��
��	8�	 ��� �
 �����	����

	�� ���� ��	�8��	>

���� M !,, ��
�� �

F�� ;��8�������	����� ��� �� "���	�� #�� ������������� "������	�
� ��� "��
�� �	�� ��� ���

� $�������� 5�� 3���������
��	���	�
� �� I��J 
�	� ���	�� 
��� �	��� ��� H���	�����
��	��

 �� 7���� ��� ���
��	���	�
� ���  �	 �� $%&�����	�
 �	�� �� ������� 6�8
/�� 7������

�
�	� �� ��� $%&������0�	� �
�� ����	 5�� $���8����� �	���= 7����� 5�� ;��	�  ��� ���

���	��P����	� ��� ����	�
��������	�� ��� "

�����	�� ��� ���
��	�����	�� "��
�� �	������

�	�� ����	5	� ����� 7����� ��	�� ;��8�������	��� ��� �� "���	�� #�# 1
����	���	�� �����������

��� ��	��	
������ ��	� ��������	� F�� 9������ ��� �	���	������	�
� �� 7���� ��� ������

������� �	�� ���� ��� �� "���	�� ��2 ������������� ����	�
��9�	�
�� ���	�  	�

< �
������� 7����� ��� ��� ��� 7�� 
��� ����������� �����	���	�� ��� ���
��	�����	�� ���

	�� ����7���	�� �����		� 5�� ���7��� ������ �� ������� ��� ��	������������� ����������

������	���	� ����� 7��� 5����	 ��� ��� �����	�
� ���  �	 �� $%&�"��
�� �	�� �� �������

����	�
��������	�� ������������ ��������/��� 7����� ��� 	���������� �����		� 5�� G�	���

����������	�
� ���8��	��	� �8� 	����� �����		� 7����� ���� ��� ��� �� �����	�� ����������

����7����	 ��� ��� �����	�������� $��	�������� 7�����  �	�������� 1����������

:���� �����������= ��� ����� ����� ��� H���	�� � 
����� 
��� ��	���� "��
�� �	�� 
���

��� $%&�����	�
 �	��� ���
��	�����	 7���= 	��	�� ���������� ���= �� ����� �������� ��� ���

�	������� ����� 
�
	
�� ���� ��� *������7������ 
��� ��� ������������ ��� ����	�
�� 57��

H���	�� �� ���� 9
��� �� ����� 7������ �� ���� ������ ���
��	���	�
� ��� �������������

 �	�� ��� 9������ ��� ���� 	�� ������� ��� ����	�
�� ���
����	= 7����� �� ������ ?8����� ���

������ H���	�� 5� ���� 5���  ������/	= ����� ��� ���	��� ��� H���	�� 7������ ��� �=' � 

��	�8��	� ��� ������� ��� �����	�������� H���	��� 7��� ��� ��� ��  � ��� ���5����������

�������	= ��� ���� ���	��P����	 ��� ��� ���������7���	�	�� 9�		��7��	�� ��� ���������
�


�����	�� ��������	� <�	 ��� ���	��� ��� H���	�� ��8
/�� ��� ��� ���������� 6���57��	= 7���

��� ��������������� 1
� ������ ��� ����	�
� ��	�����	���	�



9�>� 	��� ��%%�������� �!

-10

-5

0

5

10

-5 0 5

x [cm]

y 
[c

m
]

Strahlachse

Symmetrieachse
des Strahlrohrs

aktives Material des oberen Kalorimeters

aktives Material des unteren Kalorimeters

���� ���
 ��������� ��� 	����������������� �� ��� ����.�����������'���

��#$ ��"����� ���  �������%#$�� ���������%%#$������

*��� �
7
�� � 
����� 7�� � ��	���� "��
�� �	�� 
��� ��� H���	�� ���
��	�����	= 7��� ���

��������������� ��� ����	�
� ��5��	���	= ����� ��� ��  � ��� �������� ������� ��	 ��� �# 6�$�

����������� 7��� ��� �������� ��� &���H
 �	
���	������ ��	�����	���	 ��� 1��7
�����

F�� 6�78�������	��� ����� ��	�� ����������
��	���	�
� ��� �
��� (�������Æ5���5 7��� ���

9�����	���	��� ��� "

�����	�� ��� ���
��	�����	�� H���	��� 1
� ��� �8������ ��� "��
���

 �	��� ��� �� 1
 ������ ��������		�	�� ;������ ���
����	>


����� 9
���>

���� � #� - � 

�� 5 #� �� � 

�� M
�
��� Q ��� � �� ' � 

��	���� 9
���>

���� � #� - � 

�� � �'� �# � 
�� M

�
��� Q ��� � 2� ' � 

���� '�� 5���	 ��� $��	������ ��� �
 �����	���	�� ����	�
��������	�� �� ��� ����"

�����	���

������ :���� �� &��������		 ��� �	�����
��� ���� ��� ;�����5����� ��� ��	�1�� 9�	������

��� "��
�� �	�� 
���� �����5������	�

<� ���� '�# ��	 ��� �� I2J ��78���	� ���	������ ��� ���� �	������ ����� �� �����<�	��1����



2- .������ 9� ��� ���#$ 1�� ���������� ��� �����

10
-6

10
-5

10
-1

Q2 [GeV2]

x

y = 0.30

y = 0.38

y = 0.46

y = 0.54

y = 0.62

y = 0.70

Q
2  =

 0
.0

68

Q
2  =

 0
.0

92

Q
2  =

 0
.1

28

Q
2  =

 0
.1

92

Q
2  =

 0
.2

48

Q
2  =

 0
.3

00

θ=
17

9,
2°

θ=
17

8,
5°

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

���� ���
 	�������� ��� ��������%#$�� 	'��� �� ����������1����� ��� (�� ;�%�

%�� ��� ��������&������� �� �� ��� � ��������� �����1���� %��� %#$��Æ���

��� �%�����< ��#$ J@K�

5�� 9������ ��� �	���	������	�
� �� ��������� ��� ��� 1
 ���	������ �'- ������8
�	�� ���

��������� ������	���	� �������� ��� ��7��	������ 8�/ ��� ������� *��	�� 1
� � �����������

�Æ5���5 ��� (��������� ��	� #��$ 
% ��� ��� ��� ��
/�� *��	�� 1
� � ��� �� �	 �����

����� ����	�
��������� ����������� �Æ5���5 ��� ���	������� �#! @1��� "���	�� #��A 7����

��� ��;������ ��� *��	� 57������ -=� ��� -=2 ���������8���	� ��� ��5��	��5������� ��� 

�

���7������ � ������5	 �� ��� *��	� 57������ -=-�, ��� -=�-- 6�$�� ��� ������� 6���5��

��� <�	��1���� 7����� ���	�  	 ����� ��� ��.8
���� ��� 6�8
/�� �� ��� �� ��� �
 ��)�����

	� ;�����5��� ��� 
�������� � 7��� �� ������ �����	 8�����
  �� ��� ���� �����	�
� ���

����	�
��������	�� 1
����
  ��= ��� �� ��� 
��� ������	�� �� ��� ���<�	��1���� �������

$����������� ��	�� 1
� G�	�����������	�
��� 1���8������� ��� 9������ ��� ���	���	�� �����

	�
�� � $%&�����	�
 �	��� :���� 
�
	
��
���	�
����	������� �8����� �	��������5���	�

G�	�����������������= ��� ����� *������7�������� ��� ����	�
��� 
��� 
�
	
��� ��� �����

�	������  �	 ���	����	
 �� � �	�����
�� 
��� �� 9�	����� ��� �	�����
��� 1��������	

7�����= 5� F������	��P��� �� ��� "��
�� �	��� ��� 7����� �8�����������7����  �	 ��� ���



9�>� 	��� ��%%�������� 2�

0

0.5

1

1.5

2

20 40 60 80

E-Pz [GeV]

dσ
/d

(E
-P

z)
 [n

b/
G

eV
]

H1
PHOJET

0

10

20

30

40

50

0 0.5 1 1.5 2

ybal

dσ
/d

y ba
l [

nb
]

H1
PHOJET

0

0.25

0.5

0.75

1

-40 -20 0 20 40

zVertex [cm]

dσ
/d

z V
er

te
x 

[n
b/

cm
]

H1
PHOJET

���� ���
 ��� ��������� �� ��� 2�3�H�� ���� 5�'��< ����%7< ��)����#� 5�'��<

��#$�%7 ��� ������� 5�����7 &3��  ���%%��� ��� %��������� 	��� ��%%� �$�� ����

��0'���� �� 1�� ��� ��"����� ��#$��%#$�� �#$������

	�� �����	���	� �� ��� ��� ������ ����������� �	�  ����� (������� � 6������	5 5� ���

�	�����
���	�� ��� ����	�
��
�
	
��*������7�������� ��� ���5����� "
 �
���	�� ��� ���

��	��	
�� ����	 ��������� ��� ����� ��� �����F��		��	 ��� ��� ��	������� 5� *�������

7�����������	 1
���������� F��	����	��� ���������= ������ ���� G�	����������������� ������

��	 ����� �����	� �����		� ��� ��� 1
� ��� �����	��	
��� ��������	�� F��	���
� �	�
��� ���

$�	
� ����5������� ����� 7��� ���
����	= ��/ ��� 1
 ������ ��������	� F��	������ �
�H�%�

(�H� ��� *������7�������5��	����	 ���	8�	��	 ��� ��� 1
� ��� 5��	����� 4�	�����	��  ���

��������	� F��	������ H4H�(� ��������� ����� ?���	��� 1
� ��- �� � ��� �
 ������� F��	�
����	 �
7�� ��� ����� "
�����
� ��8���� 
��� ��8�	�� @�!� ��A ����	�

���� ����% ��� ���%��� ��'����������< "�� ��#$ ��� ��% �������< "����� (�� &�3�$(���� �� I���� �����

��������� %#$�� ��& ��� ���  ��%��&� �/ ��% ����(��
���������	� ���� ���1�����



2� .������ 9� ��� ���#$ 1�� ���������� ��� �����

0

0.5

1

1.5

2

20 40 60 80

E-Pz [GeV]

dσ
/d

(E
-P

z)
 [n

b/
G

eV
]

H1
PHOJET

0

10

20

30

40

50

0 0.5 1 1.5 2

ybal

dσ
/d

y ba
l [

nb
]

H1
PHOJET

���� ���
 ��� ��������� �� ��� 2�3�H�� � � �� 5����%7 ��� ��)����#� 5��#$�%7

&3��  ���%%��� ��� %��������� 	��� ��%%� ��#$ �������� ����% 1�� ��� (��������

Q������&�������� �Q� �����%��������� �����0�

F�� 7��	���� G�	������������	�
� 7����� � �
������� ��� ��	��1��	�������� 1
� 6�8
/��=

��� ��� G�	����������������� �����	�1 ����=  �	 ��� $��	�������� �� �����	�� ���������� 1���

������� ��� �
 �������	� �����		�  
	�1���	�

F� ����� ���	 ��� 6�8
/� � � #' ��������/ 8���� �
�� 1������������ G�	�������>

� � #' M
�

�
@�� � �'��A Q ��%& � �'��%& �

��� ��  � �8���	 ����� 8���� ���� ��� � %���"��
�� �	�� ��� ������ �� ������� H���	���

��� �� ��� ������  ��� ���
��	�����	�� ������ �
 ������	�� 3�C��	��

?8�� ����������= ��� ����� ��� ���	���	� ����	�
� � $%&�����	�
 �	�� �� ����� 7����=

�
��	� ��� 6�8
/� � � #' �������� 1
� ������� ��� < ���������	��� �� �	7� ��� *��	 ���

�
����	�� ����	�
��	����������� 1
� '' 6�$ ����� ��� *��� �	�		������ ��� ����
� ���

���5��	����� ��� 
�
	
��
���	�
�������������= ��� ����� ��� ����	�
� �� ���� ��� �����

	�
�	����� ����	�)5���	 7��� 
��� ��	���� ��� �	�����
��� ��� �� ��	��	
� ��	7����	= � 

$%& ��� ����	�
�  �/����	�)5���	= ��	 ��� *��	 1
� � � #' ��������� ���� ����	�
������

5���	� G�	�����������������= ��� ����� 57�� ��� ���	���	�� ����	�
� � $%&�����	�
 �	��

�� ����� 7���= ��� ���	������ "
 �
���	�� ��� �����	��	
�� C��
�� ����5� ���� ����= 5�����

����� �����	��� 
�
	
�����5���	� G�	����������������� �������� ��5����� �� ��� ����� �
��

� � #'�*��	��

���� ��� ��� ��� $���8��	��� 1
� ��� 5� �� ��)����	� 6�8
/� ��;������ ���� 5�� <���	�)���

	�
� 1
� G�	������������������ ����	5	 7������ �����
 7�� ��� 6�8
/� � � #' ���	 ��� � 

$�������� ����
������� ��� ����	�
������� 6�8
/�� ��������/ 8���� �� ��� ��	�� ��	���	���

G�	�����������������= ��� 5� ��7��������� ��� $��	������ 1
 �
��7��	 ���� �8������

<� ���� '�' @
���A ���� ��� $��	�������� ��� 6�8
/�� � � #' ��� ��;������ �8�� �� ������

��� �� �����	� ���������� ���� ��7������ ��� ������ ������������� �����		� ������	���	�



9�>� 	��� ��%%�������� 2�

0

0.5

1

1.5

2

20 40 60 80

E-Pz [GeV]

dσ
/d

(E
-P

z)
 [n

b/
G

eV
]

H1
PHOJET

0

10

20

30

40

50

0 0.5 1 1.5 2

ybal

dσ
/d

y ba
l [

nb
]

H1
PHOJET

���� ��!
 ��� ��������� �� ��� 2�3�H�� � � �� 5����%7 ��� ��)����#� 5��#$�%7

&3��  ���%%��� ��� %��������� 	��� ��%%� ��#$ ��"����� ��% ������#$�����%�

��� �� �����	�� ���������� 7�����  �	 ��� �� "���	�� '�� ��������	�� ?��	
��� � ��7���	�	

��� ��	��������� ��� �� "���	�� #�� ������	���	�� (�������Æ5���5�� �� ��� ��	�� ������/	��

��� � � #'�$��	������ ��  	 ���	 *��	� 
������� 1
� �	7� �� 6�$ ��= �� �������� ���

�������8������ 1
� �� ��� *��	� ������� -=2 ��� ������� ��� ���	���	�� ����	�
��  �����	���

,=�' 6�$ ��	�����  �/��

��� ��7������ ��� ��	��1��	�������� ��� ������� *��	�� 1
� ��#' ��� ��;������ 1
� ���

�� ���	�
� 7���	 ��� �
�� 1
��������� G�	������� ���� ����� G�	����������������� 7�����

���� �P��	�1 ����� ��� ?
������� ����� ���
��	�����	�� $��	�B ��	����8���	� F7�� ��	�8��	

��� ���	������ �'- �������� ��� < ��� ��	������ ��� (��������� ��	� #��$ 
% ���
� ����

��� ��� 
�
�
�	�
�����  ��� H<
 ��� H3
 ���������� $��	�B���������= �
�� 7��� �����

�Æ5���5 ���	���� ����� ��� ������� ����� 1
� ��� 5��	����� 4�	�����	��  ��� H4H 
Y���

���
��	�����	�� $��	�B ���8
�	� ���7��	���� 7��� ���
����	= ��/ ��� ��"

�����	� ��� $��	�B

��������� ��� <�	��1���� � �' � ����	� ��� ��	��� ������  �� ���� '�' 5���	 ��� ��$��	�B�
$��	������ ��� ��	�� ��� �� �����	�� ���������� ��� ��� ����������� �����		����5���

<� ���� '�� ���� ��� ��#'� ��� ��;�������$��	�������� ���� ��7������ ��� $��	�B������

���� ������	���	� ��� ���	��� ��� $��	�������� ��� ������� *��	�� ��� 6�8
/�� 7���� �����

��� ?
������� ����� ���
��	�����	�� $��	�B �����	��	� �� �8���	 C��
�� ���= ��/ ��� $��	��������

��� �� �����	�� ���������� �����8���� ����� ��� ��	�� ��������	� �����	 5� ��������� *��	��

1�����
��� ��� ����������	� ���	���� ��� ���� ����� *��	����� �	�  �� ��� F��	���7��	� ���

�)�� ��� ��������� ��� %���������� 	��� ��%%� "���� ����� (� ��� �� 	0��������  ���%%���� �����

 �&������< ��H ��% ��� ���  ��������� ���	 �
 ���%���#$���� %��������� ���  ��'��  �%��(� "��� ��%#$����

H��� "����� ��� %� ��% �"3�$���� 	��� ��%%� '�%������ ��& ��� ���� ��� ��� ���%�'$3�� � �� 	Æ(���(�� ��%

��'���  ��% �8L �� �"�#$����
���& ���� ��� �0���� ������� �����"����� ��� �� ����������������  ���%%���� 	���������  ���

���� � ������ � > ������



2# .������ 9� ��� ���#$ 1�� ���������� ��� �����

0

0.5

1

1.5

2

20 40 60 80

E-Pz [GeV]

dσ
/d

(E
-P

z)
 [n

b/
G

eV
]

H1
PHOJET

0

10

20

30

40

50

0 0.5 1 1.5 2

ybal

dσ
/d

y ba
l [

nb
]

H1
PHOJET

���� ��#
 ��� ��������� �� ��� 2�3�H�� � � �� 5����%7 ��� ��)����#� 5��#$�%7

&3��  ���%%��� ��� %��������� 	��� ��%%� ��#$ ��"����� %3�����#$�� ��������

��%%#$������

� � #'� 7�� ���� ��;�������$��	�������� �
7
�� �� �� ���	�
� 7�� ��	�� ����	  �	 ���

�
��7��	�� '' 6�$ ��� ���� 8�������= �
����� ���� 5� ����������� *��	�� 1�����
����

��� �� ��� � � #'� ��� ��;�������$��	�������� ��
����	����� ���������5�� 57������ ���

 ������� ��� �� �����	�� ����������� ���	�� ��� ���� ��	������������� "������	�
� ��� � 

%���"��
�� �	�� ��� ������ �� ������� ����
������� �������� �� �� ���	�
� ��� ��	��

���= 7
���� ������� �� "���	�� '���� ����������� 7����

F�� 7��	���� G�	������������	�
� 7��� ��� ��� 6�8
/� � � #' �������		��� ����� ��� ;��

����8������ ��� *��	� ��8
/�� ��� #- 6�$ 7����� 
�
	
��
���	�
������������ ��� �
�� ��	�

���	���� ����	�
�����5���	�� G�	������� 1
� ��� ��	�� ��	����	� �������� ��� ����	 5������

����	�������� ;����������� ��� ��	��1��	������ ����� ��� �� ���	�
�= ����� G������ 7������

� $
����������� 1
� G�	������������������ ��� �� ����� �������	�� "������	�
� ��� ����
�

������� ���5��	���� 5� ������ ������	= 7��� ��� 
���� �����		����5� 1
����	 ��� ����	�1 �
��

*��	 2' 6�$ ��78���	= � ��� ���.�/ ��� �����		�Æ5���5�� ��� ��� 9������ ��� �	���	���

����	�
� ��  8
������	 ������ 5� ���	��� ��� 6���5�� ��� ����7���	�� ��#'������		� ���� ��

���� '�� �����5������	� ���� '�2 5���	 ��� �����	�������� ��#'� ��� ��;�������$��	���������

��7��	������ 8�/ 7���� ��� $��	������ ��� 6�8
/� ��;������ ����� ��7������ ��� ��#'�

�����		�� 1����� 8����	�

���	����� G�	����������������� 7����� ����� ����� �����		 ��� ��� 6�8
/� ��;������ ��� ���

��	�� ��	����	� ��� �����		����5� 1
� -=# ��	 �� ���� '�2 �����5������	� <� ���� '�, ���� ���

$��	�������� ��� 6�8
/�� � � #' ��� ��;������ ���� ��7������ �8� 	������ �������������

�����	�
�������		� ������	���	�



9�F� ��� ��� ���#$ 1�� ���������� ��� ����� 2'

)�# ��� ��������� *
� ��� ��	�
�  �� ��	��

:��� ��7������ �8� 	������ �� "���	�� '�� ������������� �����		� �
��	�� ��� �����	���	��

��	�� ����� G�	�����������������  ��� ��	���	��= �
 ��/ ���� ��8�5��� 9������ ��� 
�
	
��

�	���	������	�
� �� ��78�������	�	 ��	� ���� �8�/	 ���� � $�������� ��� ��	��1��	�������� ���

����	�
���8
/�� ��� ��� ����
������� ���5��	�����  �	 ��� $��	�������� ��� �� �����	��

���������� 8������8�����

����� ��� '�������!�,�-��

$
� ���
������ ;����	��� �8�� ��� ;��������� ��� �	���	������	�
� ��@���
�A ��	 ���� ��	�

;����������� ��� ��� �� �� ������� ����	�
� ����������� 6�8
/�� ����� ��� �� ���	�
�=

�� ����� ����� ��� ������������ �	�� ���	�  	 7���� ��7��������� ��� $��	�������� 78�����

��� �
	7������ ;��	�  ��� 1
� �����		�Æ5���5�� ��� ��5��	��5�
����	���� ��� ��� �� ��

����	�� ����������� �������� ���������� ������ ��� ���� 
�8�5���
�� ������ ��� 
�
	
��	����

	������	�
� �� 8
�����  ������

<� ���� '�! ���� ��� $��	�������� ��� ������� �� ��� ��� 

���7������ �� ��� ���	���	�� �����

	�
��� ���� ��7������ �8� 	������ �����	�
�������		� �8�� ��	�� ��� �� �����	� ����������

��	����	 �8�� ��� 
���� ��� ��	��� "��
�� �	�� 
��� ������	���	� ��� ��	��1��	�������� ����

��� 6�8
/�� 7����� ��	 ����� ��� �� ���	�
� ������������ ��� �����������	�� 7��� �����

��� �����	�
� 1
� �����������  �	 �������8����	�8���� � 57������ -=� ��� -=2 ��� *��	� 57��

����� ,=�' ��� �!=�' 6�$ ���������8���	�

��� �� "���	�� #�# ������������ ��0  �	������ ��
������ ��� ������ 9
���� ��� $%&�

����	�
 �	��� 5� �	���� 1��������	 ��	������������� ��5��	��5�������� ��� 

���7������

� 
����� ��� ��	���� 9
���� �� ���� ��� 
���� 9
��� 7����	���� �8���� � �	���� ��)���	=

��������/	 �� � $�������� 5� ��	���� 9
��� ����� ;������ ��8
/���� �	���7������ ��� ?
� 

��� *�����1��	�������� 7��� ����8��	 ����� ��� ���������8���	� ��
 �	������ ��5��	��5 ���

$%&�����	�
 �	��� � �5� �	��7������

���� '��- 5���	 ��� 6��� 	1��	�������� ��� ������� ��� ��� 

���7������ ��� ���	���	��

����	�
���= ��� ���� ��� ��� 8G����������� ��� $��	�������� ��� ������ 9
���� �������� *��

��7��	�	 �	�  �� ��� $��	�������� ��� �� ������� ��	�� ��	  �	 ��� �� ���	�
� 8��������

<� ���� '��� ���� ��� ���� ��� ����	�
��9�	�
�� ��� ��� ������� ��� �� 

���7����� ���

���	���	�� ����	�
��� ��������	�� ���� �	������ $�������� ��= � ��� � ������	���	� ���

��	��1��	�������� ����� ���� $�������� 7����� ��	 ����� ��� �� ���	�
� ������������ ���

�����	�
�������		� ����8����� �� ��� *��	� 57������ -=-�, ��� -=�-- 6�$� ��� � ��� *��	�

57������ -=� ��� -=2 ���= 7
����� �*��	� 57������ !� ', 	 �-�	 ��� !� ,� 	 �-�� ����  	� <�
��� ���$��	������ �������	 ���� ��� ?��	��� ���  �	 �� ����������� *�������+��������		�  �	

��� ��
 �	������� ��5��	��5 ��� $%&�����	�
 �	��� 7����= 7
����� ���� ��� $��	������

1
� � ���	�  	 7����

��� ��	� 8G�������	�  ��� ��� $��	�������� ��� ����	�
���8
/�� �� ��	�� ��� �� ���	�
�



2� .������ 9� ��� ���#$ 1�� ���������� ��� �����

0

0.5

1

1.5

2

6 8 10 12 14 16 18 20

Ee [GeV]

dσ
/d

E
e 

[n
b/

G
eV

]
oberes Modul

H1
PHOJET

0

10

20

30

40

50

178.4 178.6 178.8 179 179.2

θe [Grad]

dσ
/d

θ e 
[n

b/
G

ra
d]

oberes Modul

H1
PHOJET

0

0.5

1

1.5

6 8 10 12 14 16 18 20

Ee [GeV]

dσ
/d

E
e 

[n
b/

G
eV

]

unteres Modul

H1
PHOJET

0

10

20

30

40

178.4 178.6 178.8 179 179.2

θe [Grad]

dσ
/d

θ e 
[n

b/
G

ra
d]

unteres Modul

H1
PHOJET

���� ��%
 ��� ��������� �� ��� 	��� �� 5����%7 ��� ��% -����"�����% 5��#$�%7

��� 	��������� �� �'���� 5�'��7 ��� ������� .��������������� 5�����7�

0

1

2

3

6 8 10 12 14 16 18 20

Ee [GeV]

dσ
/d

E
e 

[n
b/

G
eV

]

H1
PHOJET

0

20

40

60

80

178.4 178.6 178.8 179 179.2

θe [Grad]

dσ
/d

θ e 
[n

b/
G

ra
d]

H1
PHOJET

���� ���&
 ��� 2�%���1�������� �� ��� 	��� �� 5����%7 ��� ��% -����"�����%

5��#$�%7 ���  �%������� 	����������



9�F� ��� ��� ���#$ 1�� ���������� ��� ����� 22

0

50

100

150

200

0.1 0.2 0.3

Q2 e [GeV2]

dσ
/d

Q
2  e 

[n
b/

G
eV

2 ]
H1
PHOJET

0

25

50

75

100

0.2 0.3 0.4 0.5 0.6 0.7 0.8

ye

dσ
/d

y e 
[n

b]

H1
PHOJET

0

10

20

30

40

-6 -5.5 -5

log10 xe

dσ
/d

(l
og

10
 x

e)
 [n

b]

H1
PHOJET

���� ����
 ��� ��������� �� ��� ��������%#$�� �����'��� �� 5�'��< ����%7<

� 5�'��< ��#$�%7 ��� � 5�����7 ���  �%������� 	����������

5���	= ��/ ��� 9������ ��� ���	���	�� ����	�
��  �	 �� $%&�����	�
 �	�� 1���	�����

��	= 7�� ��� $
������	5��� 5�� 9������ ��� �	���	������	�
� �� ����	���	� ��� ���	8�	��	= ��/

����� ��� �����	�
�������		� G�	����������������� ����5� 1
���	8����� ��� ��� ��	�� ��	����	

7����� �
��	�� ��� ����	���	��	 ��� ;��	�  ��� 1
� �����	�
���Æ5���5�� ��� ��5��	��5�

�
����	����  �	 ��� �� �����	�� ������������

����� ��� "������
)"� '��$�
����

:���� �� $���	8������ ��� ����	�
���8
/��= ��� �����	 �� ��� 9������ ��� �	���	������	�
�

�� ��������= �����	 ��� ;����������� ��� ����
������� ���5��	����� ����� ��� �� ���	�
�

���� 7����	����� �
���= �
���� �����		� 5�� �����	�
� ��� ��	�� ��� ����
������� 6�8
/��

��������� G�	�� ��� �� ������ ����0�� ����7���	�� �����	�
�������		�� 7��� ����� ��� ?
��

������ ����� 1
� ��� 5��	����� 4�	�����	��  ��� ���
��	�����	�� $��	�B= ����� �Æ5���5=



2, .������ 9� ��� ���#$ 1�� ���������� ��� �����

0

0.1

0.2

0.3

0.4

0 50 100 150 200

Ehad [GeV]

dσ
/d

E
ha

d 
[n

b/
G

eV
]

H1
PHOJET

0

0.1

0.2

0.3

0.4

0 50 100 150

Pz,had [GeV]

dσ
/d

P z,
ha

d 
[n

b/
G

eV
]

H1
PHOJET

0

10

20

30

0 2 4

log10 W
2 had [GeV2]

dσ
/d

(l
og

10
 W

2  ha
d)

 [n
b/

G
eV

2 ]

H1
PHOJET

���� ����
 ��� ��������� �� ��� 	��� �� 5�'��< ����%7< ��� ��.��������� ��%

�����%�% 5�'��< ��#$�%7 ��� ��� ��1�������� ;�%%� 5�����7 ��% $������%#$��

	��(�%�����%�

7�� �� "���	�� #�� ������	���	= ��	 ����� ��� �� ���	�
� ����������� 7���= ��� �����		 ���

��� 6�8
/� � � #'  �/������� ����� ��� ����
������� ���5��	��� ���	�  	� *�� �� "��

��	�� '�� �����	���	= 7��� ��� � � #'�$��	������ ��� ��	�� ����	 5���������	������ ����� ���

$��	������ ��� �� �����	�� ���������� ������������ ����� ��	 ���� �������� ����0�� ��� ���

��
������� ���5��	����� �8
	��� 
�
��� �	���� �	���	 ���� ������� ��� 9������ �� ���� 1
 

����B���� ��	 ������ ��������
������ 
�������� ������� ������= ��� 5�;� ��� �� "���	��

'�� ������������ "
����	�� ��� �� �����	�� ���������� �
	7�����  ���	�

<� ���� '��� ���� ��� $��	�������� ��� �������= ��� ��"
 �
���	� ��� < ������ ��� ���

��1�����	�� 9���� ��� ����
������� ���5��	����� �8�� �� ������ ��� �� �����	� ����������

������	���	� ��� ���� 6�8
/�� 7����� ���� ��� 9�	�
�� ��� �
 ������	�� 3�C��	� ��� ���

� %���"��
�� �	�� ��� ������ �� ������� H���	��� ��� ��� �� ��� ������  ��� ���
��

�	�����	�� ������ ���	�  	�



9�F� ��� ��� ���#$ 1�� ���������� ��� ����� 2!

0

20

40

60

80

0 0.2 0.4 0.6 0.8 1

yhad

dσ
/d

y ha
d 

[n
b]

H1
PHOJET

���� ����
 ��� ��������� 1�� ���� &3��  ���%%��� ��� %��������� 	��� ��%%��

�� 5���	 ����= ��/ ��� �������� ��� #'�$��	�������� ��� ��	�� ����	�8������� � ;������

��������� �������� �57� ����	�1�� *��	� 1
� #' ���	���� 1
� ��� $��	�������� ��� �� ����

	�
� ��7������� �� ���� ��� ;������� ����= �� ����� ��� ���.�/ ��P���	�1�� ���������� ��
/

��	= �8
��	�� ��� ��
����	����� ���������5�� 57������ ��	�� ��� �� ���	�
� ����� ����

�
�� ����	 ����������� ��8�5��� ;����������� ��� ��	���� ��� ���5����� 5� *�������+����

�����		 ���	�������� �����
5���� ��� �� ���	�
� 1��������	 7������ ��� ��	� ;�����������

��� &�����	� ��� ��1�����	�� 9���� �8�� ������ *��	� ��� ��� $����������� ��� �� �����	��

$��	������ �����8���� ��� ��	��1��	������ � ;������ ��8
/���� *��	� 1
� � � ���	��	 C��
��

��� ���
� �� "���	�� '�� ��8��/��	� $�� �	��� ����� �� ��	�� ��� �� ���	�
� ��	�����������

���� "������	�
� ��� ����
������� ���5��	������

���� '��� 5���	 ��� $��	������ ��� ���� ��� 4��+��	�;�
�����9�	�
�� ��� ��� ����
�������

������� ��� ��"
 �
���	� ��� < ������ ��������	�� �������8����	����� ����� ��� ���� ���	�

���� ����	���� ���������5 57������ �� ������� ��� �� �����	�� �����������= ��� ����� ���

��7��������� ��� �������� ��� #'�$��	�������� ��� ����
������� ���5��	���� 1��������	

7���= ����8��	 ��� ����	 5���������	������� ;����������� ��� �� "���	�� '�� ������	���	�� $���

	�������� ��� 6�8
/�� � � #' ��� ��;������ ��� ��/	 ��� �
�� 5� �8
������ 
�
��� � ���

����0�� 5���  ���

<� ���� '��# ���� ��� $��	�������� ��� 6�8
/� ��#' ��	����	 �8�� ��� ���	���	� ����	�
� ���

��� ����
������� ���5��	��� ������	���	� ��� ��	��1��	������ ��� ��� ��� ����	�
���8
/��

��������	�� � � #'�"
 �
���	� �	�  	 ��	  �	 ��� $��	������ ��� �� �����	�� ���������

�� 8�������= 7
����� �
�� ��� �� ��� ������� 9������ ��� ���	���	�� ����	�
�� � $%&�

����	�
 �	�� ���	8�	��	 7���� ��� $��	������ ��� ����
������� � � #' 5���	 C��
�� 7�� 5�

��7��	�� ���	����� G�	��������� 57������ �� ������� ��� �� �����	�� ������������

F�� G�	��������� ��� G������ ��� �	����� ���������5 57������ ��� ����
������� � � #'�

$��	�������� �� ��	�� ��� �� ���	�
�= ���� �� ���� '��' ��� $��	�������� ��� ����
�������



,- .������ 9� ��� ���#$ 1�� ���������� ��� �����

0

0.5

1

1.5

2

10 20 30 40

E-Pz el [GeV]

dσ
/d

(E
-P

z 
el

) 
[n

b/
G

eV
]

H1
PHOJET

0

0.25

0.5

0.75

1

0 20 40 60 80

E-Pz had [GeV]

dσ
/d

(E
-P

z 
ha

d)
 [n

b/
G

eV
]

H1
PHOJET

���� ����
 ��� �������������� �� ���  �%������� 	��������� 5����%7 ��� ��%

$������%#$�� 	��(�%����% 5��#$�%7�

0

1

2

3

0 10 20 30

E-Pz LAr [GeV]

dσ
/d

(E
-P

z 
L

A
r)

 [n
b/

G
eV

]

H1
PHOJET

0

0.25

0.5

0.75

1

0 20 40 60 80

E-Pz Spacal [GeV]

dσ
/d

(E
-P

z 
Sp

ac
al

) 
[n

b/
G

eV
]

H1
PHOJET

0

2

4

6

0 10 20

E-Pz Tracks [GeV]

dσ
/d

(E
-P

z 
T

ra
ck

s)
 [n

b/
G

eV
]

H1
PHOJET

���� ����
 ��� ��������� �� ��% $������%#$�� � � ��  ������� &3�� �� ����

.���������� 5�'��< ����%7 ��� �� ���#��  ���%%��� ���%��� 5�'��< ��#$�%7 ���

�� ��� ����������� �����%�������� ������ 5�����7�



9�8� ��� ;�%%�� ��� ��������&������� �� ,�

� � #' ��	����	 �8�� ��� 5�� 9������ ��� ����
������� ���5��	����� ���	�������� ����

��	��	
��� ������	���	� ��� ��� ��� � %���"��
�� �	�� �� ������� H���	��� ��� �� ���

������  ��� ���
��	�����	�� ������ ���������� $��	�������� ��� ��	�� 7����� ����	 ��	

����� ��� �� ���	�
� ������������ ��� ��	��1��	������ ��� ��� ��� � ������ �� �������

H���	��� ��������	�� � � #'�*��	� 7����	 C��
�� ���	���� 1
� ��� $��	������ ��� �� ������

	�� ���������� �� ��� 5���	 �
 �	 ��� :
	7��������	 ����� ����� "������	�
� ��� � ������

�� ������� �������� ����

)�$ ��� 5��� �� ��� �	� �	 �" ��	�
� ��

<� ����� G�	������	�� 7����� ��� 9�	�
�� ��� ���	� ���������� ��� 9������ ��� 
�
�

	
��	���	������	�
� ��@���
�A ��������� ��� ��� 78������ ��� 9��� � ;��� ���� �!!!

�����5������	�� ��	�� 1
����	���	� �� �� ���� �������� ��� �� ��� 1
�������� �������		��

�����	���	�� �
�� ���	������� 
�
��� � ��� � ���� 1
��8��)�� 9������ ������� ����= 7���

��� ��� "
����	�� �����	�1�� �P��	� 1��5���	�	 ��� ��� � ����0����	�� ���� �	������ ;������

������� ���.�/ ��� �
���	�������� �	���	������	�
� �
 1�������8�����	� ���� �0�	� �	�����

?����� 7����� � ��� �� ������ �����	 ����	 ���8�������	��	�

����� ��� %��"���

:��� "���	�� ��# �8�/	 ���� ��� �	���	������	�
� ��@���
�A ��� 
�
	
�� ��� �� �B���� ��	���

�� ������� *�������+��������		 ��� ������	������ ����	�
��
�
	
���	������ �B	���������

G�	�� $�������8�������� ��� �
���	�������� �	���	������	�
� �
 ��  	 ��� �
����	 ��P�����

	����� *�������+��������		 �� ��������	�� 3������ ��� �	8
�����	��
��� �� ���8��������	 ���

$�������� �� ��� � ��� �
������ ?
� ��>

���

�� ���
M
�'!�

�� �

�
� Q @�� �A�

�
�� �

<� "���	�� '�� 7���� ��� ��� ��� ��.8
���� ��� $�������� � ��� �� ���������� ���	������

��� ���� �	������ ����� �� 9�/��	��1���� 1
����	���	� F�� ;��	�  ��� ��� �	���	������	��


� �� 7����� ��� ��� 1
���	8����� � ��5��	��5������� ��� $%&�����	�
 �	��� ���5���	��

<�	��1���� �����78���	 @1��� ���� '�#A�

��� *�������+��������		 7��� �� ��� ��������� �����<�	��1����� ��� ��� ��5��� ��� �� �� 

C�7������� <�	��1��� �� ������� ���������� 7�� �
��	 ��������	>

D��

D�D��
M

�
D�D��


�
 �� ) 

��

����

�

����� ��5������	

� , ��� F��� ��� � <�	��1��� ��� ;���	� D� ��� D�� �� ������� ����������=



,� .������ 9� ��� ���#$ 1�� ���������� ��� �����

:�� ��;������ ���;������ I6�$�J � Æ,��� IOJ

� -=�- � -=�, -=��, � -=�!� '=�� �=�

# -=�- � -=�, -=�!� � -=�#, #=-! �=�

' -=�- � -=�, -=�#, � -=�-- 2=�, �=!

2 -=�, � -=#� -=-!� � -=��, ��=,� #=-

, -=�, � -=#� -=��, � -=�!� #=2� �=#

! -=�, � -=#� -=�!� � -=�#, '=!# �=#

�� -=#� � -='# -=-!� � -=��, ,=�2 �=�

�� -=#� � -='# -=��, � -=�!� #=�2 �=2

�� -='# � -=�� -=-�, � -=-!� ��=!# '=�

�2 -='# � -=�� -=-!� � -=��, '=#� �=�

�, -='# � -=�� -=��, � -=�!� �=#, �=�

�� -=�� � -=2- -=-�, � -=-!� 2=�- #=�

�� -=�� � -=2- -=-!� � -=��, '=�� �=�

���� ���
 ��� 2���(�� ��� ����(�$� ;�H�����1���� ��� ��� 6�"���� �� .������

���&������� ��� ��� %����%��%#$�� ��$���� ��� %���������� 	��� ��%%�� ��� ���

�������� ��� �����1���� '�(��$� %�#$ ��& ��� �� �''� 9�8  �"3�$��� 	�������� 

��� ��������%#$�� 	'����

� ) ��� ���� "���	�� #�� ���	�  	� (�������Æ5���5 ��� �����������=

� ���� ��� ��	������	� %� ��
��	8�	 ��� �� ��� 9������ ����������� ��	�������	�
�=

� � ��� ?��	
��� 5�� "
����	�� 1
� ��	��	
��P��	���

��� �� �
 ���	�  	�� *��	 ��� *�������+��������		� �8�/	 ���� ��� *��	 ��� �	���	���

����	�
� �� �� ��� ���5����� 9�/��	��1����� ���������>

��@T�� T��A M
@ T��A� T�

�'!�

�
� Q @�� T�A���� D��

D�D��
�

T��= T� ��� T� ��5������� ��� ��� ��� <�	��1�������5�� ��������	�� ���	� �	������ 9�		��7��	�

��� ���� �	������ $���������

��� ?��	
��� � 5�� "
����	�� 1
� ��	��	
��P��	�� 7�����  �	 ����� ��� �� �����	�� ���
�������� ���	�  	�� �������� ��� ���������8���	�� ��
 �	������� ��5��	��5= ��� ���������

��.8
���� ��� ��	��	
��� ��� ��� 9������ ��� ���	���	�� ����	�
�� ��� ��� ����
�������

���5��	���� �
7�� ��� ����7���	�� �����		� 5�� �����	�
� ��� ��	�� 7����� �� ��� ����

5����� �����<�	��1����� 5�� 9������ ��� �	���	������	�
� �� ����	 ���� 5� *�������+����

��� "�� �'�� '�%#$���'�� ��� ���  ���Æ(���( �� ��� ;�%%�� ��% D����� %E���%#$����% ��� �$�< ���& (��

)�%������ ��� .��������&������� �� 2� ��%��( (� ��� �� .������ 9�> '�%#$���'���� ;��$��� ��� ��& ���

���  ���Æ(���( '�%������� ����%%�� ��� %���������� 	��� ��%%� ��#$� ���#$ �&3�$�� "������



9�8� ��� ;�%%�� ��� ��������&������� �� ,�

�����		 ���	�������� ���������� �� ������ F�� ;��8�������	����� ������ :���7���� ��� ������

	�
���Æ5���5�� 7��� �8�� C���� <�	��1��� ��� ��5��� ��� �� �����	�� ���������� ���� ��7���

���� ��� �� "���	�� '�� ������������� �����	�
� ��� ��� F��� ��� ��� 6�����	
���1��� �� ���

C�7������� <�	��1���� ��������� ���������� ���	�  	� ��� &�
	���	 ��� ������ *��	� ������	

��� "
����	�����	
��� � �8�� ��� ���5����� 9�/��	��1����>

� M F��� �� �����	�� ���������� ��� 6�����	
���1���
F��� �� �����	�� ���������� ���� ��� �����	�
�

�

(������ '�� ���	�	 ��� �
 ��������	�� "
����	�����	
���  �	 ����� �	�	��	������ ?������ �8�� ���

����5��� 5�� 9������ ��� �	���	������	�
� �� �����78���	�� ���
��<�	��1���� ���� ���8�����

��1
�= 
� ��� ���� �	����� ;������ ��� ���5����� <�	��1���� 1
� ������ 
��� ��� ���� 

9
��� ��� $%&�����	�
 �	��� ��������	 7���= ��� �� ��� "
����	�����	
��� ����	�8�������

*��	� 57������ #=-! ��� ,=�2 ��� ��P8����� ���� ��� �
��� ?��	
��� ��=,� ��� ��=!# ���

<�	��1���� 2 ��� ��= ��� ���� ���	���� 1
� ��� ������� *��	�� �������� 98
�������7����

 8����� ��� 6���5�� ������ ������ <�	��1����= ��� ���� ��� ��
/�� �	���7������ � 8��/���	��

���� ��� ��5��	��5�������� ��� $%&�����	�
 �	��� ��)����= ��� 5��8���	���� 9��������

��� �	���	������	�
� �� �����	 �
�������	 7������

����� '�
�� '�!�
��

�

:��� ��� �� "���	�� '�#�� 1
����	���	�� 9�	�
�� 7���� ��� ��� �� "���	�� '�� �����	���	��

��	�� ��� *�������+��������		 �8�� ��� �����78���	�� 9�/��	��1���� ���	�  	 ��� ��� 
�
�

	
��	���	������	�
� �� �� ��� 9�		��7��	�� T� ��� T�� ��� <�	��1���� �B	������	� ��� ��������

��� 9������ ���� �� (������ '�� ��� *��	� ��� �	���	������	�
� �� ��� ����5��� <�	��1����

�
7�� ��� �	�	��	������ ?����� ��� 9������ ���������� ����� 7����� ��� ��� +�����	������

��  � ��� �	�	��	������ ?����� ��� ��	�� ��� ��� �� (������ '�� ����������� ?����� ���

"
����	�����	
��� ��������	�

��� 
�
	
��	���	������	�
� ��@���
�A 7���� �� ������ 9������ �8�� �8��� 1����������� *��	�

1
� �� 57������ -=-,- 6�$� ��� -=�2# 6�$� ��� C�7����  ������� *��	�� ��� ;CS�����

������1������� � 57������ �=�- 	 �-�� ��� 2=!' 	 �-�� ���	�  	� <� ���� '��� ��	 ��� �	����
	������	�
� ��  �	 �	�	��	������ ?������ �� ���8��������	 1
� � �8�� ��� �8��� 1������������

���*��	� ������	���	� F��8�	5���� ���� ��� $
��������� ��� �� "���	�� ��' ������������� 9
�

����� 1
� �
������� ��� %�����
P @�%!# ��� �%!,A= H������ �	 ��� @H"9(!#A ��� �����

 
7��5 �	 ��� @�%%9!2A ����������

��� �� ������� *��	� ������ �0�	� �	���� 8���� ��� 8��	���� 
��� �	����������� �%!# ���

H"9(!#� ��� $
��������� ��� ��	������ 9
����� �%%9!2 ��� �%!,= ��� �8
���� *��	� ���

�	���	������	�
� 1
���������= 5����� ������� ���� ������� 8G�������	�  ���  �	 ��� ��	���

*�� 1
� ����� 9
������ 1
���������	= �	���	 ��� *��	 ��� �	���	������	�
� ��� ���	� �  �	

5���� ����� *��	�� 1
� �� ��� �� �8���	 C��
�� ���= ��/ ��� �� ������� ��	������	� ���

���	�� *��	�� 1
� �� �
�� ����	�1 �	��� .��	�������



,# .������ 9� ��� ���#$ 1�� ���������� ��� �����

0

0.1

0.2

F 2

0.1

0.2

0.3

F 2

10
-6

10
-5

x

0.2

0.3

0.4

10
-6

10
-5

x

F 2

Q2=0,080 GeV2 Q2=0,110 GeV2

Q2=0,160 GeV2 Q2=0,220 GeV2

Q2=0,274 GeV2

VLQ

DL94
DL98
CKMT94
ALLM97

���� ����
 ��� ��������&������� ��5���
�7 �� �'$3�� � ���� 1�� � &3�� ��� &3��&

1��%#$������� ���D���� ��� ��� ���$��%� �� ��� ;������ 1�� �����#$�� ���

����%$�* 5��L8 ��� ��L=7< ������� �� ��� 5�.;�7 ��� �'����"�#( �� ���

5���;L@7�



9�8� ��� ;�%%�� ��� ��������&������� �� ,'

:�� T�� I6�$�J T� T� �� Æ,��� IOJ

�� -=-,- �=�- 	 �-�� -=�� -=��� '=�

�� -=-,- �=�� 	 �-�� -=', -=��� �=2

�� -=��- �=�# 	 �-�� -=�� -=�#! #='

�2 -=��- �=,2 	 �-�� -=', -=�'� #=�

�� -=��- �=�2 	 �-�� -='- -=�'� #='

2 -=��- �=', 	 �-�� -=#� -=�#- '=�

�, -=��- �=2� 	 �-�� -=', -=�!! #=�

�� -=��- �=�� 	 �-�� -='- -=��! �=�

, -=��- �=2� 	 �-�� -=#� -=��� �=-

� -=��- #=�# 	 �-�� -=�# -=�!� �=!

! -=��- '=�2 	 �-�� -=#� -=�,� #=�

# -=��- �=�, 	 �-�� -=�# -=�2� �=�

' -=�2# 2=!' 	 �-�� -=�# -=�-� #=!

���� ���
 ��� ���D���� ���  �%����� %����%��%#$�� ��$��� ��� ����(�$� ;�H�

�����1����� ��� 2���(�� ��� �����1���� %��� �� ��'���� 9�> �� � �'���

��� �� ������ �����	 �����5���	� ��	������������� "������	�
� ��� ����
������� �������� ��

�� �����	�� ��� �� ������� �����������= �����7��	 ��� G�	����8������ 1
� G�	����������

��������� ��� �����.�/	 ��� ;��	�  ��� ��� :���7���� ��� �����	�
���Æ5���5��� 3�7
��

��� ������ 6�8����� ��� ���� 1
����	���	� �������� ��� ���9������ ��� 1
��8��)� ��	= 5���	 ��=

��/ ���� 
�8�5���
�� ������ ��� 
�
	
��	���	������	�
� ��@���
�A �8�� ������ < ����8����	�8���

��� ������ *��	� 1
� � ��������� ��� ��� 78������ ��� 9��� � ;��� ���� �!!!  �	 �� 

$%&�����	�
 �	�� ������
  ���� ��	��  8
����� ��	�



,� .������ 9� ��� ���#$ 1�� ���������� ��� �����



%�����	�&������

F�� 
�8�5���
�� ������ ��� 
�
	
��	���	������	�
� ��@���
�A ��� ������� < ����8����	�8����

�� ��� ������� *��	�� ��� ;CS�����������1�������� � 7���� ���� ��� 4����� �!!! � ���

�B���� ��	 ��� 9��� � ;��� ��� ��������8���	� ���� 7���	��� "
 �
���	� �	���	� �����

��� $%&�����	�
 �	�� ���� <� ��� 1
���������� �����	 7���� ���� ���	� ����0�� ��� 1
 

$%&�����	�
 �	�� �����5������	�� ��	�� 1
����	���	�

��� $%&�����	�
 �	�� 7���� �!!, 5�� 9������ 1
� ����	�
���= ��� ��	�� ���� �������

*������ ���	���	 7�����= ���� 9�	�� 1
 *������7�����������	 ��	����	 �����	 � �	�����

�
�� �� ��� �8���78��	���� ;������ ��� �����	��	
�� ��������	� 9�	 ����� ��5��	��5 1
�

< ����8����	�8���� �� 57������ -� -�6�$� ��� -� #6�$� ��������/	 �� ����� ����� ���� �	��

����� ;������ �8�� ��� ����B���� ��	= ��� 8G��������������� 57������ 
�
	
��
���	�
� ���

	��)�����	������ �	������� ��� ����	�
 �	�� ���	��	 ��� 57�� 9
�����= ��� C�7���� 
�������

��� ��	������ ��� �	�����
��� ����
����	 ����� 4���� 9
��� ��	 ��� ���� ���������
C��	��


�����
�� �	�� ��� ���� ����5�� �����0�	� ��������	�

��� ��	��	
��� ���	�
� ��� $%&�����	�
 �	��� ��	 ���	 $����
� ��-!W�, 1
���	8����� �� ���

����� ���	�
���
�	7��� ����	 ��	������	� < ��� �� ������ �����	 7���� ���� �������� ���


�	����8������ "������	�
� ��� �� �����	�� "��
�� �	�� 
���� ��������8���	= ��� ���� 5��

1���8������ ���
��	���	�
� �� �����	�� H���	�� � ���������	��1��� 1
� # ��� �- 6�$ ��78����

����	�	� ��� G����������	 ��� ������������ �� ��� �� ���	�
� ��	�8��	 ���� ��� "������	�
�

7������ ��� -=� O�

��� ��� 78������ ��� 9��� � ;��� ���� �!!!  �	 �� $%&�����	�
 �	�� �����5�������

	�� ��	�� 7����� 5�� ���	�� ����0�� ��� 1
� �� �
 ������	�� ���	������ �'- ������8
�	��

����������  �	 ����� ��	������	�� %� ��
��	8�	 1
� !,, ���� �����	���	� ��� "������	�
� ���

"��
�� �	��  �	 ����������� � ���� �	������ 
��� ��� ��� ;��	�  ��� ��� (�������Æ5��

��5 7����� ������������ ���7��	���� 7���� ��� ��	��	
������ ��	 ��� $%&�����	�
 �	���

�� ��� ����0�� ����	������ &���H
 �	
������������ 1
����	���	�

F�� ����0�� ��� ��	�� 7�����  �	 �� 6�����	
� 
�34�( ���������� �� �����	= ��� ���

��� ��	�������	�� %� ��
��	8�	 1
� ���� ���� ��	��������� ��� $��������  �	 ��� �� �������

��	�� 5���	�= ��/ ��� �	����������	�������� ��� 6�����	
�� ��� ;��	��� ��P���	�1�� ������

����� 5� 	
	���� *�������+��������		 ��	�����8�	5	 7���� ����� 7����� "
����	�����	
���

���	�  	= ��� ���� ���	���� ������� ;����������� ��� ��	�� ��78�������	���

����� ��� $��������  �	 �� �����	�� ����������� 7����� �����	�
�����	����� ���	�����	= �����

,2



,, ��%�����&�%%�� 

��� ���� �
�� �����	�
� 1
� G�	������������������ ��5���	 7����� �
��	�� :��� ��7������

��� �����	�
�������		� ��	�������� ��� ��	��1��	�������� ��� ����	�
���8
/�� ��� $
�������

��� ��� 9
�	��H���
�6�����	
��= 7
����� ��5���	 7����= ��/ ��� 9������ ��� ���	���	��

����	�
��  �	 �� $%&�����	�
 �	�� 1���	����� ��	� ��� ����	 5���������	������� ;��������

���� ��� $��	�������� ��� ����
������� ���5��	����� �
��	� ��� ���� ��	������������� "��

�����	�
� ��� ������ �� ��	�� ��� �� ���	�
� 5��8������8���	 7������

F� �������/ ��� �����	 7���� ���� ���	� 9������ ��� 
�
	
��	���	������	�
� ��@���
�A

 �	 ��� 78������ ��� 9��� � ;��� ���� �!!!  �	 �� $%&�����	�
 �	�� �����5������	��

��	�� ��������8���	� ��� �	���	������	�
� ��@���
�A 7���� �8�� �8��� *��	� 1
� �� 57������

-=-,- 6�$� ��� -=�2# 6�$� �� ���8��������	 1
� � ���	�  	� ��� �������� ��� 9������

5���	= ��/ �� ����� F�����	 ���� ������ ;��	�  ��� ��� �	���	������	�
� ��@���
�A �8��

������ < ����8����	�8��� �� ��� ������ *��	� 1
� �  �	 ��� �� ������� ��	��  8
����� ��	�



�����������	
�	�
����

��� ��� ������������ ���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #

��� ��� �����	��	
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2

��� ��� %� ��
��	8�	��0�	� ��� �����	��	
�� � � � � � � � � � � � � � � � � � � � !

��# ��� ������  ���0�	� ��� �����	��	
�� � � � � � � � � � � � � � � � � � � � �-

��' ��� %���"��
�� �	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

��� ��� �8���78��	��� ;������ ��� �����	��	
�� � � � � � � � � � � � � � � � � � � � ��

��2 ��� $%&�����	�
 �	�� � �����	��	
� � � � � � � � � � � � � � � � � � � � � �'

��, ���� �
�������� ��� $%&������0�	� � � � � � � � � � � � � � � � � � � � � � � �2

��! ��� ��	�1� �	���	�� ����� "��
�� �	�� 
���� � � � � � � � � � � � � � � � � � � �!

���- ��� %������	8�	 ��� $%&�"��
�� �	��� � � � � � � � � � � � � � � � � � � � � � � �-

���� ����������
��	�
� ����� ����	�
�� � $%&�"��
�� �	�� � � � � � � � � � � � � ��

��� ?�0� ��������� ��� ����	������ �� ��������	�� 3������ � � � � � � � � � � � �2

��� ?�0� ��������� �� ��� &H� � � � � � � � � � � � � � � � � � � � � � � � � � � ��

��� ��� �	���	������	�
� �� �� ���8��������	 1
� �
� � � � � � � � � � � � � � � � � �#

��# ��� 	
	��� *�������+��������		 �������@� A �8�� ������ *��	� 1
� �
� � � � � � � �!

��' ��� ��5��	��5 ��� �����	��	
�� � � � � � � � � � � � � � � � � � � � � � � � � � #-

��� $��� "������ ��P���	�1�� 
�
5���� � � � � � � � � � � � � � � � � � � � � � � � � #'

��� ���	��������	 ��� $%&�����	�
 �	��� �� ��� 6�
 �	��� ��� �� ���	�
� � � � #�

��� ��� ����	�1� ��7������� ��� H���	��������� 1
� ��� �
�������� �8�� �� �����	�

���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #,

��# $��	������ ��� ����	�
��� �� ��� ����"

�����	������� ��� ��� 6�		�����	���

���� ��� "��
�� �	��+��������		� 5�� "������	�
� ��� �� ���	�
� � � � � � � � #!

��' ��� �������1��	������ �� �����	�� ����	�
��� 1
� ��� ���� ��� "������	�
� � '-

��� ��� ���������	� ������� �� �����	�� ����	�
��� �� ���8��������	 1
 ���	��P�

����	 �� ��� "��
�� �	�� 
����� � � � � � � � � � � � � � � � � � � � � � � � � '�

��2 ��� ��7��������� ��� �� �����	�� �������� 1
� ��� ��������	�� �
��7��	��

1
� ��� ���� ��� "������	�
� � � � � � � � � � � � � � � � � � � � � � � � � � � '�

#�� ��� �������1��	�������� ��� ���������� � ���� �	������ 
��� 1
� ��� ����

��� "������	�
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ',

,!



!- �))���I�2��	
�	������

#�� ��� �Æ5���5�� ��� ���	������� �#! ��� ��� (��������� ��	� #��$ 
% � � � � �-

#�� ���	��������	 ��� ��
������ 1
� �	����= �	�����
�� ��� $%&�9
����� � � � ��

'�� ��	���� ��� 
�34�(���	����� �����
5���� � 	
	���� *�������+��������		 �'

'�� ��� ���.�/ ��� G ��7���	��� ��� �� �����	�� ���������� ��� ��� $��	��������

��� ����
������� ���5��	����� � � � � � � � � � � � � � � � � � � � � � � � � � ��

'�� $��	������ ��� ����	�
��������	�� �� ��� ����"

�����	������� � � � � � � � �!

'�# ���	������ ��� ���� �	������ ����� �� 9�/��	��1���� � � � � � � � � � � � � � 2-

'�' ��� $��	�������� ��� 6�8
/�� ��#'= ��;������ ��� ������ 
��� $��	�B������

���� 1
� ��� ��7������ 	���������� �����		�� � � � � � � � � � � � � � � � � � 2�

'�� ��� $��	�������� ��� 6�8
/�� � � #' ��� ��;������ ���� ?
������� �����

���
��	�����	�� $��	�B � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2�

'�2 ��� $��	�������� ��� 6�8
/�� � � #' ��� ��;������ ���� ��7������ ���

� � #'������		�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2�

'�, ��� $��	�������� ��� 6�8
/�� � � #' ��� ��;������ ���� ��7������ �8� 	���

���� �����	�
�������		� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2#

'�! ��� $��	�������� ��� ������� ��� ��� 

���7������ ��� ���	���	�� ����	�
���

� 
����� ��� ��	���� "��
�� �	�� 
��� � � � � � � � � � � � � � � � � � � � 2�

'��- ��� 6��� 	1��	�������� ��� ������� ��� ��� 

���7������ ��� ���	���	�� �����

	�
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2�

'��� ��� $��	�������� ��� ���� �	������ $�������� ��= � ��� � ��� ���	���	��

����	�
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 22

'��� ��� $��	�������� ��� �������= ��� ��"
 �
���	� ��� < ������ ��� ��� ��1��

����	�� 9���� ��� ����
������� ���5��	����� � � � � � � � � � � � � � � � � � 2,

'��� ��� $��	������ 1
� ���� �8�� �� ������ ��� �� �����	� ���������� � � � � � � � 2!

'��# ��� � � #'�$��	�������� ��� ����	�
��� ��� ��� ����
������� ���5��	���� � ,-

'��' ����
������ ��#'�$��	�������� ��	����	 �8�� � %���"��
�� �	�� ��� ������

�� ������ H���	�� ��� �� ��� ������  ��� ���
��	�����	� ������ � � � � � � ,-

'��� ��@���
�A �� ���8��������	 1
� � �8�� �8��� 1����������� ���*��	� � � � � � � � ,#



���	��	��	
�	�
����

� ��� ���� %��	
�� ��� &�����?� ����� � �	������ 
���� � � � � � � � � � � � �

#�� ���7�����7��	� ��� (��������� ��	� ��� $%&�"��
�� �	��� � � � � � � � � � � '#

#�� *8������ ��� 9��� � ;��� ���� �!!! � ��� ��	���	� ���	������ � � � � � � '�

#�� ����8����� ��� �� (������ #�� 1��7����	�� ���8��5����� � � � � � � � � � � � � '�

'�� <� 
�34�( ��	������	� �����
5���� � � � � � � � � � � � � � � � � � � � � � � � �#

'�� 6���5�� ��� "
����	�����	
��� ��� ����5��� 9�/��	��1���� � � � � � � � � � � ,�

'�� ���*��	� ��� �	�	��	����� ?����� ��� 9�/��	��1���� � � � � � � � � � � � � � � � ,'

!�



!� ��)	��	��	
�	������



'��	
���
�	
�	�
����

I�J ���� 
7��5 �	 ��� ��� ���� ��	�
���	�
����� �� ����@�
��A� �� ������� ���E !2��'�=

�!!2�

I�J H� ;������ �������������� � ���� �������	���� F7��	� ��.���= �� $
������	����

I�J H������ �	 ��� ��	����	�  �������� ��� ��! � �������� 
�0�� %�		� ;��2 @�!!#A �',=

�!!#�

I#J 
���;� H
������ �� "��	�������� �� #���� ����	� ��� $��� ���	�� �������� H� ������

G��1����	0 
����= H� ������= �!22�

I'J �� �
������� ��� 
�$� %�����
P� �	���� ��	����	�  ������� �� �
��� ��� F� 
�0��

H�� @�!!#A ��!= �!!#�

I�J �� �
������� ��� 
�$� %�����
P� �
��� �% �!� ��
�	���& 
�0�� %�		� ;#�2 @�!!,A

#-,= �!!,�

I2J H� ������� '����	������� �� $
������	����

I,J H� ������� ����	��������� �� $��(�����	��	������������	�� ���	 ��� )�*������	�
���	

�
 #��
�� ��� $+��,��	�
����� 
�� ����
 '���������	� ����
 �����	= ������ 
<(��

!,W�!= �!!,�

I!J �� ����� ��� 4� ����	� $��	���� ������������� "���	������� �� $��� ���	����� 
�0��

��1� �'# @�!!�A #�##= �!!��

I�-J 6� 6������  ��= 9� ���
7��5= �� 
�	���� ���  ��� ��
������� �� �����	�
������� ���

$��	���� ���!�	�� :���� <��	�� ��� 9�	�� ��!- @�!!-A #�!= �!!-�

I��J �� 6��Æ	��� �������	��� �� ��� ���
����	��������������� ����� �� $�����= �!!��

I��J �� H��
�� �	�� 6�
��� ��� $+ ��-��� �	��� .���	�
���	 �����
� ���E !��-2,= �!!��

I��J �� H
����
��	�
�� ��� $+ '������	 �� $�#�� <�	����� ���
�	= ���E ���!��-�= �!!��

I�#J �� H
����
��	�
�� ��������� �	������ �� (���� � ������� �����	�
���	 ��/�	��� )�	�

�
��� ��
����
 �	�����	�� ���E= �!!��

!�



!# ���	
��I
�	
�	������

I�'J �� H
����
��	�
�� ��������� �	������ �� (���� ������� �	������ '������	� ��	 $+� <�	���

��� ���
�	= ���-�W!�����= �!!��

I��J �� H
����
��	�
�� '�0	������ '����������� �� ������	�������� �� $�#�� F� 
�0�� H2#

@�!!2A ���= �!!2�

I�2J �� H
����
��	�
�� � �����	�
��� �� ��� �	���� ��	����	�  ������� ��@���
�A �� ��!

� ��� ��! �� �� $�#�� :���� 
�0�� ;#2! @�!!2A �= �!!2�

I�,J �� �
�H�% 6�
��� ��	��	
���� �� �� �����	�
������� ����1�������������� �(	� .��

��	�
���	 ��	 ��� $+ '�����	� ���E !'���'= �!!'�

I�!J �� �
�H�% 6�
��� ��� $+ ����1�������������� �(	� .���	�
���	� ���E !���2�= �!!��

I�-J �� �������� '����	������� �� $
������	����

I��J �� 4���� $�	� '�0	����/� ������	��� �� $�������	�� �� .��������� ��� ��� ����� .�	��

2���	����� #������ H
 �� 
�0�� H
  � ,� @�!!'A �#2= �!!'�

I��J (� "����� ����	������� ��� *�'�3	�
���	��������	�
����� (�� ������� "
������(�	�

�	����� 
�� ��
 $+�'������	 (�� $�#�� ����
 �����	= ������ 
<(�� --W-,= �---�

I��J �� "8��	��� '��  ���������	����4���	�
���	 /�� $+� ���E 4
����� ��!�= �!!��

I�#J �� %�10� ��!�, ������� �� $�#�� ���E !2�-��= �!!2�

I�'J �� 9�0��� �����	�
��� �� ��� ��	����	�  ������� ��@���
�A �� ��� �	���� �� ��! ��

!��� ��� $+ '������	 �� $�#� ����� ��� 5�! '������	 .�
������� ������ ��� 3'.�

<�	����� ���
�	= ���E ?���!2�-�= �!!2�

I��J 
��3� 9�0��� ������� ��	 ��	����	�������� �� (�� ������� 36�	��� � ��� ������� "
�

������(�	�	����� 
�� ��
 )�*������	�
���	 ��� $+�'������	�� ������	�	�
�= ������=

�---�

I�2J 3� :�B� '����	������� �� $
������	����

I�,J 6� 3		�� ��� �� �
������� ���
������������4�	��� 3��� +� ;� 6� (������ �	�		���	=

�!!��

I�!J 
��	���� ��	� 6�
��� #�/��! �� ��	����� �������� (�� ���
���� 
�0����� 4
����� H�=

�!!,�

I�-J 9� 
����� ��� �� ����
����� �� "��	�������� �� *�����
  ���� ����	�� �����
��

*����0 
��������� H
 ���0= �!!'�

I��J 
� ��� 8����� 7�	  �	����������� /�� $�#�� 
�0�� ;�� #� I�!!-J :����= �!!-�



���	
��I
�	
�	������ !'

I��J 6��� ������� ��� �� ������������ �	��8 �� ��� 9�	����� ������� �� $�#�� /��8 :� ����

*� ;��� 8����� ��� 6� <���� ��= ���E @�!!�A �#�!= �!!��

I��J "� ����Z��= 4� ?�������= <� ���0���� ��
������� �� ��� )�* �������	� <�	����� ���
�	=

���-�W--�',�= �---�

I�#J (� �CS�	���� ��� 9� ;���	��
�� ��� ���� ����� .�	�� ��	 ;��  	��
�������� ���

�<�� �������% ;����� )�	���� =8:% �� ������� H
 �� 
�0�� H
  � #� @�!,2A ��2=

�!,2�

I�'J �� �	���������� ���!������� ��� 3�� ����� ��
������ �����	�
����������� 4���	�
��

��	�� ������	�	�
�= G��1����	8�	 ����������= �!!,�


